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 ‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm 2023

(3) gm‘mÝ¶ {dkmZ d V§ÌkmZ KQ>H$mdarb àíZ
1) ghm¶H$ amgm¶{ZH$ {díbofH$ MmiUr narjm, 19 OmZodmar 2023
2) X§V eë¶{M{H$ËgH$ MmiUr narjm, 2023
3) ‘w»¶ àemgH$s¶ A{YH$mar MmiUr narjm 2023
4) ghm¶H$ ‘Ëñ¶ Am¶wº$ MmiUr narjm 2023
5) amÁ¶godm ‘w»¶narjm nong© 1 Vo 4, 2023
6) ‘hmamï´> JQ> H$ ‘w»¶ narjm nona 1, 2003
7) ’$m‘m©{gñQ>, d¡ÚH$s¶ ‘h{dÚmb¶o MmiUr narjm 2023
8) gm§p»¶H$s A{YH$mar, gmd©O{ZH$ Amamo½¶ MmiUr narjm 2023
9) H$m¶Xm A{YH$mar, ZJa{Z¶moOZ MmiUr narjm 2013
10) ghm¶H$ g§MmbH$,ZJa{Z¶moOZ MmiUr narjm 2023
11) ghm¶H$ H$m¶Xoera g„mJma/Aìda g{Md, ZJa{Z¶moOZ MmiUr narjm , 2013
12) ZJa{Z¶moOZ A{YH$mar MmiUr narjm 2023
13) {b{nH$ Q>§H$boIH$ (‘w»¶) narjm, 12 ’o$~«wdmar 2023
14) Xþæ¶‘ {ZarjH$ amÁ¶ CËnmXZ ewëH$ (‘w»¶) narjm 2023
15) H$a ghm¶H$ (‘w»¶ narjm) 4 ‘mM© 2023
16) CÚmoJ {ZarjH$, JQ> H$ (_w»`) narjm, 11 ‘mM© 2023

17) ghm¶H$ Am¶wº $(Am¡fYo ) MmiUr narjm, 17 ‘mM© 2023
18) ghmæ`H$ ({dYr) MmiUr narjm, 17 ‘mM© 2023
19) H${Zð> ̂ yd¡km{ZH$ MmiUr narjm, 17 ‘mM© 2023
20) H$m¶©H$mar A{^¶§Vm ({dÚwV) MmiUr narjm, 20 ‘mM© 2023
21) CnA{^¶§Vm ({dÚwV-¶m§{ÌH$s) MmiUr narjm, 20 ‘mM© 2023
22) ‘hmamï´> dZgodm ‘w»¶ narjm, 16 E{àb 2023
23) ‘hmamï´> AamOn{ÌV JQ> ~ d H$ godm, g§¶wº$ nyd©narjm, 30 E{àb 2023
24) ‘hmamï´> A{^¶m§{ÌH$s ({gpìhb) ‘w»¶ narjm, 23 E{àb 2023
25) Cng§MmbH$ Amamo½¶godm MmiUr narjm, 12 ‘o 2023
26) ‘hmamï´> A{^¶m§{ÌH$s ({dÚwV) ‘w»¶ narjm, 13 ‘o 2023
27) ‘hmamï´> H¥$frgodm ‘w»¶ narjm, 13 ‘o 2023
28) Cng§MmbH$ Am¡Úmo{JH$ gwajm MmiUr narjm, 16 ‘o 2023
29) ‘hmamï´> amOn{ÌV ZmJar godm g§¶wº$ nyd©narjm, 4 OyZ 2023
30) d¡ÚH$s¶ A{YH$mar MmiUr narjm, 8 Owb¡ 2023
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 2 : gm‘mÝ¶ j‘Vm MmMUr

(3) gm‘mÝ¶ {dkmZ d V§ÌkmZ KQ>H$mdarb àíZ

1) ^m¡{VH$emó ({’${O³g)
2) agm¶Zemó (Ho${‘ñQ́>r)
3$) àmUremó (Pycm°Or)
4>) dZñn{Vemó (~m°Q>Zr)
5) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ̂ m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ
6) ‘m{hVr d g§àofU V§ÌkmZ

A) ̂ m¡{VH$emó ({’${O³g)
1) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
2) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ

~) agm¶Zemó (Ho${‘ñQ́>r)
3) AmdV©gmaUr - YmVy, AYmVy, jma,Amåb, g§̀ wJo, dm ỳ, IVo
4) amgm`{ZH$ A{^{H«$`m, g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ

H$) àmUremó (Pycm°Or)
5) noer{dkmZ d M¶mnM¶Z, àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
6) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ

S>) dZñn{Vemó (~m°Q>Zr)
7) dZñnVtMo dJuH$aU Am{U CXmhaUo
8) H¥$fr{dkmZ d dZemó, Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr

B) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ̂ m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ
9) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU
10) ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ

’$) ‘m{hVr d g§àofU V§ÌkmZ
11) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
12) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
13) gm¶~a JwÝho d Ë¶mg à{V~§Y
14) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
15) ‘m{hVr V§ÌkmZ CÚmoJ -^maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 1 : ‘amR>r d B§J«Or

1) ‘amR>r ^mfm (50)

(1) gd©gm_mÝ` eãXg§J«h /15
(2) dmŠ`aMZm/13
(3) ì`mH$aU/12
(4)  åhUr d dmH²$àMma (AW© d Cn`moJ)/5
(5) CVmè`mdarc àíZmoÎmao/5

(2) B§J«Or ^mfm /50
(6) CommonVocabualry / 10

(7) SentenceStructure / 20

(8) Grammar /10

(9) Use of Idioms and Phrases / 5

(10) Comprehension / 5

nona H«$‘m§H$ - 2 : gm‘mÝ¶ AÜ¶¶Z d ~w{Õ‘mnZ MmMUr
1) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
2) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ‘hmamï´>mgh ̂ maVmVrc /10
3) A§H$J{UV Am{U gm§p»¶H$s /10
4) A) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 /5

~) ‘hmamîQ´> bmoH$godm h¸$, 2015 /5
5) ^maVr¶ g§KamÁ¶ ì¶dñWm, amÁ¶KQ>Zm, ñWm{ZH$ ñdamÁ¶ ì¶dñWm, H$m¶©H$mar ‘§S>i, Ý¶m¶‘§S>i, {dYr‘§S>i/15
6) A) ̂ maVmMm d _hmamï´>mMm ̂ yJmoc /10

 ~) n¶m©daU /5
7) gm‘mÝ¶ {dkmZ d V§ÌkmZ /15 -

A) ̂ m¡{VH$emó ({’${O³g) /2
~) agm¶Zemó (Ho${‘ñQ´>r) /2
H$) àmUremó (Pycm°Or) /2
S>) dZñn{Vemó (~m°Q>Zr) /2
B) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ̂ m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ /2
’$) ‘m{hVr d g§àofU V§ÌkmZ /5

8) AW©ì¶dñWm d {Z¶moOZ, {dH$mg {df¶H$ AW©emó Am{U H¥$fr /15
1) g‘J«bjr AW©emó, {dH$mg {df¶H$ AW©emó /6
2) ^maVr¶ AW©ì¶dñWm Am{U H¥$fr /9
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 1 : ‘amR>r d B§J«Or g{dñVa Aä¶mgH«$‘

1) ‘amR>r (50)

(1) gd©gm_mÝ` eãXg§J«h /15
1) g_mZmWu eãX-{déÕmWu eãX
2) eãXmW©-g§km§Mo AW©
3) eãXg_yhm~Ôc EH$ eãX
4) eãXì¶wËnÎmr - VËg_ / VX²̂ d
5) Xoer / ^maVr¶ / na^mfoVrc eãX
6) eãX{gÕr - {gÕ eãX / YmVy
7) CngJ©K{Q>V eãX
8) àË¶¶gm{YV eãX - H¥$X§V - YmVy gm{YV / V{ÕV - eãX gm{YV
9) Aä`ñV eãX - nyUm©ä¶ñV / A§emä¶ñV / AZwH$aU dmMH$
10) Ac§H$m[aH / gm_m{gH$ / J«m_rU d ZmJar eãX
11) eãXmW© Z OwiUmam eãX, n`m©̀ r eãX / n`m©̀ r Zgcocm eãX
12) {d{dYAWu EH$ eãX
13) g§X ©̂ eãX [aH$må`m OmJr {ZdS>Uo
14) eãXm§Mo ewÕcoIZ - eãXmMm àH$ma, OmoS>eãX
15) {bnr, eãXeº$s/eãXm§Mo H$mì`JwU

(2) dmŠ`aMZm/13
1) dmŠ`mMo n¥W¸$aU -CÔoe d CÔoe{dñVma, {dYò  d {dYò {dñVma
2) dm³¶ g§ícofU d dmŠ`{Z{_©Vr
3) dmŠ`mVrc H$Vm© d H$‘©
4) H$V©ar à`moJ, H$_©Ur à`moJ
5) ^mdo à`moJ, ZdrZ àH$ma

* dm³¶aMZoZwgma àH$ma d ê$nm§Va
6) Ho$dcdm³¶, ‘w»¶ Am{U Jm¡U dm³¶o
7) g§¶wº$dm³¶ d dm³¶ ê$nm§Va
8) {‘ldm³¶ d dm³¶ ê$nm§Va

* AWm©dê$Z àH$ma d dmŠ` ê$nm§Va
9) hmoH$mamWu, ZH$mamWu d dm³¶ ê$nm§Va
10) àíZmW©H$ d dm³¶ ê$nm§Va
11) CX²JmadmMH$, AmkmWu d dm³¶ ê$nm§Va
12) dm³¶mVrb H$mi Am{U Am»¶mV
13) `mo½` {dam_{MÝhm§Mm dmna
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(3) ì`mH$aU/12
1) dUm©jao d eãXm§À`m OmVr

1) dUm©ja d ‘ycÜdZr
2) ñda
3) ì¶§OZ
4)AZwZm{gHo$
5) dU©aMZm
6) OmoS>mja
7) eãXm§À`m OmVr

2) Zm_ d Zm_mMo àH$ma
3) gd©Zm_
4) {deofU
5) {H«$`mnXm§Mo àH$ma, ê$n d YmVwgm{YVo
6) {H«$¶m{deofU d eãX¶moJr Aì``
7) C^¶mÝd¶r d Ho$dbà¶moJr Aì``
8) gm_mÝ`ê$n d {d^º$s
9) qcJ d dMZ
10) g§Yr d g_mg
11) Ac§H$ma, d¥Îmo, nÚaMZm - H$mì`/Amoì`m
12) dmL²>_`rZ B{Vhmg d ^m{fH$ gm_mÝ`kmZ

(4) åhUr d dmH²$àMma (AW© d Cn`moJ)/5
41) åhUrMm `mo½` AW©
42) dmH²$àMmamMm `mo½` AW©
43) `mo½` AWm©Mr åhU/n`m©̀ r åhU {ZdS>Uo
44) n`m©̀ r dmH²$àMma
45) åhUrMm/dmH²$àMmamMm dm³¶mV Cn¶moJ

(5) CVmè`mdarc àíZmoÎmao/5
46) CVmam H«$.1 àíZ H«$.1
47) CVmam H«$.1 àíZ H«$.2
48) CVmam H«$.1 àíZ H«$.3
49) CVmam H«$.1 àíZ H«$.4
50) CVmam H«$.1 àíZ H«$.5
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(2) B§J«Or /50

(6) CommonVocabualry /10

51) Synonyms / Homonym

52) Antonyms

53) One Word substitution

54) Meaning / Wrong meaning of words, underlined words

55) Correct spelling

56) Names for groups/collection

57) Use of correct word

58) Word formation /Construction / building

59) Confusing words & Full form

60) Fill in the blanks

(7) SentenceStructure /20
61) Types of sentences - structure

62) Types of sentences - meaning

63) Types of clauses

64) Question tags and Interrogative sentences

65) Grammatically Correct sentence

66) Grammatical error part

67) Punctuation

68) Direct - Indirect Speech

69) Active & Passive Voice

70) Degrees

71) Transformation

72) Completion of clauses

73) Meaning of sentence

74) Sentence completion

75) Sentence construction

76) Types of sentences - structure/meaning

77) Types of clauses

78) Grammatically Correct /error part/Punctuation

79) Direct - Indirect Speech

80) Active & Passive Voice
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(8) Grammar /10
81) Types and use of Noun, Pronouns

82) Types and use of correct Adjectives

83) Types and use of Verbs, Modals

84) Types of Tenses

85) Use of correct Adverb

86) Use of correct Preposition

87) Use of correct Conjunction and Interjection

88) Use of Articles

89) Singular & Plural, Gender

90) Figure of Speech

(9) Use of Idioms and Phrases / 5
91) Correct meaning of a phrase

92) Correct meaning of an idiom

93) Correct use of phrase

94) Correct use of an idiom

95) Gerundial phrase, Substitution of phrase / idiom

(10) Comprehension / 5
96) Passage no.2, Q.no.1

97) Passage no.2, Q.no.2

98) Passage no.2, Q.no.3

99) Passage no.2, Q.no.4

100) Passage no.2, Q.no.5
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 2 : gm‘mÝ¶ j‘Vm MmMUr g{dñVa Aä¶mgH«$‘
1) ^maVmMm d _hmamï´>mMm ̂ yJmoc /10
2) n¶m©daU /5
3) gm‘mÝ¶ {dkmZ d V§ÌkmZ /15

A) ^m¡{VH$emó ({’${O³g)
~) agm¶Zemó (Ho${‘ñQ´>r)
H$) àmUremó (Pycm°Or)
S>) dZñn{Vemó (~m°Q>Zr)
B) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ
’$) ‘m{hVr d g§àofU V§ÌkmZ

4) AW©ì¶dñWm d {Z¶moOZ, {dH$mg {df¶H$ AW©emó Am{U H¥$fr /15
A) g‘J«bjr AW©emó, {dH$mg {df¶H$ AW©emó
~) ^maVr¶ AW©ì¶dñWm Am{U H¥$fr

5) ^maVr¶ g§KamÁ¶ ì¶dñWm, amÁ¶KQ>Zm, ñWm{ZH$ ñdamÁ¶ ì¶dñWm, H$m¶©H$mar ‘§S>i, Ý¶m¶‘§S>i, {dYr‘§S>i/15
6) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 /5
7) ‘hmamîQ´> bmoH$godm h¸$, 2015 /5
8) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ‘hmamï´>mgh ̂ maVmVrc /10
9) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
10) A§H$J{UV Am{U gm§p»¶H$s /10

(1) ^maVmMm d _hmamḯ>mMm ŷJmoc /10
1) _hmamï´>mMm d ^maVmMm àmH¥${VH$ ŷJmoc - IS>H$, ^m¡Jmo{bH$ CËH«$m§Vr d d¡{eï²> ò
2) {d{dY ŷéno, nd©V Am{U nR>ma - Q>oH$S>çm, am§Jm, {eIao, KmQ>
3) _w»` àmH¥${VH$ {d^mJ - {h‘mb¶, ‘¡XmZo, {H$ZmanÅ>r, nR>ma, gømÐr, H$moH$U, ~oQ>o
4) hdm‘mZemó, nO©Ý`‘mZ d Vmn‘mZ
5) nO©Ý`mVrc {d^mJdma ~Xc
6) ZÚm - YaUo Am{U qgMZ àH$ën
7) Z¡g{J©H$ g§nÎmr - dZo, eoVr - O{‘ZrMo àH$ma, à‘wI {nHo$
8) I{ZOo Am{U D$Om© g§gmYZo, Am{W©H$ ŷJmob - dmhVyH$ Am{U n ©̀Q>Z, CÚmoJ, ehao
9) amOH$s` {d^mJ, àemgH$s` {d^mJ - ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m
10) _mZdr d gm_m{OH$ ŷJmoc - cmoH$g§»`m, bmoH$g§»¶oMo ñWmZm§Va d Ë¶mMo CJ‘ d Bï>ñWmZmdarb n[aUm_ , J«m_rU

dñË`m d Vm§S>o, PmonS>nQ²>Q>çm d Ë`m§Mo àíZ

(2) n¶m©daU /5
11) ‘mZd {dH$mg d n¶m©daU, n¶m©daUnyaH$ {dH$mg, n[apñW{VH$s
12) Z¡g{J©H$ gmYZg§nÎmrMo {deofV: dZg§nÎmrMo g§YmaU
13) {d{dY àH$maMr àXÿfUo d n¶m©daUr¶ AmnÎmr
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14) ½bmo~b dm°{‘ªJ d h[aV dm¶y
15) n¶m©daU g§dY©ZmV H$m¶©aV Agboë¶m amÁ¶/amï´>/ OmJ{VH$ nmVirdarb g§KQ>Zm d g§ñWm

(3) gm‘mÝ¶ {dkmZ d V§ÌkmZ /15
A) ̂ m¡{VH$emó ({’${O³g) /2

16) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
17) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ

~) agm¶Zemó (Ho${‘ñQ´>r) /2
18) AmdV©gmaUr - YmVy, AYmVy, jma,Amåb, g§̀ wJo, dm ỳ, IVo
19) amgm`{ZH$ A{^{H«$`m, g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ

H$) àmUremó (Pycm°Or) /2
20) noer{dkmZ d M¶mnM¶Z, àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
21) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ

S>) dZñn{Vemó (~m°Q>Zr) /2
22) dZñnVtMo dJuH$aU Am{U CXmhaUo
23) H¥$fr{dkmZ d dZemó, Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr

B) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ̂ m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ /2
24) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU
25) ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ

’$) ‘m{hVr d g§àofU V§ÌkmZ /5
26) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
27) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
28) gm¶~a JwÝho d Ë¶mg à{V~§Y
29) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
30) ‘m{hVr V§ÌkmZ CÚmoJ -^maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>

(4) AW©ì¶dñWm d {Z¶moOZ, {dH$mg {df¶H$ AW©emó Am{U H¥$fr/15
A) g‘J«bjr AW©emó, {dH$mg {df¶H$ AW©emó -

31) g‘J«bjr AW©emó, ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU, Cnm`
32) gmd©O{ZH$ {dÎm - Am{W©H$ d {dÎmr` YmoaU, boImnarjU
33) Am§Vaamï´>r` ì`mnma Am{U Am§Vaamï´>r` ^m§S>db
34) d¥Õr Am{U {dH$mg - joÌr` dmT>, EgS>rOr, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
35) J[a~r/ ~oH$mar - H$maUo, ñdén, àH$ma, ‘moO‘mn Am{U A§XmO, J[a~r {Z‘y©bZ H$m ©̀H«$‘, amoOJma {Z{‘©Vr H$m ©̀H«$‘
36) {dH$mg H$m ©̀H«$‘ - gm‘m{OH$ gwajm, {ejU, Amamo½`, ‘{hbm, ‘wbo, Á òð> ZmJ[aH, d§{MV JQ>m§À`m g§X^m©V gd©g‘mdoeH$Vm

~) ^maVr¶ AW©ì¶dñWm Am{U H¥$fr -
37) ^maVr¶ AW©ì¶dñWm, ^maVr¶ AW©ì¶dñWoMr AmìhmZo d Am{W©H$ gwYmaUm
38) ^maVr¶ eoVr d J«m‘rU {dH$mg - CËnmXH$Vm, gwYmaUm, {d{dY KQ>H$mgmR>r gdbVr d AZwXmZo>
39) ghH$ma - µH¥$fr {dÎm nwadR>m, {dnUZ, qH$‘Vr
40) ‘m¡{ÐH$ d {dÎmr¶ joÌ - MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
41) gmd©O{ZH$ {dÎm d {dÎmr¶ g§ñWm - ‘hgyb, AW©g§H$ën, gmd©O{ZH$ IM©
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42) CÚmoJ d godm joÌ
43) nm`m ŷV gw{dYm {dH$mg
44) ^maVmMm {dXoer ì¶mnma - AmH$ma‘mZ, {Xem Am{U aMZm
45) ‘hmamï´>mMr AW©ì¶dñWm

(5) ^maVr` amÁ`ì¶dñWm/15
* ^maVr¶ g§KamÁ¶ ì¶dñWm, ̂ maVr¶ amÁ¶KQ>Zm, ñWm{ZH$ ñdamÁ¶ ì¶dñWm, H$m¶©H$mar ‘§S>i, Ý¶m¶‘§S>i, {dYr‘§S>i-

A) ̂ maVr¶ amÁ¶KQ>Zm -
46) KQ>Zm H$er V¶ma Pmbr - g§{dYmZ g^m, òmoV, g{‘Ë`m, {MÝho
47) KQ>ZoÀ`m àñVmdZo_mJMr ŷ{_H$m d VÎdo, {ZY_u amÁ`, R>iH$ d¡{eîQ>ço
48) g§{dYmZmVrb ‘hÎdmMr H$c_o - n[a{eîQ>o, KQ>ZmXþéñVr
49) ‘yc ŷV h¸$ d H$V©ì ò
50) amÁ¶YmoaUmMr _mJ©Xe©H$ VÎdo - {ejU, ẁ{Z\$m°_© {gìhrc H$moS>
51) g§{dYmZmË‘H$ Am`moJ Am{U ‘§S>io

~) ^maVr¶ g§KamÁ¶ ì¶dñWm -
52) H|$Ð d amÁ` g§~§Y - ZdrZ amÁ ò

H$) H$m¶©H$mar ‘§S>i, Ý¶m¶‘§S>i, {dYr‘§S>i -
53) ñdV§Ì Ý`m`nm{cH$m
54) amÁ¶nmc, ‘w»¶‘§Ìr d ‘§{Ì‘§S>i - ŷ{‘H$m, A{YH$ma d H$m¶©
55) amÁ¶ {dYr‘§S>i - {dYmZg^m, {dYmZn[afX d Ë¶m§Mo gXñ¶, A{YH$ma, H$m¶© d ŷ{‘H$m, {dYr g{‘Ë¶m
56) H|$Ðr¶ {dYr‘§S>i - bmoH$g^m d amÁ¶g^m
57) H|$Ðr¶ H$m¶©H$mar ‘§S>i - amï´>nVr, Cnamï´>nVr d n§VàYmZ

S>) ñWm{ZH$ ñdamÁ¶ ì¶dñWm -
58) n§Mm¶V amOMr CËH«$m§Vr - H$m¶Xo, g{‘Ë¶m, KQ>ZmXþéñVr
59) J«m‘n§Mm`V, VmbwH$m n§Mm`V, {Oëhm n[afX - aMZm d H$m¶}
60) {Oëhm d ZmJar àemgZ - aMZm d H$m¶}

(6) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 /5
61) ‘m{hVr A{YH$ma H$m¶ÚmMr CËËH«$m§Vr, gwYmaUm d BVa ~m~r
62) ‘m{hVr A{YH$ma H$m¶ÚmVrb ‘hÎdmMr H$b‘o
63) ‘m{hVr A{YH$ma H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
64) ‘m{hVr A{YH$ma H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
65) ‘m{hVr A{YH$ma H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(7) ‘hmamîQ́> bmoH$godm h¸$, 2015/5
66) bmoH$godm h¸$ H$m¶ÚmMr CËËH«$m§Vr, gwYmaUm d BVa ~m~r
67) bmoH$godm h¸$ H$m¶ÚmVrb ‘hÎdmMr H$b‘o
68) bmoH$godm h¸$ H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
69) bmoH$godm h¸$ H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
70) bmoH$godm h¸$ H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb
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(8) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ‘hmamḯ>mgh ^maVmVrc /10
71) OmJ{VH$ amOH$s¶ KQ>Zm - g§KQ>Zm, Am§Vaamï´>r¶ g§~§Y, ‘mZdr h¸$ {df¶H$ KQ>Zm, g§ajU{df¶H$ KQ>Zm
72) amï´>r¶ amOH$s¶ KQ>Zm - {ZdS>UwH$m, àemgZ, Ý¶m¶mb¶rZ {ZH$mb, Am¶moJ, H$m¶Xo d KQ>ZmXþéñË¶m, Am§XmobZo
73) Am{W©H$ d {dÎmr¶ KQ>Zm - {dXoer ì¶mnma, AW©g§H$ën d gmd©O{ZH$ {dÎm, ~±qH$J d d {dÎm, Xm[aX²Œ¶ d ~oH$mar
74) d¡km{ZH$ KQ>Zm - AmpÊdH$ àH$ën,Am¶grQ>r, AdH$me{dkmZ, d¡km{ZH$ g§ñWm d g§emoYH , O¡dV§ÌkmZ, amoJ{dkmZ $
75) gm‘m{OH$ d e¡j{UH$ KQ>Zm -gm‘m{OH$ gwajoMo CnH«$‘ d nwT>mH$ma, e¡j{UH$ d Amamo½¶ joÌmVrb KQ>Zm
76) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm - àH$mePmoVmVrb ñWio, amOH$s¶ ̂ yJmob, n¶m©daU n[afXm, H$m¶Xo, AmnÎmrì¶dñWmnZ
77) gm§ñH¥${VH$ d gm{hpË¶H KQ>Zm - g§JrV d Z¥Ë¶, {MÌnQ>, ¶mÌm, g§ñWm d ñ‘maHo$, nwñVHo$ d boIH$, gm{hË` g§_ocZ
78) H«$sS>m{df¶H$ KQ>Zm d gm‘mÝ¶kmZ - H«$sS>m ñnYm©, IoimSy>§Mr H$m‘{Jar, ‘hÎdmMo {Xdg, gd©àW‘, gdm©V ‘moR>o/N>moQ>o
79) Zo‘UwH$m, {Z¶wº$s d àH$mePmoVmVrb ì¶º$s
80) nm[aVmo{fH$, nwañH$ma d ~hþ‘mZ

(9) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
81) {dYmZo Am{U ẁ{º$dmX, J¥{hVHo$, {ZîH$f©
82) n[aÀN>oXm§déZ {ZîH$f©, n[apñWVr Am{U à{VgmX, {dYmZ Am{U H¥$VrMm ‘mJ©
83) {ZU©̀  KoUo, g‘ñ`m gmoS>dUo, à{VnmXZ-H$maU, Hy$Q> ‘m{hVrdarb àíZ
84) S>oQ>m g{’${gEÝgr, {dYmZmÀ`m gË`VoMr nS>VmiUr
85) ZmVog§~§Y, {dl²bofU
86) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, ‘mZm§H$Z MmMUr
87) J{UVr` VH©$, ‘erZ BZnwQ d {MÝho
88) gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU
89) g§»¶m Am{U dU©‘m{bH$m
90) AmH¥$Ë`m d KZmdarb àíZ, doZ AmH¥$Ë`m

(10) A§H$J{UV Am{U gm§p»¶H$s /10
91) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi
92) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$
93) Q> o̧$dmar, ^mJrXmar, JwUmoÎma Am{U à‘mU, {‘lU, gmIir {Z`‘
94) doi d A§Va, aoëdo, ~moQ> d Obàdmh
95) H$mi d H$m‘
96) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr
97) gmYo d MH«$dmT> ì`mO
98) {Xem{ZX}e, KS>çmi, H°$b|S>a, d`
99) g§̂ mì`Vm, H«$‘M¶, gamgar
100) AmboI, Vºo$, ŷ{‘Vr
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1) ^m¡{VH$emó ({’${O³g)
2) agm¶Zemó (Ho${‘ñQ́>r)
3$) àmUremó (Pycm°Or)
4>) dZñn{Vemó (~m°Q>Zr)
5) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ̂ m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ
6) ‘m{hVr d g§àofU V§ÌkmZ

A) ̂ m¡{VH$emó ({’${O³g)
1) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
2) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ, IJmobemó Am{U A§Vami {dkmZ

~) agm¶Zemó (Ho${‘ñQ́>r)
3) AmdV©gmaUr - YmVy, AYmVy, jma,Amåb, g§̀ wJo, dm ỳ, IVo
4) amgm`{ZH$ A{^{H«$`m, g|{Ð` agm`Zemó - hm`S´moH$m~©Ýg, H$sQ>H$ZmeHo$, B§YZ

H$) àmUremó (Pycm°Or)
5) noer{dkmZ d M¶mnM¶Z, àmÊ`m§Mo dJuH$aU Am{U CXmhaUo, àmUr eara{dkmZ
6) Cn ẁº$ Am{U hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ

S>) dZñn{Vemó (~m°Q>Zr)
7) dZñnVtMo dJuH$aU Am{U CXmhaUo
8) H¥$fr{dkmZ d dZemó, Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr - ’$bmoËnmXZ Am{U ’w$beoVr

B) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU, ̂ m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ
9) Xÿag§doXZ, hdmB© d S´>moZ N>m¶m{MÌU
10) ^m¡Jmo{bH$ ‘m{hVr àUmbr d Ë¶mMo Cn¶moOZ

’$) ‘m{hVr d g§àofU V§ÌkmZ
11) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
12) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
13) gm¶~a JwÝho d Ë¶mg à{V~§Y
14) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
15) ‘m{hVr V§ÌkmZ CÚmoJ - ^maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>

‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 2 : gm‘mÝ¶ j‘Vm MmMUr

(3) gm‘mÝ¶ {dkmZ d V§ÌkmZ
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(1) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar
1) JVremó
2) CîUVm
3) àH$me bhar
4) ÜdZr bhar
5) {dÚwVMw§~H$s¶ bhar

1) JVremó
1) àIa gỳ ©àH$me Agboë¶m {Xder gỳ m©Ûmao CËg{O©V hmoUmar gm¡aD$Om© gw‘mao ........... AgVo.

1) 2.5 kw/m2 2) 1.0 kw/m2 3) 500 kw/m2 4) 200 kw/m2

1) The energy radiated by sun on a bright sunny day is about .............

1) 2.5 kw/m2 2) 1.0 kw/m2 3) 500 w/m2 4) 200 w/m2

2) gm¡a gobMr H$m ©̀j‘Vm gw‘mao ......... Amho.
1) 05% 2) 15% 3) 40% 4) 60%

2) The efficiency of solar cell is about ...........

1) 05% 2) 15% 3) 40% 4) 60%

3) n§»`mMm doJ 10% H$‘r Ho$ë`mZo, pñWa Xm~ H$‘r hmoVmo Am{U D$O}Mr Amdûm`H$Vm ............ Zo H$‘r hmoVo.
1) 10% Am{U 19% 2) 19% Am{U 27% 3) 10% Am{U 27% 4) 27% Am{U 10%

3) By reducing fan speed by 10%, static pressure reduces by and power requirement reduces by.............

1) 10% and 19% 2) 19% and 27% 3) 10% and 27% 4) 27% and 10%

4) R>am{dH$ H$mbmdYrV, EH$m D$Om© àH$ënmMm ßb±Q> bmoS> 12000 kW Vo 26000 kW n ª̀V ~XbV AgVmo, Va bmoS>
’°ŠQ>a {H$Vr ?
1) 0.8308 2) 0.6308 3) 0.9308 4) 0.7308

4) During a certain period, the load of the plant is varying from 12000 kW to 26000 kW. Calculate

the load factor.

1) 0.8308 2) 0.6308 3) 0.9308 4) 0.7308

5) 1750 rpm À`m doJmZo H$m¶©aV AgVmZm H|$ÐmngmaH$ n§nMr eº$s 5 kW AgVo. Oa n§nmMm doJ 3500 rpm Pmbm Va
n§nmÀ¶m g§X^m©Vrb eº$s {H$Vr Agob?
1) 5 kW 2) 20 kW 38) 25 kwW 4) 40 kW

5) A centrifugal pump draws 5 kW power when running at a speed of 1750 rpm. If now pump speed

is changed to 3500 rpm, what will be the power drawn by the pump ?

1) 5 kW 2) 20 kW 38) 25 kwW 4) 40 kW

6) Ooìhm bmoS> A±Jb ........ AgVmo, Voìhm {gåH«$moZg ‘erZ OmñVrV OmñV eº$s {Z‘m©U H$aVo.
1) 00 2) 300 3) 900 nojm OmñV 4) 900 nojm H$‘r

6) A synchronous machine produce the maximum power when the load angle is ........

1) 00 2) 300 3) more than 900 4) less than 900
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7) ''Xm~ + 1/2 KZVm x doJ 2 x KZVm x JwéÎd x O{‘Zr nmgyZMr C§Mr = pñWam§H$ ', ho J{UVr¶ {dYmZ ........... ¶m
ZmdmZo AmoiIco OmVo.
1) gmVË¶ g‘rH$aU 2) ~Zm}crMo g‘rH$aU
3) nmñH$cMm g‘rH$aU 4) ¶wcaMo g‘rH$aU

7) ''Pressure + 1/2 density x velovity 2 + density x garvity x height from ground = constant'', is the

mathematical statement of

1) Equation of continuity 2) Bernoulli’s equation

3) Pascal’s law 4) Euler’s equation

8) Imbrb {dYmZmV H$moUVm {gÕm§V {Xbm Amho?
''pñWa ÐdnXmWm©Vrb EImÚm q~Xydarb Xm~ qH$dm Xm~mMr Vrd«Vm gd© {Xem§Zm g‘mZ AgVo.''
1) Ý ỳQ>ZMm {Z`‘ 2) nmñH$bMm {Z`‘
3) Amoh‘Mm {Z`‘ 4) W‘m}S>m`Zm{‘ŠgMm Xwgam {Z`‘

8) Which law is given in the following statement ?

“The pressure or intensity of pressure a t a point in a static fluid is equal in all directions.”

1) Newton’s law 2) Pascal’s law

3) Ohm’s law 4) Second law of Thermodynamics

9) D$O}Mo EH$m ê$nmVyZ Xwgè`m ê$nmV ê$nm§Va H$aVm ̀ oVo na§Vw Vr {Z‘m©U qH$dm Zï> H$aVm ̀ oV Zmhr, {dl²dmVrb EHy$U CO}Mo
à‘mU pñWa AgVo. ho ...... {Z¶‘mMo {dYmZ Amho.
1) JwéËdr` ~b 2) na‘mUw ~b
3) D$O}Mo g§dY©Z 4) amgm`{ZH$ JVremó

9) Energy can be transformed from one form to another but it cannot be created or destroyed. The

total amount of energy in a universe remains constant. This is the statement of Law of ......

1) Gravitational Force 2) Nuclear Force

3) Conservation of Energy 4) Chemical Kinetics

10) J°{c{cAmo nwaññH¥$V IJmocemó YmoH$mXm¶H$ H$m R>ê$ cmJc§ ?
1) Ë¶mcm OÝ‘Hw§$S>ë¶m ‘m§S>Vm ¶oV ZgV

• 2) Ë¶mÀ¶m {ZarjUm§‘wio M§ÐmdaMm ‘mUyg Jm¶~ Pmcm.
3) Ë¶mZ§ ñdm^m{dH$ AW©{ZU©¶Z Ho$c§
4) gÎmmYmar dJm©Z§ J¥hrV Yacoë¶m OJm~m~VÀ¶m H$ënZm§Zm Ë¶mÀ¶m‘wio hmXam ~gcm.

10) Why did the astronomy of Galileo become dangerous ?

1) He could not prepare star charts

2) His observations were responsible for disappearance of man from the moon

3) He offered a natural interpretation

4) He challenged the axioms about the world which the powerful took for granted

11) Á¶yb/goH§$X `mbm ......... Agohr åhUVmV.
1) kWh 2) W 3) Wb/s 4) kWh/s

11) Joules/second is also called as .............

1) kWh 2) W 3) Wb/s 4) kWh/s
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12) Imbrbn¡H$s H$moUVr amer hr n[a‘mUhrZ Amho?
1) Q´mÝg{‘{gpìhQ>r 2) hm`S´m°{bH$ MmbH$Vm
3) g§Hw${MVVm 4) ñQ>moaoO JwUm§H$

12) Which of the following is a dimensionless quantity ?

1) Transmissivity 2) Hydraulic conductivity

3) Compressibility 4) Storage coefficient

13) WoQ> gm¡a {d{H$aU ‘moOÊ`mMo gmYZ ........ ho Amho.
1) ~°amo‘rQ>a 2) gZemB©Z [aS>a 3) hm`J«mo‘rQ>a 4) nm`ao{bAmo‘rQ>a

13) Direct Solar radiation measuring instrument is ......

1) Barometer 2) Sunshine reader 3) Hygrometer 4) Pyrheliometers

14) {d‘mZm^modVr hdoMm àdmh ‘moOÊ`mgmR>r dmnabo OmUmao §̀Ì ............ ho Amho.
1) amoQ>m‘rQ>a 2) ìh|À ẁ[a‘rQ>a 3) A°{Z‘mo‘rQ>a 4) `mn¡H$s Zmhr

14) The device used for measuring flow of air around an aeroplane is .............

1) Rotameter 2) Venturimeter 3) Anemometer 4) None of these

15) ............ Mm dmna H$ê$Z ËdMoÀ`m n¥ð>^mJmMr gyú‘ H§$nZo ‘moObr OmVmV.
1) H°$WmoS> ao Am°{gbmoñH$mon 2) B§Q>a’o$amo‘rQ>a
3) nm`Pmo‘rQ>a 4) A°‘rQ>a - ìhmoëQ>‘rQ>a

15) Skin surface micro-vibrations are measured using .............

1) Cathode Ray Oscilloscope 2) Interferometer

3) Piezometer 4) Ammeter-Voltmeter

16) Imbrbn¡H$s H$moUVr A§Va ‘moOÊ`mMr AàË`j nÕV Zmhr?
1) Q>°H$mo‘oQ´r 2) AmoS>mo‘rQ>a
3) {ÌH$moU{‘Vr` ñVarH$aU 4) {dÚwV Mw§~H$s` A§Va ‘moO‘mn

16) Which of the following is not an indirect method of measuring distances ?

1) Tacheometry 2) Odometer

3) Trigonometric Levelling 4) Electromagnetic Distance Measurement

17) {nPmo‘rQ>a ............ Mo ‘mnZ H$aVo.
1) ñWm{ZH$ dmVmdaUmMm Xm~ 2) Xm~mMr bhmZ Amd¥Îmr
3) ‘moR>m ìh°Š ỳ‘ Xm~ 4) EHy$U S>moHo$

17) A piezometer gives ..............

1) local atmospheric pressure 2) small magnitude of pressure

3) large vacuum pressure 4) total head

18) EH$m ẁ{ZQ> hm`S´moJ«m’$‘Ü ò ............ Mo EH$ ẁ{ZQ> AgVo.
1) à^mdr nO©Ý`‘mZ H$mbmdYr 2) H$‘mb {dgO©Z
3) hm`S´moJ«m’$ Q>mB‘ ~og 4) 1 go‘r à^mdr nmdgm‘wio {Z{‘©V WoQ> àdmh

18) A unit hydrograph consists of one unit of ................

1) effective rainfall duration 2) peak discharge

3) hydrograph time base 4) direct runoff due to 1 cm effective rainfall
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19) âë¶y‘ hm M°ZobMm H¥${Ì‘[aË`m Aé§X Ho$bobm {d^mJ AgyZ Vmo ................ gmR>r dmnabm OmVmo.
1) ~±H$s̈J gwajogmR>r 2) Jmi H$mT>Uo
3) àdmh didUo 4) òmd ‘moOUo

19) Flume is an artificially narrowed section of the channel which is used for ................

1) protecting the banks 2) removal of silt

3) diverting the flow 4) measuring the discharge

20) ÐdnXmWm©Mo {d{eï> AmH$ma‘mZ ........... Mm A§e/KmVm§H$ Amho.
1) KZVm 2) gmnoj KZVm 3) {d{eï> dOZ 4) {d{eï> JwéËd

20) The specific volume of a fluid is the reciprocal of ...........

1) density 2) relative density 3) specific weight 4) specific gravity

21) EImXr dñVy pñWa g‘Vmobm‘Ü ò Va§JVo, Oa {VMo ............
1) ‘oQ>mg|Q>a JwéËdmH$f©U H|$ÐmÀ`m da Amho
2) ‘oQ>mg|{Q´H$ C§Mr eyÝ` Amho
3) JwéËdmH$f©U H|$Ð CN>mb H|$ÐmÀ`m da Amho
4) JwéËdmH$f©U H|$Ð Imbr Amho qH$dm CN>mb H|$Ð Amho

21) A body floats in stable equilibrium if the ............

1) metacentre is above the Centre of Gravity

2) metacentric height is zero

3) Centre of Gravity is above the centre of buoyancy

4) Centre of Gravity is below or a t the centre of buoyancy

22) ‘oQ>mg|{Q´H$ C§Mr åhÊOo ........... ‘Yrb A§Va Amho.
1) Va§JUmè`m dñVyMo JwéËdmH$f©U H|$Ð Am{U CÜd©gmaU/CN>mb H|$Ð.
2) Va§JË`m dñVyMo JwéËdmH$f©U H|$Ð Am{U ‘oQ>mg|Q>a.
3) ‘oQ>mg|Q>a Am{U CÜd©gmaU/CN>mb H|$Ð.
4) CÜd©gmaUmMo ‘yi H|$Ð Am{U CÜd©gmaUmMo ZdrZ H|$Ð.

22) The metacentric height is the distance between the ................

1) centre of gravity of the floating body and the centre of buoyancy.

2) centre of gravity of the floating body and the metacentre.

3) metacentre and centre of buoyancy.

4) original centre of buoyancy and new centre of buoyancy.

23) MwH$sMo CÎma emoYm.
EImÚm nwbmÀ¶m nm`mda H$m ©̀ H$aUmao ~b ........... ho Amho.
1) nm`mMo ñdV:Mo dOZ 2) A{YaMZoMo dOZ
3) CËWmZ Xm~ 4) n¥ÏdrMm Xm~

23) Find the incorrect answer.

‘Force acting on bridge foundation’, is ................

1) Self-weight of foundation 2) Weight of superstructure

3) Uplift pressure 4) Earth pressure
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24) Imbrb {dYmZo {dMmamV ¿`m :
‘mnZ §̀ÌmV,
a) g§doXZerbVonojm aoIr`Vm ‘hÎdmMr Amho.
b) Cƒ AMyH$Vm Cƒ AMyH$Vm Xe©dVo.
c) AMyH$Vm R>amdmnojm Mm§Jbr Agy eH$V Zmhr.
`m {dYmZm§n¡H$s -
1) a, b Am{U c ~amo~a AmhoV 2) a Am{U b ~amo~a AmhoV
3) b Am{U c ~amo~a AmhoV 4) a Am{U c ~amo~a AmhoV

24) Consider the following statements :

In a measuring instrument,

a) Linearity is more important than sensitivity.

b) High precision indicates high accuracy.

c) Accuracy can not be better than resolution.

Of these statements -

1) a, b and c are correct 2) a and b are correct

3) b and c are correct 4) a and c are correct

25) AMyH$VoMr ì`m»`m ............ Aer Ho$br OmVo.
1) ‘mnZmMo gwg§JV qH$dm nwZéËnmXZj‘ ‘yë¶
2) EImÚm amerMo H$aVmZm AMyH$ ‘yë`mn ª̀V nmohmoMUmar gdm©V OdiMo ‘yë¶
3) gdm©V bhmZ ‘moOÊ`m`mo½` BZnwQ> ~Xb
4) EImÚm BÝñQ®>‘|Q>À`m BZnwQ>‘Yrb ~Xb Am{U AmCQ>nwQ> {g¾b‘Yrb ~Xb ¶m§Mo JwUmoÎma

25) Accuracy is defined as the .............

1) Measure of the consistency or reproducibility of the measurement

2) Closeness with which an instrument reading approaches the true value of the quantity being

measured

3) Smallest measurable input change

4) Ratio of the change in the input to change in output signal of an instrument

26) Imbrbn¡H$s H$moUVm CO}Mm àmW{‘H$ òmoV Amho?
1) O¡dB§YZ 2) H$ƒo Vob 3) J°gmobrZ 4) hm`S´moOZ

26) Which of the following is a primary source of energy ?

1) Biofuels 2) Crude oil 3) Gasoline 4) Hydrogen

27) ............. hm Anma§n[aH$ D$Om© òmoV Zmhr
1) ndZ D$Om© 2) gm¡a D$Om© 3) Oc{dÚwV 4) ~m¶moJ¡g D$Om©

27) ............is not a non-conventional power source.

1) Wind power 2) Solar power 3) Hydro power 4) Bio-gas power
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28) Aj` D$Om© òmoV ........... åhUyZ AmoiIbo OmVmV.
1) àmW{‘H$ D$Om© òmoV 2) Xwæ`‘ D$Om© òmoV
3) ì`mdgm{`H$ D$Om© òmoV 4) nwZZ©drH$aU D$Om© òmoV

28) Inexhaustible energy sources are known as .............

1) Primary energy sources 2) Secondary energy sources

3) Commercial energy sources 4) Renewable energy sources

29) nmdS>a‘wio {Z{‘©V Kf©U ~b ho ........ Ûmao ‘moObo OmVo.
1) {S>Pmoë¶yeZ Q>oñQ > 2) dOZmMr EH$g‘mZVm
3) {dKQ>Z MmMUr 4) A±Jb Am°’$ [anmoP

29) The frictional forces in case of loose powder are measured by the .........

1) Dissolution test 2) Uniformity of weight

3) Disintegration test 4) Angle of repose

30) ’$moa ñQ´moH$ {S>Pob B§{OZ‘Yrb ñQ´moH$Mm H«$‘ ............ Amho.
1) B§S>ŠeZ - H$m°åàoeZ - B{¾eZ Am{U nm°da - EŠPm°ñQ>
2) H$m°åàoeZ - B§S>ŠeZ - EŠPm°ñQ> - B{¾eZ Am{U nm°da
3) B§S>ŠeZ - H$m°åàoeZ - EŠPm°ñQ> - B{¾eZ Am{U nm°da
4) H$m°åàoeZ - B{¾eZ Am{U nm°da - àoaU - EŠPm°ñQ>

30) The sequence of strokes in four stroke diesel engine is .............

1) Induction — Compression — Ignition and Power — Exhaust

2) Compression — Induction — Exhaust — Ignition and Power

3) Induction — Compression — Exhaust — Ignition and Power

4) Compression — Ignition and Power — Induction — Exhaust

31) {dV[aV ‘wº$ hdm Am{U H$m°§àogaMo {dñWmnZ ¶m§À¶m JwUmoÎmamg ............ åhUVmV.
1) g‘Vmnr` H$m ©̀j‘Vm 2) EHy$U H$m ©̀j‘Vm
3) ìhm°ë ỳ‘o{Q´H$ H$m ©̀j‘Vm 4) EAa S´m`a H$m ©̀j‘Vm

31) Ratio of free air delivered to compressor displacement is called .............

1) Isothermal efficiency 2) Total efficiency

3) Volumetric efficiency 4) Air drier efficiency

32) n§nm‘Ü ò ........... ‘wio nmÊ`mÀ`m doJmMo ê$nm§Va Xm~m‘Ü ò hmoVo.
1) emâQ> 2) {S>â ỳPa 3) B§noba 4) {S>ñMmO© nmB©n

32) In a pump, water velocity is converted to pressure by .............

1) Shaft 2) Diffuser 3) Impeller 4) Discharge pipe

33) ao{gàmoHo$qQ>J n§nmg ............ Agohr åhUVmV.
1) F$U {dñWmnZ n§n 2) $YZ {dñWmnZ n§n
3) eyÝ` {dñWmnZ n§n 4) darb gd©

33) The reciprocating pump is called as ..............

1) negative displacement pump 2) positive displacement pump

3) zero displacement pump 4) All of the above
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34) g|Q´râ ỳJb n§n BÝñQ>m°boeZer g§~§{YV Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) {S>ñMmO© H§$Q´mob ìhm°ëìh gŠeZ nmB©n‘Ü ò ~gdbobm AgVmo.
2) {S>{bìhar nmB©nÀ`m VwbZoV gŠeZ nmB©nMm ì`mg ‘moR>m AgVmo.
3) gŠeZ nmB©nbm ’y$Q> ìhm°ëìh Am{U JmiUr {Xbr OmVo.
4) {S>ñMmO© H§$Q´mob ìhm°ëìh {S>{bìhar nmB©n‘Ü ò ~gdbobm AgVmo.

34) Which of the following statements pertaining to centrifugal pump installation is incorrect ?

1) The discharge control valve is fitted in the suction pipe.

2) The suction pipe has larger diameter as compared to that of the delivery pipe.

3) The suction pipe is provided with a foot valve and a strainer.

4) The discharge control valve is fitted in the delivery pipe.

35) Imbrbn¡H$s H$moUË`m àH$maÀ`m n§»`m§Mr H$m ©̀j‘Vm OmñVrV OmñV Amho?
1) àmonoba Ajr` n§Im 2) àoea ãbmoAa g|Q´râ ỳJb ’°Z
3) ao{S>`b g|Q´râ ỳJb ’°Z 4) ìhoZ Ajr` n§Im

35) Which of the following types of fans has the maximum efficiency ?

1) Propeller axial fan 2) Pressure blower centrifugal fan

3) Radial centrifugal fan 4) Vane axial fan

36) n§»`mMm doJ 10% Zo dmT>ë`mg {dOoÀ`m ‘mJUrMo H$m` hmoB©b?
1) {dOoMr JaO 17% Zo dmT>ob 2) {dOoMr JaO 27% dmT>ob
3) {dOoMr JaO 30% Zo dmT>ob 4) {dOoMr JaO 33% Zo dmT>ob

36) What will happen to the power requirement when the speed of the fan is increased by 10% ?

1) Power requirement will increased by 17%

2) Power requirement will increase by 27%

3) Power requirement will increase by 30%

4) Power requirement will increase by 33%

37) n§nm§‘Ü ò gm‘mÝ`V… H$moUVr ‘moQ>a dmnabr OmVo?
1) B§S>ŠeZ ‘moQ>a 2) S>rgr ‘moQ>a 3) ñQ>ona ‘moQ>a 4) darb gd©

37) Which motor is generally used in pumps ?

1) Induction motor 2) DC motor 3) Stepper motor 4) All of the above

38) H|$ÐmngmaH$ n§nmgmR>r .............
1) pñWa Q>moH$ /hoS> àdmhmnmgyZ ñdV§Ì AgVo Am{U Kf©U Q>moH$ / hoS> àdmhmda Adb§~yZ AgVo
2) pñWa Q>moH$ /hoS> VgoM Kf©U Q>moH$ / hoS> àdmhmda Adb§~yZ AgVo
3) pñWa Q>moH$ /hoS> àdmhmda Adb§~yZ AgVo Am{U Kf©U Q>moH$ / hoS> àdmhmnmgyZ ñdV§Ì AgVo
4) pñWa Q>moH$ /hoS>> Am{U Kf©U Q>moH$ / hoS> XmoÝhr àdmhmnmgyZ ñdV§Ì AmhoV

38) For a centrifugal pump .............

1) Static head is independent of flow and friction head depends on flow

2) Static head as well as friction head depends on flow

3) Static head is dependent on flow and friction head is independent of flow

4) Both static end/head and friction end/head are independent of flow
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39) j‘Vm KQ>H$ (capacity factor) ho ............ JwUmoÎma Amho.
1) H$‘mb ^mamMo ßb°Q> bmoS>er
2) dmñV{dH$ ^mamMo àË¶j ^mamer
3) gamgar ^mamMo ßb°Q> bmoS>er
4) ßb±Q>Mr j‘Vm Am{U d¡{eï²>`m§À¶m g§X^m©V, D$Om© CËnmXZmMo CnbãY D$O}er

39) The capacity factor is the ratio of ................

1) maximum load to the plant capacity.

2) actual capacity to the rated capacity.

3) average load to the plant capacity.

4) energy output to the available energy within the capacity and characteristics of the plant.

2) CîUVm
1) ‘wcmMm Vmn 1040 F Amho. ho Vmn‘mZ {H$Vr {S>J«r gopëg¶g Amho ?

1) 350 gopëg¶g 2) 370 gopëg¶g 3) 390 gopëg¶g 4) 400 gopëg¶g
1) The fever of a child is 104°F. What is this temperature in degree Celsius ?

1) 35°C 2) 37°C 3) 39°C 4) 40°C

2) Iam~ hmoD$ Z ò åhUyZ BÝgw{bZ B§OoŠeZ ............ Vmn‘mZmg gmR>dyZ R>odVmV.
1) 150 go Vo 250 go 2) 20 go Vo 80 go 3) -200 go 3) -800 go

2)  To avoid spoilage insulin injection should be stored at ............

1) 150 C to 250 C 2) 2 0 C to 80 C 3) -200 C 3) -800 C

3) ’$m‘m©ñ ẁ{Q>H$b Am{U d¡ÚH$s` CËnmXZm§À`m {ZOªVwH$sH$aUmgmR>r ~mînObr¶ dm’o$Ûmao {ZOªVwH$sH$aU à{H«$¶m ..........
ñQ>r‘-ñQ>oabm`PoeZ Vmn‘mZmg nma nmS>br OmVo.
1) 1210 go 2) 1600 go 3) 4500 go 4) 6000 go

3) Steam-sterlization temperature employed in moist heat sterlization of pharmaceutical and medical

products.

1) 1210 C 2) 1600 C 3) 4500 C 4) 6000 C

4) Vmer 15 KZ ‘rQ>a nmUr 210 C Vo 150 C n ª̀V W§S> Ho$ë`mg TR ‘Ü ò ao{’«$OaoeZ bmoS> H$m` Agob?
1) 15TR 2) 25TR 3) 29.76 TR 4) 30.24 TR

4) What is refrigeration load in TR when 15 m3/hr of water is cooled from 21°C to 15°C ?

1) 15TR 2) 25TR 3) 29.76 TR 4) 30.24 TR

5) ao{’«$OaoeZMo 1TR ......... Amho.
1) 2550 kcal/Vmg 2) 3024 kcal/Vmg
3) 4100 kcal/Vmg 4) 4210 kcal/Vmg

5) 1TR (ton of refrigeration) of refrigeration is .............

1) 2550 kcal/hr 2) 3024 kcal/hr

3) 4100 kcallhr 4) 4210 keal/hr
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6) J°g ^aboë`m Ho$~ëg‘Ü ò gmYmaUnUo .......... dm ỳMm dmna gw‘mao ........ Xm~mZo hmoVmo.
1) hm`S´moOZ, 12 Vo 15 dmVmdaU 2) Zm`Q´moOZ, 12 Vo 15 dmVmdaU
3) Am°pŠgOZ, 5 Vo 10 dmVmdaU 4) gë’$a, 5 Vo 10 dmVmdaU

6) In gas filled cables generally ........... gas is used at a pressure of about ........

1) Hydrogen, 12 to 15 atmospheres 2) Nitrogen, 12 to 15 atmospheres

3) Oxygen, 5 to 10 atmospheres 4) Sulphur, 5 to 10 atmospheres

7) {d{eï> CîUVoMo, gr. Or. Eg. àUmbrVrb EH$H$ ......... ho Amho.
1) H°$barO/J«°‘ 2) H°$carO/J«°‘ {S>J«r gopëgAg
3) H°$carO {S>J«r gopëgAg/J«°‘ 4) darbn¡H$s H$moUVoM Zmhr

7) Unit of specific heat in C.G.S. system is.......

1) Callories/gram 2) Calories/gram0 C

3) Calories 0 C/gram 4) None of these

8) ‘mZH$ dm ẁ‘§S>br` Xm~mda .......... `m CFC Mm CËH$bZ q~Xy gdm©V H$‘r Amho.
1) Ama-11 2) Ama-12 3) Ama-22 4) Ama-502

8) At standard atmospheric pressure, boiling point of which CFC is the lowest .............

1) R—11 2) R-12 3) R-22 4) R-502

9) ‘hmamï´> H$maImZm {Z`‘, 1963 ‘Ü ò, g§X^m©Zwgma AÝ`Wm Amdûm`H$ Zgë`mg, "{S>J«r' (Vmn‘mZ) åhUOo A§e ......
1) g|Q>rJ«oS> ñHo$bda 2) H°$barO
3) ’°$aoZhmBQ> ñHo$bda 4) {~«{Q>e W‘©b ẁ{ZQ²g

9) In Maharashtra Factories Rules, 1963, unless the context otherwise requires, ‘Degrees’ (or

temperature) means degrees..........

1) On the centigrade scale 2) Calories

3) On the Fahrenheit scale 4) British thermal units

10) bm¶{g‘rQ>aMm dmna .......... ‘moOÊ`mgmR>r Ho$bm OmVmo.
1) KwgImoar 2) ~mînr^dZ
3) ~mînr^dZ 4) ~mîn Xm~

10) Lysimeter is used to measure ................

1) Infiltration 2) Evaporation

3) Evapotranspiration 4) Vapour pressure

11)  .......... ho gdm©V H$‘r Vmn‘mZ Amho Á`mda àÁdbZ òmoVmÀ`m dmnam‘wio ÐdmÀ`m n¥ð>^mJmda Á`moV M‘H$Vo.
1) CËH$bZ q~Xy 2) ~mîn Xm~
3) âb°e nm°B§Q> 4) ~mînr^dZ q~Xy

11)  .......... is the lowest temperature at which the application of an ignition source will cause a

flame to flash across the surface of the liquid.

1) Boiling point 2) Vapour pressure

3) Flash point 4) Evaporation point
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12) H$moaS>çm CîUVm {ZOªVwH$sH$aUm‘Ü ò Imbrbn¡H$s H$moUË¶m {ZOªVwH$sH$aU ‘mnX§S>mMo n[aajU Ho$bo OmVo ?
1) J°g H$m°ÝgÝQ´>oeZ 2) Vmn‘mZ
3) {H$aUmoËgJm©Mo àXe©Z 3) ao{S>EeZ S>mog

12) One among the following sterilization parameter is monitored in dry heat sterlization.

1) Gas concentration 2) Temperature

3) Exposure to radiation 3) Radiation dose

13) hdoVrb AmÐ©Vm dmT>dÊ`mgmR>r qH$dm {Q>H$dyZ R>odÊ`mÀ`m CÔoemZo dmVmZwHy${bV OmJoV hdo‘Ü ò nmÊ`mMr dm’$ OmoS>Ê`mMr
à{H«$`m Imbrbà‘mUo AmoiIbr OmVo ..........
1) gm’$ H$aUo 2) W§S> H$aUo 3) dehumidifyiung 4) humidifying

13) The process of adding water vapour to the air in the conditioned space for the purpose of raising

or maintaining the moisture content of the air is known as :

1) cleaning 2) cooling 3) dehumidifyiung 4) humidifying

14) ~mîn H$åàoeZ ao{’«$OaoeZ {gñQ>‘‘Ü ò Imbrb Jmoï>tMm g‘mdoe Amho ........
1) H§$àoga, H§$S>oÝga, {dñVma dmëd Am{U CîUVm n§n
2) H§$àoga, H§$S>oÝga, CîUVm n§n Am{U ~mînr^dH$
3) H§$àoga, CîUVm n§n, {dñVma dmëd Am{U ~mînr^dH$
4) H§$àoga, H§$S>oÝga, {dñVma dmëd Am{U ~mînr^dH$

14) The vapour compression refrigeration system comprises of :

1) compressor, condenser, expansion valve, and heat pump

2) compressor, condenser, heat pump, and evaporator

3) compressor, heat pump, expansion valve, and evaporator

4) compressor, condenser, expansion valve, and evaporator

15) Ðd àdmhmMo Vmn‘mZ {Z §̀{ÌV H$aÊ`mgmR>r Imbrbn¡H$s H$moUVm CîUVm n§n, ao{’«$OaoeZ gm`H$b dmnaVmo?
1) EAa-Qy>-EAa CîUVm n§n
2) hdm Vo nmÊ`mMo CîUVm n§n
3) {OAmoW‘©b CîUVm n§n
4) EAa-Qy>-EAa hrQ> n§n Am{U EAa-Qy>-dm°Q>a hrQ> n§n XmoÝhr

15) Which of the following heat pumps use the refrigeration cycle to mainpulate the temerature of a

fluid stream ?

1) Air-to-air heat pumps

2) Air-to-water heat pumps

3) Geothermal heat pumps

4) Both air-to-air heat pumps and air-to-water heat pumps

16) H$moëS> ñQ>moaoO ao{’«$OaoeZ {gñQ>‘‘Ü ò Cƒ-Xm~ Ðd H§$S>oÝgoQ> H$moR>o gmR>dbo OmVo?
1) H§$S>oÝga 2) {dñVma dmëd 3) ~mînr^dH$ 4) [a{gìha

16) Where is the high-pressure liquid condensate stored in the cold storage refrigeration system ?

1) Condenser 2) Expansion valve 3) Evaporator 4) Receiver
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17) HVAC (Heating, Ventilation, and Air Conditioning) àUmbrVrb dm ẁdrOZ ̀ §ÌUogmR>r Imbrb {dYmZo gË`
AmhoV H$s ImoQ>r AmhoV Vo gm§Jm.
{dYmZ 1 : dm ẁdrOZ §̀ÌUoV ~mhoarb hdoer AmVrb hdoMr XodmUKodmU H$éZ ñdÀN> hdm nwadR>m gw{Z{íMV Ho$bm OmVmo.
{dYmZ 2 : dm ẁdrOZ §̀ÌUm hdm {’$ëQ>a H$aÊ`mV qH$dm AmÐ©VoMr `mo½` nmVir amIÊ`mV ŷ{‘H$m ~OmdVo.
n¶m©¶r CÎmao …
1) XmoÝhr {dYmZo gË` AmhoV
2) {dYmZ 1 gË` Amho na§Vw {dYmZ 2 ImoQ>o Amho
3) {dYmZ 2 gË` Amho na§Vw {dYmZ 1 ImoQ>o Amho
4) XmoÝhr {dYmZo AgË` AmhoV

17) State whether the following statements for the ventilation mechanism in the HVAC(Heating,

Ventilation, and Air Conditioning) system are true or false.

Statement 1 : It exchanges inside air with outside air to ensure a fresh supply.

Statement 2 : It plays a role in filtering the air or maintaining the proper level of humidity.

Answer options :

1) Both the statements are true

2) Statement 1 is true but Statement 2 is false

3) Statement 2 is true but Statement 1 is false

4) Both the statements are false

18) B‘maVr- Ja‘ H$aUo, hdoera H$aUo Am{U dmVmZwHy${bV H$aUo ¶mMm àmW{‘H$ CÔoe ............ Amho.
1) H$moaS>çm ~ë~Mo Vmn‘mZ, AmÐ©Vm Am{U hdoMr JwUdÎmm {Z §̀{ÌV H$aÊ¶mgmR>r CîUVm D$Om© OmoSUo qH$dm H$mTy>Z Q>mH$Uo.
2) hdm OmoSy>Z qH$dm H$mTy>Z Q>mHy$Z ImobrVrb hdoMo Vmn‘mZ W§S> H$aUo
3) CîUVm D$Om© H$mTy>Z hdoMo Vmn‘mZ W§S> H$aUo
4) darbn¡H$s H$mhrhr Zmhr

18) The primary purpose of heating, ventilating and air conditioning in the building is ........

1) to regulate the dry bulb temperature, humidity and air quality by adding or removing heat

energy

2) to cool the air temperature in room by adding or removing air

3) to cool the air temperature by removing heat energy

4) none of the above

19) KaJwVr ao{’«$OaoQ>a‘Ü ò ao{’«$Oa§Q>Mm {dñVma .......... ¶oWo Ho$bm OmVmo.
1) g§M`H$ 2) S´m`a 3) Ho${eH$m Zir 4) `mn¡H$s Zmhr

19) The expansion of the refrigerant in domestic refrigerator is carried out in .............

1) Accumulator 2) Drier 3) Capillary tube 4) None of these

20) ~mînr^dH$ Vmn‘mZ dmT>dë¶mg H$m°§àogaMm drO dmna .............
1) dmT>Vmo 2) H$‘r hmoVmo 3) pñWa amhVmo 4) darbn¡H$s Zmhr

20) Compressor power consumption will .......... by raising evaporator temperature.

1) Increase 2) Decrease 3) Remains constant 4) None of the above
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21) J°{g{’$Ho$eZ à{H«$ òV Ja‘ dm ỳMr H$m ©̀j‘Vm .......... Amho
1) dm¶yMr CîÊVm j‘Vm Am{U g§doXZerbVm ¶m§À¶m g‘ à‘mUmV
2) dm¶yMr CîÊVm j‘Vm Am{U g§doXZerbVm ¶m§À¶m ì`ñV à‘mUmV
3) KZ B§YZm‘Ü ò CnbãY CîUVoÀ`m g‘ à‘mUmV
4) darbn¡H$s H$mhrhr Zmhr

21) Hot gas efficiency in gasification process is ..........

1) Directly proportional to potential and sensible heat of gas

2) Inversely proportional to potential and sensible heat of gas

3) Directly proportional to heat available in solid fuel

4) None of the above

22) A¾r àÁd{bV H$aÊ`mgmR>r Amdûm`H$ Agboë`m VrZ KQ>H$m§À¶m {ÌH$moUm‘Ü¶o .......... ho KQ>H$ AmhoV:
1) hdm, CîUVm Am{U {R>UJr 2) B§YZ, CîUVm Am{U noQ´mob
3) hdm, CîUVm Am{U B§YZ 4) Yya, CîUVm Am{U hdm

22) The triangle illustrates the three elements a fire needs to ignite. These elements are:

1) air, heat and spark 2) fuel, heat and petrol

3) air, heat and fuel 4) smoke, heat and air

23) {Zanoj Vmn‘mZmbm ............ nXmWmªMr amooYH$Vm eyÝ¶ hmoVo.
1) dmhH$ 2) amoYH$ 3) A{VdmhH$ 4) ¶mn¡H$s Zmhr

23) ............. are materials whose resistivities become zero below a critical temperature.

1) Conductors 2) Insulators 3) Super conductors 4) None of these

3) àH$me bhar
1) Oa EImXr dñVy 360 A§emV {Vaß¶m AgUmè¶m XmoZ g‘Vc Amaem§‘Ü¶o g‘ê$n R>odcr, Va {H$Vr à{V‘m V¶ma hmoVrc?

1) 8 2) 9 3) 10 4) 11
1) If an object is placed symmetrically hetween two plane mirrors inclined at an angle of 36°, then

how many images will be formed ?

1) 8 2) 9 3) 10 4) 11

2) BÝH°$ÝS>oÝg|Q> {Xdo gmYmaUnUo ............ À`m nm°da ’°$ŠQ>ada MmbVmV.
1) 0.6 b°qJJ 2) 0.707 b°qJJ 3) 0.8 AJ«JÊ` 4) ¶w{ZQ>r

2) Incandescent lamps normally operates at a power factor of .............

1) 0.6 lagging 2) 0.707 lagging 3) 0.8 leading 4) unity

3) EbB©S>r bmB©Q>Mo Am ẁî` ............ n ª̀V Amho.
1) 1,000 Vmg 2) 3,000 Vmg 3) 4,000 Vmg 4) 1,00,000 Vmg

3) LED light life span is upto .............

1) 1,000 hours 2) 3,000 hours 3) 4,000 hours 4) 1,00,000 hours
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4) ‘hmamï´> ’°ŠQ>arO {Z`‘ 1963 Zwgma, n°goOdo, H$m°[aS>m°a Am{U nm`è`m§‘Ü ò àH$memMr {H$‘mZ Vrd«Vm .......... bŠg
Agmdr.
1) 10 2) 50 3) 90 4) 160

4) As per Maharashtra Factories Rules 1963, the minimum intensity of illumination in passageways,

corridors and stairways shall be ............ Lux.

1) 10 2) 50 3) 90 4) 160

5) à{V Mm¡ag ‘rQ>a EH$ bw‘oZMo ‘yë¶ ........... BVHo$ AgVo.
1) EH$ bŠg 2) EH$ ‘oU~Îmr 3) EH$ ’y$Q> ‘oU~Îmr 4) EH$ bw‘oZ ‘rQ>a

5) One lumen per square meter is same as .............

1) One lux 2) One candle 3) One foot candle 4) One lumen meter

6) bmB©qQ>J {gñQ>r‘‘Ü ò ñWm{nV bmoS> B{’$H°$grMo EH$H$ H$m` Amho?
1) d°Q²g à{V bw‘oZ (W/lm)

2) bw‘oZ à{V g{H©$Q> d°Q>(lm/W)

3) d°Q²g à{V Mm¡ag ‘rQ>a à{V 100 bŠg (W/m2/100 lux)

4) bŠg à{V d°Q> à{V Mm¡ag ‘rQ>a (bŠg/S>ãë ỳ/E‘2)
6) What is the unit of installed load efficacy in a lighting system ?

1) Watts per lumen (W/lm)

2) Lumens per circuit watt (lm/W)

3) Watts per square metre per 100 lux (W/m2/100 lux)

4) Lux per watt per square metre (lux/W/m2)

7) ë¶ydoZhÿH$Zo H$m¶ Ho$co ?
1) ~ma³¶m {H$S>çm§nmgyZ AÞgmR>m ~Zdcm 2) àM{cV g‘mOì¶dñWocm nmR>~i {Xco.
3) CËñ’y$V© OZZmMm {gÕm§V ‘m§S>cm 4) { §̂JmMr j‘Vm dmTdyZ gyú‘ {H$S>çm§Mo {ZarjU Ho$co.

7) What did Leeuwenhoek do ?

1) He created a focd reserve out of small microbes

2) He supported the established social system

3) He proposed the theory of arbitrary creation

4) He sharpened the lens and observed small microbes

8) {d{eï> nXmWm©gmR>r AndV©ZmMm {ZX}em§H$ .......... Mo JwUmoÎma Amho.
1) {Zdm©VmVrb àH$memMm doJ Vo nXmWm©Vrb àH$memMm doJ
2) nXmWm©Vrb àH$memMm doJ Vo {Zdm©VmVrb àH$memMm doJ
3) darb XmoÝhr
4) darbn¡H$s H$mhrhr Zmhr

8) The index of refraction for a particular material is the ratio of .............

1) Speed of light in vacuum to the speed of light in material

2) Speed of light in material to speed of light in vacuum

3) Both of the above

4) None of the above



‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 30

For Private Circulation Only

9) añË`mdarb àH$memgmR>r Imbrbn¡H$s H$moUVm {Xdm A{YH$ `mo½` Amho?
1) h°bmoOZ {Xdm 2) Cƒ Xm~mMm nmam {Xdm
4) Cƒ Xm~ gmo{S>`‘ {Xdm 4) ‘oQ>b h°bmBS> {Xdm

9) Which of the following lamps is more suitable for street lighting ?

1) Halogen lamp 2) High pressure mercury lamp

4) High pressure sodium lamp 4) Metal halide lamp

10) Imbrbn¡H$s H$moUË`m {Xì`mMo gamgar Am ẁî` gdm©{YH$ Amho?
1) gmo{S>`‘ ìhona {Xdm 2) nmam dm’o$Mm {Xdm 3) BÝH°$ÝS>oÝg|Q> {Xdm 4) âbmoamog|Q> {Xdm

10) Average life of which of the following lamp is highest ?

1) Sodium vapour lamp 2) Mercury vapour lamp

3) Incandescent lamp 4) Fluorescent lamp

11) ‘moR>çm A§Vamdarb dñVy nmhVmZm S>moù`mMr boÝg gnmQ> hmoVo Am{U Ë`mMr ’$moH$b bm§~r ......, OdiÀ`m dñVy nmhVmZm
boÝg A{YH$ JmobmH$ma hmoVo Am{U Ë`mMr ’$moH$b bm§~r ......
1) KQ>Vo, dmT>Vo 2) dmT>Vo, H$‘r hmoVo
3) KQ>Vo, pñWa amhVo 4) pñWa amhVo, dmT>Vo

11) While seeing objects at large distances, the lens of the eye becomes flat and its focal length ......,

while seeing nearby objects the lens becomes more rounded and its focal length ......

1) decreases, increases 2) increases, decreases

3) decreases, remains constant 4) remains constant, increases

12) ~moJÚmÀ`m àH$memer g§~§{YV Imbrb {dYmZo {dMmamV ¿`m:
A) {Xì`m§Mo A§Va àH$me òmoVmÀ`m AmH$mamda Adb§~yZ Agob.
~) {Xì`m§Mo A§Va ~moJÚmÀ`m n[a‘mUm§da Adb§~yZ Agob.
H$) OmñV d°Q>oOMo H$‘r {Xdo AgUo Bï> Amho.
S>) bhmZ d°Q>oOMo A{YH$ {Xdo AgUo Bï> Amho.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
1) (A) Am{U (~) 2) (A), (H$) Am{U (S>) 3) (A), (~) Am{U (S>) 4) (~) Am{U (H$)

12) Consider the following statements related to tunnel lighting :

a) The spacing of lights will depend on size of light source.

b) The spacing of lights will depend on tunnel dimensions.

c) It is desirable to have few lights of more wattage.

d) It is desirable to have more lights of small wattage.

Which of the above statements are correct ?

1) (a) and (b) 2) (a), (c) and (d) 3) (a), (b) and (d) 4) (b) and (c)

13) doëS>aÛmao dmnaë`m OmUmè`m Img {S>PmBZ Ho$boë`m Mîå`m§Zm ............ åhUVmV:
1) amgm`{ZH$ g§ajU Jm°Jëg 2) hm¶ B§n°³Q> Jm°Jëg
3) hdm àXyfU{damoYr Mî‘m 4) H$mo~mëQ> ãby boÝggmaIo N>m`m§{H$V Mî‘m

13) Specially designed glasses that are used by a welder are called:

1) chemical protection goggles 2) high impact goggles

3) anti contamination glasses 4) shaded glasses like cobalt blue lenses
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4) ÜdZr bhar
1) Vmn‘mZmVrb àË¶oH$ 1OC dmT>rgmR>r hdoVrb ÜdZrMm doJ ........... go.‘r./goH§$X Zo dmT>Vmo.

1) 6.1 2) 0.61 3) 61 4) 16
1) For each 1°C rise in temperature, the speed of sound in air increases by ........... cm/s.

1) 6.1 2) 0.61 3) 61 4) 16

2) ‘hmamï´> ’°ŠQ>ar {Z`‘ 1963 Zwgma, àË òH$ H$maImÝ`mV, gVV qH$dm AZoH$ AënH$mbrZ EŠgnmoOa g§X^m©Vrb
OmñVrV OmñV nadmZJr`mo½` ÜdZr EŠgnmoOa nmVir, XaamoO AmR> Vmgm§gmR>r ........... Amho.
1) 40 dBA 2) 90 dBA

3) 120 dBA 4) 140 dBA

2) As per Maharashtra Factories Rules 1963, in every factory, the maximum permissible noise

exposure levels, continuous or a number of short-term exposures, for eight hours per day is ......
1) 40 dBA 2) 90 dBA

3) 120 dBA 4) 140 dBA

3) VmUboë`m Vmao‘Ü¶o {Z‘m©U Pmboë¶m bharMm doJ .......... da Adb§~yZ AgVmo
1) bharMr dma§dmaVm 2) VmaoVrb VmU
3) VmaoMr aoIr` KZVm 4) VmaoVrb VmU Am{U aoIr` KZVm XmoÝhr

3) The speed of a wave along a stretched ideal string depends on ........

1) frequency of wave of the string.

2) only tension in the string.

3) only linear density of the string.

4) both tension and linear density of the string.

5) {dÚwVMw§~H$s¶ bhar
1) n¥Ïdrbm gw‘mao 300° K Mo CËg{O©V hmoUmao H¥$îU eara ‘mZbo OmVo Am{U Vr gw‘mao 9.7 ‘m`H«$mo‘rQ>a .......... À¶m

àmaUm§Mo CËgO©Z H$aVo.
1) {dÚwV Mw§~H$s` {d{H$aU 2) bKw bhar {d{H$aU
3) BÝewcoeZ 4) j-{H$aU

1) The earths considered a black body at about 300° K emitting with peak emission at around 9.7

micrometre ..........

1) electro-magnetic radiation 2) short wave radiation

3) insulation 4) X-ray

2) {g[a¨OogMo {ZOªVwH$sH$aU H$aÊ¶mgmR>r gm‘mÝ¶nUo ....... Mm dmna Ho$bm OmVmo.
1) d¡pídH$ {H$aU 2) Aë’$m {H$aU
3) ~rQ>m {H$aU 4) J°‘m {H$aU

2) Syringes are commonly sterlized by employing .........

1) Cosmic rays 2) Alpha rays

3) Beta rays 4) Gamma rays



‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 32

For Private Circulation Only

(2) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ
1) {dÚwVemó
2) Mw§~H$Ëd
3) AUw{dkmZ

1) {dÚwVemó
1) 500 Ω, 5000 Ω Am{U 50 Ω Mo VrZ ao{PñQ>Ýg 555 ìhmoëQ> ‘oZ‘Ü ò ‘m{bHo$V OmoS>bobo AmhoV. Ë`m§À`m‘YyZ

dmhUmam àdmh {H$Vr Agob?
1) 1A 2) 100 E‘E 3) 10 E‘E 4) 10 A

1) Three resistances of 500 Ω, 5000 Ω and 50 Ω are connected in series across a 555 Volt mains.

What is the current flowing through them ?

1) 1A 2) 100 mA 3) 10 mA 4) 10 A

2) gmYmaUnUo, Imbrb ìhmoëQ>oOgmR>r BZS>moAa g~ñQ>oeZbm àmYmÝ` {Xbo OmVo:
1) 220 Ho$ìhr 2) 132 Ho$ìhr 3) 66 Ho$ìhr 4) 33 Ho$ìhr

2) Generally, an indoor substation is preferred for voltages up to :

1) 220 KV 2) 132 KV 3) 66 KV 4) 33 KV

3) NFPA Am{U IEEE Zwgma J«mC§S> ao{PñQ>ÝgMo {e’$mag Ho$bobo ‘yë` {H$Vr Amho?
1) 5.0 Ω qH$dm Cƒ 2) 5.0 Ω qH$dm H$‘r
3) 25.0 Ω qH$dm H$‘r 4) 35.0 Ω qH$dm Cƒ

3) What is the recommended value of ground resistance according to the NFPA and the IEEE ?

1) 5.0 Ω or higher 2) 5.0 Ω or lower

3) 25.0 Ω or lower 4) 35.0 Ω or higher

4) BbopŠQ´H$b BÝñQ>m°boeZ‘Ü ò, g{H©$Q>À`m àdoemÀ`m {R>H$mUmnmgyZ gdm©V XyaÀ`m q~Xyn ª̀V J«mhH$m§À`m AmdmamV OmñVrV
OmñV ìhmoëQ>oO S´m°n .......... n ª̀V Agmdo.
1) 3% 2) 5% 3) 7% 4) 10%

4) In electrical installation, the maximum voltage drop should be upto .......... , at the consumer

premises from the point of entry of the circuit to the farthest point.

1) 3% 2) 5% 3) 7% 4) 10%

5) A{WªJgmR>r ^maVr` ‘mZH g§{hVm ............ Amho.
1) IS 3043 2) IS 3403 3) IS 3040 4) IS 4030

5) Indian Standard Code of Practice for earthing is .............

1) IS 3043 2) IS 3403 3) IS 3040 4) IS 4030
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6) {Xboë`m g{H©$Q>‘Ü ò 8 W ao{PñQ>a‘YyZ dmhUmam {dÚwV² àdmh ............ Amho.

1) 2.5 A 2) 1.6 A 3) 4 A 4) 16 A
6) In the given circuit the current flowing through the 8 W resistor is .............

1) 2.5 A 2) 1.6 A 3) 4 A 4) 16 A

7) EH$m Q´mÝg’$m°‘©aMm ’w$b-bmoS> H$m°na bm°g 400 W Agë¶mg AÜ`m© ’w$b-bmoS>da gXa H$m°na bm°g ........ Agob.
1) 50 wW 2) 100 W 3) 400 W 4) 200 W

7) A transformer has full-load copper loss of 400 W. The copper loss at half full-load will be .............

1) 50 wW 2) 100 W 3) 400 W 4) 200W

8) 240 V nwadR>çmda 30 W Mm ao{PñQ>Ýg OmoS>bobm Amho. Oa R Amoh‘ Mm {dÚwVamoY, 30 Amoh‘À¶m amoYH$mer g‘m§Va
OmoS>UrZo OmoS>bm Agob, Va {ZYm©[aV {dÚwV² àdmh ‘yiÀ`m {VßnQ> hmoB©b. Vma ¶oWo R Mo ‘yë` .......... Amho.
1) 15 Amoh‘ 2) 10 Amoh‘ 3) 5 Amoh‘ 4) 30 Amoh‘

8) A resistance of 30 W is connected across a 240 V supply. If a resistance of R ohm is connected

in parallel with a 30 ohm resistor across the same supply, the current drawn becomes triple of

original one. The value of unknown resistance R is .............

1) 15 ohm 2) 10 ohm 3) 5 ohm 4) 30 ohm

9) 66 kV nojm OmñV ìhmoëQ>oOgmR>r ........... Ho$~ëg dmnaë`m OmVmV.
1) ~oëQ>oS>> 2) EM - àH$maÀ¶m 3) Vob ^aboë¶m 4) Eg-Eb àH$maÀ¶m

9) For operating voltages beyond 66 kV ........... cables are used.

1) Belted 2) H-type 3) Oil filled 4) S - L type

10) gO© A°aoñQ>a ghgm.......... Xaå`mZ g~ñQ>oeZbm OmoS>bobo AgVo.
1) XmoZ Q>ßno 2) ’o$O Am{U J«mD$§S>
3) ’o$O Am{U Ý ỳQ´b 4) darbn¡H$s Zmhr

10) Surge arrestor is normally connected between ............ at the substation.

1) Two phases 2) Phase and ground

3) Phase and neutral 4) None of the above
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11) g‘mZ ìhmoëQ>oO nmVirgmR>r, Ooìhm ~mhoarb g~ñQ>oeZMr BZS>moAa g~ñQ>oeZer VwbZm Ho$br OmVo, Voìhm Ë¶mMm IM©
........... Agob Am{U Ë¶mVrb Xmof {ZXmZ ......... Agob.
1) H$‘r, gmono 2) H$‘r, AdKS> 3) Cƒ, gmono 4) Cƒ, H$R>rU

11) For same voltage level, when outdoor substation is compared with indoor substation, the cost

will be ........... and fault diagnosis will be .........

1) low, easier 2) low, difficult 3) high, easier 4) high, difficult

12) {Od§V Vmam AgVmZm dmVmdaUmV {Z‘m©U hmoUmar AmJ ............. Ûmao {dP{dbr OmD$ eH$Vo.
1) S´m` nmdS>a Ep³ñQ>§p½dea 2) nmÊ¶m
3) gmoS>m A°{gS> EpŠñQ>§p½dea 4) ’$mo‘ EpŠñQ>§p½dea

12) The fire taking place in the environment when live wires exists can be extinguished by .............

1) Dry powder extinguisher 2) Water extinguisher

3) Soda acid extinguisher 4) Foam extinguisher

13) UPS ~°Q>ar gobMr j‘Vm ............ ‘Ü ò ‘moObr OmVo.
1) d°Q> Vmg 2) d°Q²g 3) A±{nAa 4) A±{nAa-Vmg

13) Capacity of UPS battery cell is measured in .............

1) Watt hours 2) Watts 3) Amperes 4) Ampere-hour

14) âboq‘JÀ`m S>mì`m hmVmÀ`m {Z`‘mV
n{hbo ~moQ> .......... Mr {Xem Xe©dVo
Xwgao ~moQ> ........... Mr {Xem Xe©dVo.
A§JR>m ........... Mr {Xem Xe©dVmo.
AZwH«$‘o -
1) ~b, Mw§~H$s` joÌ, àdmh 2) Mw§~H$s` joÌ, {dÚwV² àdmh, ~b
3) Mw§~H$s` joÌ, ào[aV B©E‘E’$, ~b 4) dV©‘mZ, Mw§~H$s` joÌ, ~b

14) In Fleming’s Left Hand Rule

First finger indicates direction of ..........

Second finger indicates direction of ...........

Thumb indicates direction of ...........

respectively -

1) Force, magnetic field, current 2) Magnetic field, current, force

3) Magnetic field, induced emf, force 4) Current, magnetic field, force

15) gmYmaUnUo ........... gmR>r OmñVrV OmñV Xmof Zm|Xdbo OmVmV.
1) pñdM {JAg© 2) ŷ{‘JV Ho$~ëg
3) nm°da Q´mÝg’$m°‘©a 4) Q´mÝg{‘eZ bmB©Ýg

15)  Maximum number of faults are generally reported for .............

1) Switch gears 2) Underground cables

3) Power transformers 4) Transmission lines
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16) Q>m°da ’w$qQ>J ao{PñQ>Ýg ............ Zo H$‘r Ho$bm OmD$ eH$Vmo.
1) Q>m°daOdi am°S> MmbdUo Am{U Ë`m§Zm Q>m°da ~oger OmoS>Uo
2) H$mC§Q>anmoB©O dm`a O{‘ZrV JmS>Uo Am{U Ë`m§Zm Q>m°da ~oger OmoS>Uo
3) XmoÝhr (1) Am{U (2)
4) darbn¡H$s H$mhrhr Zmhr

16) The tower footing resistance may be reduced by .............

1) driving rods near the tower and connecting them to the tower base

2) burying counterpoise wires in the ground and connecting them to the tower base

3) both (1) and (2)

4) none of the above

17) ìhmoëQ>oO A°påßb’$m`a‘Ü ò, bmoS> ao{PñQ>Ýg ............ Agmdm.
1) eŠ` {VVH$m ‘moR>m 2) eŠ` {VVH$m bhmZ
3) AmCQ>nwQ> à{V~mYoBVH$m 4) BZnwQ> à{V~mYoBVH$m

17) In voltage amplifier, the load resistance should be .............

1) As large as possible 2) As small as possible

3) Equal to output impedance 4) Equal to input impedance

18) DC ZoQ>dH©$‘Ü ò AmXe© {dÚwV² òmoVmMm A§VJ©V à{VH$ma ............ AgVmo.
1) eyÝ` Amoh‘ 2) eyÝ` Amoh‘, EH$ga OmoS>Ur
3) AZ§V Amoh‘ 4) AZ§V Amoh‘, g‘m§Va OmoS>Ur

18) In DC network ideal current source has internal resistance of .............

1) Zero ohm 2) Zero ohm connected in series

3) Infinite ohm 4) Infinite ohm connected in parallel

19) AmXe© Q´mÝg’$m°‘©aMr ........... hr d¡{eï²> ò AmhoV.
1) H$‘r nmaJå`Vm, Mw§~H$s` JiVr Zmhr, à{VH$ma Zmhr, ZwH$gmZ Zmhr
2) H$‘r nmaJå`Vm, Mw§~H$s` JiVr, à{VH$ma Zmhr, ZwH$gmZ Zmhr
3) Cƒ nmaJå`Vm, Mw§~H$s` JiVr Zmhr, à{VH$ma Zmhr, ZwH$gmZ Zmhr
4) Cƒ nmaJå`Vm, Mw§~H$s` JiVr Zmhr, ZwH$gmZmgh bjUr` à{VH$ma

19) Ideal transformer have the features of .............

1) Low permeability, no magnetic leakage, no resistance, no losses

2) Low permetability, magnetic leakage, no resistance, no losses

3) HIgh permeability, no magnetic leakage, no resistance, no losses

4) High permeability, no magnetic leakage, considerable resistance with lossess

20) VrZ ’o$O Q´mÝg’$m°‘©aMo ñH$m°Q> H$ZoŠeZ ............ gmR>r dmnabo OmVo.
1) W«r ’o$O Vo qgJb ’o$O 2) W«r ’o$O Vo Qy> ’o$O
3) VrZ ’o$O Vo VrZ ’o$O 4) qgJb ’o$O Vo W«r ’o$O

20) Scott connection of three phase transformer is used for .............

1) Three phase to single phase 2) Three phase to two phase

3) Three phase to three phase 4) Single phase to three phase
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21) boW ‘erZ‘Ü ò H$moUË`m àH$maMr S>rgr ‘moQ>a dmnabr OmVo?
1) S>rgr ‘m{bH$m ‘moQ>a 2) S>rgr H§$nmC§S> ‘moQ>a
3) S>rgr e§Q> ‘moQ>a 4) S>rgr {S>’$a|{e`b H§$nmC§S> ‘moQ>a

21) Which type of dc motor is used in lathe machine ?

1) dc series motor 2) dc compound motor

3) dc shunt motor 4) dc differential compound motor

22) S>rgr OZaoQ>a‘Ü ò H$å ẁQ>oQ>a ............. åhUyZ H$m‘ H$aVmo.
1) ‘oH°${ZH$b BÝìhQ>©a 2) qgH«$moZg H§$S>oÝga
3) ‘oH°${ZH$b aopŠQ>’$m`a 4) `mn¡H$s Zmhr

22) In a DC generator, commutator serve as a .............

1) Mechanical inverter 2) Synchronous condenser

3) Mechanical rectifier 4) None of these

23) g‘mZwnm{VH$ pñWam§H$mZwgma ßboQ²gdarb MmO©er g§~§{YV XmoZ ßboQ²g‘Yrb g§̂ mì` ’$aH$ hm OdiOdi pñWa AgVmo.
hm pñWam§H$ ........ åhUyZ AmoiIbm OmVmo.
1) H§$S>ŠQ>a 2) S>m`bopŠQ´H$ pñWam§H$ 3) H°$n°{gQ>Ýg 4) H§$S>ŠQ>Ýg

23) The potential difference between two plates is related to the charge on the plates by aproportionality

constant. This constant is known as .........

1) conductor 2) dielectric constant 3) capacitance 4) conductance

24) BboŠQ´moñQ>°{Q>H$ CnH$aUm§~Ôb Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
1) Vo ’$º$ Egr ìhmoëQ>oOMo à‘mU ‘moOVmV. 2) {djo{nV Q>m°H©$ ìhmoëQ>oOÀ`m WoQ> à‘mUmV Amho
3) drO dmna IynM H$‘r Amho. 4) ñHo$b EH$g‘mZ Amho

24) Which of the following statements is correct about electrostatic instruments ?

1) They measure only the AC quantity of voltage.

2) Deflecting torque is directly proportional to voltage

3) The power consumption is quite low.

4) The scale is uniform

25) Imbrbn¡H$s H$moUVm ^mJ qgH«$moZg ‘moQ>g©‘Ü ò dmnabm OmV Zmhr?
1) AC nwadR>çmgh ’$sëS> dmB§qS>J 2) AC nwadR>çmgh Am‘}Ma dmB§qS>J
3) goë’$-ñQ>m{Qª>JgmR>r S°>pån§J dmB§qS>J 4) {dÚwV Mw§~H$s` joÌmgmR>r nmob

25) Which of the following parts is NOT used in synchronous motors ?

1) Field winding with AC supply 2) Armature winding with AC supply

3) Damping winding for self-starting 4) Pole for the electric magnetic field

26) Ho$~bMr bm§~r dmT>ë`mg Ë`mMr BÝewcoeZ à{VamoYH$Vm .............
1) KQ>Vo 2) dmT>Vo 3) g‘mZ amhVo 4) darbn¡H$s H$mhrhr Zmhr

26) If length of cable increases, its insulation resistance .............

1) decreases 2) increases 3) remains same 4) none of the above
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27) ‘moQ>agmR>r {dÚwVKQ>mMr ŷ{‘H$m H$m¶ AgVo ?
1) Jw§S>mir {’$adyZ {dÚwVàdmh {Z‘m©U H$aUo 2) Jw§S>mircm {dÚwVàdmh nwa{dUo
3) Mw§~H$s¶ joÌ {Z‘m©U H$aUo 4) ¶m§{ÌH$ D$Om© nwa{dUo

27) What is the role of a battery for a motor ?

1) To generate a current by rotating a loop 2) To supply current to the loop

3) To generate a magnetic field 4) To supply mechanical energy

28) ‘moQ>a‘Ü¶o ‘mKmar {dÚwVJm‘H$mMo ‘hÎd H$m¶ Amho ?
1) ¶m‘wio ‘moQ>aMm doJ dmT>Vmo 2) ¶m‘wio ‘moQ>a‘Yrc {dÚwVàdmh H$‘r hmoVmo
3) ho Cn¶wº$ ¶m§{ÌH$ H$m¶© {Z‘m©U H$aVo 4) ¶m‘wio ‘moQ>aMm nrS>Z n[a~c H$‘r hmoVmo.

28) Why is back emf important in a motor ?

1) It increases the speed of the motor 2) It reduces the current in the motor

3) It generates useful mechanical work 4) It reduces the torque of the motor

29) ‘moQ>a Mmcy Ho$ë¶mda {dÚwVàdmh gwédmVrcm Iyn ‘moR>m H$m AgVmo ?
1) H$maU ‘mKmar {dÚwVJm‘H$ Iyn ‘O~yV AgVmo
2) H$maU ¶§m{ÌH$ ^ma Iyn OmñV AgVmo
3) H$maU doQ>moù¶mMm à{VH$ma Iyn OmñV AgVmo
4) H$maU gwédmVrcm ‘mKmar {dÚwVJm‘H$ ZgVmo.

29) Why is the current initially very large when a motor is turned on ?

1) Because the back emf is very strong

2) Because the mechanical load is very heavy

3) Because the resistance of the coils is very high

4) Because there is initially no back emf

30) Ooìhm ‘moQ>marVrc ¶m§{ÌH$ ^ma dmT>Vmo, Voìhm níM {dÚwVJm‘H$mMo H$m¶ hmoVo ?
1) Vo VgoM amhVo. 2) Vo dmT>Vo
3) Vo H$‘r hmoVo 4) Ë¶mMm ‘moQ>ada H$mhrhr n[aUm‘ hmoV Zmhr

30) What happens to the back emf, when the mechanical load on the motor increases ?

1) It remains the same 2) Tt increases

3) It decreases 4) It has no effect on the motor

31) Mmcy ‘moQ>ada A{V[aº$ ^ma Q>mH$ë¶mg H$m¶ hmoB©c ?
1) níM {dÚwVJm‘H$ dmT>Vo
2) ‘moQ>ma gm‘mÝ¶nUo Mmcy amhVo
3) ‘mKmar {dÚwVJm‘H$mÀ¶m H$‘VaVo‘wio YmoH$mXm¶H$ Cƒ {dÚwV àdmh hmoD$ eH$Vmo
4) ‘moQ>ma H$m‘ H$aUo Wm§~dVo.

31) What can happen if a heavy load is given on a running motor ?

1) The back emf increases

2) The motor continues to operate normally

3) The lack of back emf can lead to dangerously high current

4) The motor stops working
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2) Mw§~H$Ëd
1) BboŠQ´moS>m`Zm{‘H$ CnH$aUm‘Ü ò, Mw§~H$s` joÌ àXmZ H$aÊ`mgmR>r ñWm`r Mw§~H$mEodOr {H$Vr H$m°Bb dmnaë`m OmVmV?

1) 1 2) 2 3) 3 4) 4
1) In an electrodynamic instrument, how many coils are used instead of permanent magnets to provide

the magnetic field ?

1) 1 2) 2 3) 3 4) 4

2) Am‘}Ma dmB§qS>JMm Mw§~H$s` Aj Am{U XmoZ Y«wdr¶ S>rgr ‘erZÀ¶m ’$sëS> dmB§qS>JMm Mw§~H$s` Aj ̀ m§À`mVrb H$moZ........
AgVmo.
1) 00 2) 300 3) 600 4) 900

2) The angle between magnetic axis of armature winding and the magnetic axis of field winding of

two pole d.c. machine is ...........

1) 00 2) 30° 3) 60° 4) 90°

3) gm‘mÝ`V… ......... nXmWm©Mm dmna {MbIV åhUyZ Ho$bm OmVmo.
1) Mw§~H$s` 2) Zm°Z-Mw§~H$s` 3) XmoÝhr (1) Am{U (2) 4) darbn¡H$s Zmhr

3) Normally ......... material is used as armouring.

1) Magnetic 2) Non-magnetic 3) Both (1) and (2) 4) None of the above

4) Mw§~H$s` àdmhmgmR>r XmoZ qH$dm XmoZnojm OmñV ‘mJ© Agboë`m Mw§~H$s` g{H©$Q>bm ........ åhUVmV.
1) WoQ> Mw§~H$s` g{H©$Q> 2) AàË`j Mw§~H$s` g{H©$Q>
3) g‘m§Va Mw§~H$s` g{H©$Q> 4) ‘m{bH$m Mw§~H$s` g{H©$Q>

4) A magnetic circuit with two or more than two paths for the magnetic flux is called .........

1) direct magnetic circuit 2) indirect magnetic circuit

3) parallel magnetic circuit 4) series magnetic circuit

5) qgJb-’o$O B§S>ŠeZ ‘moQ>aMm ^mJ åhUyZ Imbrbn¡H$s H$moUVm n`m©̀  MwH$sMm Amho?
1) pñbn [a¨J 2) H°$no{gQ>a
3) Am‘}Ma diU 4) ~oA[a¨J

5) Which of the following options is INCORRECT as a part of single-phase induction motor ?

1) Slip rings 2) Capacitor

3) Armature winding 4) Bearing

6) qgJb-’o$O B§S>ŠeZ ‘moQ>g© 900 À`m AmCQ>-Am°’$-’o$O H$a§Q>Ûmao Mmb{dboë`m ghm`H$ ñQ>mQ>©a dmB§qS>J{edm`
............. H$aV ZmhrV.
1) ñd-àma§̂ 2) àma§̂ 3) H$‘r Q>m°H©$ Amho 4) H$‘r àdmh Amho

6) Single-phase induction motors do not ............. without an auxiliary startor winding driven by an

out-of-phase current of near 900.

1) self-start 2) start 3) have low torque 4) have low current
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7) Mw§~H$s` ãbmo AmCQ> H$m°Bëg gm‘mÝ`V… ............ ‘Ü ò dmnabr OmVmV.
1) EAa-~«oH$ g{H©$Q> ~«oH$a 2) ìh°Š ỳ‘ g{H©$Q> ~«oH$a
3) Am°Bb g{H©$Q> ~«oH$g© 4) SF g{H©$Q> ~«oH$g©

7)  Magnetic blow out coils are generally used in .............

1) Air-break circuit breakers 2) Vacuum circuit breakers

3) Oil circuit breakers 4) SF circuit breakers

3) AUw{dkmZ
1) {dI§S>Z à{H«$ ògmR>r AmpÊdH$ AUŵ Å>r‘Ü ò dmnabo OmUmao AUwB§YZ åhUyZ Imbrbn¡H$s H$moUVm n`m©̀  MwH$sMm Amho?

1) Wmo[a`‘-232 2) ẁao{Z`‘-233
3) H±$S>{‘`‘-253 4) ßbwQ>mo{Z`‘-239

1) Which of the following options is INCORRECT as a nuclear fuel used in a nuclear reactor for the

fission process ?

1) Thorium-232 2) Uranium-233

3) Candmium-253 4) Plutonium-239

2) nmoëQ´r CËnmXZm§‘Ü ò AÞ {d{H$aUmMm CÔoe H$m` Amho?
1) A§Hw$a ’w$Q>Uo 2) naOrdr Zï> hmoUo
3) gmc‘moZocm {ZpîH«$` H$aUo 4) AÞ KQ>H$m§Mo {ZOªVwH$sH$aU

2) What is purpose of food irradiation in poultry products ?

1) Inhibition of sprouting 2) Destruction of parasite

3) Inactivation of salmonella 4) Decontamination of food ingredients

3) ‘mZdmgmR>r {H$aUmoËgJm©Mm àmUKmVH$ S>mog Amho
1) 102-103 a°S>g 2) 103 -105 a°S>g
3) 107 -109 a°S>g 4) 105-107 a°S>g

3) The lethal dose of irradiation for human being is

1) 102-103 rads 2) 103 -105 rads

3) 107 -109 rads 4) 105-107 rads

4) AUwD$Om© {Z{‘©Vr H|$ÐmÀ`m Imbrbn¡H$s H$moUË`m KQ>H$m‘Ü ò B§YZ AgVo Am{U gd© AmpÊdH$ H$Mam CËnmXZm§da
AmpÊdH$ gmIir à{V{H«$`m AgVo?
1) ñQ>r‘ OZaoeZ ẁ{ZQ> 2) Q>~m©BZ Am{U OZaoQ>a
3) AUŵ Å>r 4) Hy$qbJ Q>m°da

4) Which of the following components of a nuclear power generation station contains the fuel and

has a nuclear chain reaction with all of the nuclear waste products ?

1) Steam generation unit 2) Turbine and generator

3) Nuclear reactor 4) Cooling tower
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5) Ooìhm α - H$U {H$aUmoËgmar KQ>H$mVyZ ~mhoa nS>VmV Voìhm ...........
1) AUwA§H$ 2 Zo H$‘r hmoVmo Am{U AUwdñVw‘mZm§H$ 4 Zo H$‘r hmoVmo.
2) AUwA§H$ 1 Zo H$‘r hmoVmo Am{U AUwdñVw‘mZm§H$ 2 Zo H$‘r hmoVmo.
3) AUwA§H$ 1 Zo dmT>Vmo.
4) AUwA§H$ Am{U AUwdñVw‘mZ§mH$ ~XcV Zmhr.

5) When  particle emits from a radioactive element then

1) atomic number decreases by 2 and mass number decreases by 4

2) atomic number decreases by 1 and mass number decreases by 2

3) atomic number increases by 1

4) atomic number and mass number remains same

6) Imcrcn¡H$s H$moUVo {dYmZ ~amo~a Amho ?
1) J«hmMm doJ gy¶m©nmgyZ OmñVrV OmñV A§Va AgVmZm gdm©V H$‘r Am{U gy¶m©nmgyZ H$‘rV H$‘r A§Va AgVmZm gdm©V

OmñV AgVmo.
2) J«hm§Mm doJ gy¶m©nmgyZ OmñVrV OmñV A§Va AgVmZm gdm©V OmñV Am{U gy¶m©nmgyZ H$‘rV H$‘r A§Va AgVmZm

gdm©V H$‘r AgVmo.
3) J«hm§Mm doJ gy¶m©nmgyZ OmñVrV OmñV d H$‘rV H$‘r A§Va AgVmZm gmaImM AgVmo.
4) J«hm§Mm doJ gy¶m©nmgyZ OmñVrV OmñV d H$‘rV H$‘r A§Va AgVmZm gdm©V OmñV AgVmo.

6) Which of the following statement is correct ?

1) The speed of Planet is faster when they are nearer to the sun and slower when they are farther

away from the sun.

2) The speed of Planet is faster when they are farther from the sun and slower when they are

nearer to the sun,

3) The speed of Planet is same when they are nearer to the sun or farther away from the sun.

4) The speed of Planet is faster when they are nearer to the sun or farther away from the sun.
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(3) AmdV©gmaUr - YmVy, AYmVy, jma, Amåb, g§̀ wJo, dm ỳ, IVo
1) AmdV©gmaUr, AUwaMZm
2) ^m¡{VH$ agm¶Zemó - ÐmdU, MmMÊ¶m
3) YmVy, AYmVy , jma
4) g§̀ wJo
5) dm ỳ , B§YZo
6) IVo
7) Amåb, {dH$ao, AëH$br, nrEM

1) AmdV©gmaUr, AUwaMZm
1) {n[aAm°{S>H$ gmaUrÀ`m ...... ¶m ‘m§S>Ur‘Ü¶o / JUm‘Ü¶o {’$Egm gXñ¶ ‘ybÐì¶o AgVmV.

1) Xwgao g§H«$‘U 2) n{hbo A°pŠQ>ZmBS> 3) n{hbo g§H«$‘U 4) Xwgao A°pŠQ>ZmBS>
1) Feisa member of ...... series of Periodic Table.

1) 2nd transition 2) 1st actinide 3) 1st transition 4) 2nd actinide

2) {àpÝgnb ¹$m§Q>‘ Z§~a n = 4 er g§~§{YV EHy$U Am°{~©Q>ëgMr g§»`m {H$Vr AgVo?
1) 2  2) 4 3) 9 4) 16

2) What is the total number of orbitals associated with principal quantum number n = 4 ?

1) 2 2) 4 3) 9 4) 16

3) Ý ỳQ´>m°ZMo dñVw‘mZ a/an À`m ~amo~arMo AgVo.
1) àmoQ>m°Z  2) BboŠQ´m°Z  3) ‘ogZ 4) darbn¡H$s H$mhrhr Zmhr

3) The mass of a neutron is equal to that of a/an ......

1) proton 2) electron 3) meson 4) None of the above

4) NH
3
 Am{U BF

3
 À¶m AmH$mam§~Ôb Imbrbn¡H$s H$moUVm n¶m©¶ AMyH$ Amho?

1) NH
3
 - {na°{‘S>b Am{U BF

3
 - {na°{‘S>b 2) NH

3
 - Am{U BF

3
 - ßboZa

3) NH
3
 - ßboZa Am{U BF

3
 - {na°{‘S>b 4) NH

3
 - Am{U BF

3
 - ßboZa

4) Which of the following is correct for the shapes of NH
3
 and BF

4 
?

1) NH
3
 - Pyramidal and BF

4
- Pyramidal 2) NH

3
 - Planar and BF

4
 - Planar

3) NH
3
 - Planar and BF

4
- Pyramidal 4) NH

3
 - Pyramidal and BF

4
 -Planar

2) ^m¡{VH$ agm¶Zemó - ÐmdU, MmMÊ¶m
1) Oa 1.0 ‘mob AmXe© dm¶yMo AmH$ma‘mZ ‘mZH$ Vmn‘mZ Am{U Xm~mbm 22.4 Lit Agob Va gd©H$f dm¶y pñWam§H$ R

......... AgVmo.
1) 0.0821 atm Lit mol-1 K-1 2) 8.314 x 107 Joules K-1 mol-1

3) 82.1 atm Lit mol-1 K-1 4) 8.314 erg K-1 mol-1
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1) If one mole of an ideal gas occupies 22.4 Lit at Standard Temperature and Pressure, then the

value of the universal gas constant R is ............

1) 0.0821 atm Lit mol-1K-1 2) 8.314 x 107 Joules K-1 mol-1

3) 82.1 atm Lit mol-1 K-1 4) 8.314 erg K-1 mol-1

2) 1.5M H
2
SO

4
 À¶m 10 dm3 ÐmdUmnmgyZ 1.0N, H

2
SO

4
 Mo ÐmdU H$go ~Zdmb?

1) {Xboë¶m ÐmdUmV 5 dm3 nmUr KmbyZ 2) {Xboë¶m ÐmdUmV 294 J«°‘ H
2
SO

4
 KmbyZ

3) {Xboë¶m ÐmdUmV 20 dm3 nmUr KmbyZ 4) {Xboë¶m ÐmdUmV 174 J«°‘ H
2
SO

4
 KmbyZ

2) How is 1.0N H
2
S0

4
 solution is prepared from 10 dm3 of 1.3M H

2
S0

4
 solution ?

1) By adding 5 dm3 of water to it 2) By adding 294 g of H
2
S0

4
 to ir

3) By adding 20 dm3 of water to it 4) By adding 174 g of H
2
S0

4
 to it

3) 180 J«°‘ A°go{Q>H$ Amåb (CH
3
COOH) Am{U 180 J«°‘ nmUr (H

2
O) EH$‘oH$m§V {‘gibo. V¶ma Pmboë¶m ÐmdUmV

A°go{Q>H$ AmåbmMm ‘mob ’«°$³eZ .......... BVH$m Agob.
[H = 1, C = 12, O = 16]

1) 0.23 2) 1.0 3) 0.5 4) darbn¡H$s H$moUVmhr Zmhr.
3) 180 g of acetic acid (CH

3
COOH) is mixed with 180 g of water (H

2
O). The mole fraction onef

acetic acid in the resultant solution is

( H=1,C=12,0= 16)

1) 0.23 2) 1.0 3) 0.5 4) None of the above

4) IR ñnoŠQ´mo’$moQ>‘rQ>a‘Yrb Z‘wZm gob .......... ~Zbobm AgVmo.
1) ½bmg 2) ¹$mQ²O© 3) nmoQ>°{e`‘ ~«mo‘mBS> 4) nm°{bñQ>r[aZ

4) The sample cell in an IR spectrophotmeter is made up of ..........

1)  Glass 2) Quartz 3) Potassium bromide 4) polystyrene

5) gm‘mÝ` H«$mo‘°Q>moJ«m’$s‘Ü ò, pñWa AdñWm ........... AgVo.
1) Y«wdr` 2) Zm°Znmoba 3) ‘Ü`‘ Y«wdr` 4) H$‘Hw$dV emofH$

5) In normal phase chromatography, the stationary phase is ...........

1) Polar  2) Nonpolar 3) Moderately polar 4) Weak adsorbent

6) GLC ‘Yrb n¥W¸$aUmMo VËd .......... Amho.
1) emofU 2) {d^mOZ 3) Am`Z EŠgM|O 4) Oob nma‘reZ ~r

6) The principle of sepearation in GLC is ..........

1) Adsorption 2) Partition 3) Ion exchange 4) Gel permeationb

7) Am`gmoH«o${Q>H$ Bë ẁeZ V§Ìm‘Ü¶o ............
1) g‘mZ {dÐmdH$ dmnabm OmVmo 2) g‘mZ aMZoMo {dÛmdH$ dmnabo OmVmV.
3) ’$º$ EH$M {dÐmdH$ dmnabm OmVmo 4) {dÐmdH$m§Mo {‘lU dmnabo OmD$ eH$V Zmhr

7) In isocratic elution technique.......

1) The same slovent is used 2) The same solvent composition is used

3) Only one solvent is used 4) Mixture of solvent cannot be used



‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 43

For Private Circulation Only

8) âbmoamogoÝg MmMUr ......... AmoiIÊ`mMr MmMUr åhUyZ dmnabr OmVo.
1) Jmoù`m 2) H°$ßgyb 3) nmdS>a 4) B‘ëeZ

8) Fluorescence test is used as test for identification of ..........

1) Tablets 2) Capsules 3) Powders 4) Emulsions

9) n°a|Q>ab {ànaoeÝg‘Ü¶o ....... ‘wio hmoUmar ôgi amoIÊ`mgmR>r ñQ>[a{bQ>r/{ZOªVwH$ MmMUr Ho$br OmVo.
1) dmVmdaU 2) gyú‘Ord 3) H$U 4) n°Ho$qOJ gm{hË`

9) Sterility testing is done to prevent the contaminations by ............. in parenteral preparations.

1) Atmosphere 2) Microbes 3) Particles 4) Packaging materials

3) YmVy, AYmVy , jma
1) dZñnVr qH$dm àmUr CËnÎmrÀ`m dñVy§Mo d` {ZYm©[aV H$aÊ`mgmR>r Imbrbn¡H$s H$moUË`m H$m~©Z g‘ñWm{ZHo$Mm dmna

Ho$bm OmVmo?
1) H$ - 12 2) H$ - 13 3) H$ - 14 4) darbn¡H$s Zmhr

1) Which of the following carbon isotopes is used to determine the age of the objects of plant or

animal origin ?

1) C - 12 2) C - 13 3) C - 14 4) None of the above

2) Imbrbn¡H$s Z¡g{J©H$ I{ZO ’$m`~a H$moUVo ?
1) H$mM 2) Zm`bm°Z 3) A°ñ~oñQ>mog 4) aò m°Z

2) Which of the following is a natural mineral fiber ?

1) Glass 2) Nylon 3) Asbestos 4) Rayon

3) H$erMr {df~mYm earamVrb ’o$amo{MboQ>oO {dH$a {ZpîH«$` H$ê$Z bmohmMr {Z{‘©Vr H$‘r H$aVo ?
1) {ego 2) Amg}{ZH$ 3) Vm§~o 4) gmo{S>`‘

3) .......... poisoning decrease haeme synthesis by inactivating ferrochelatase enzme.

1) Lead 2) Arsenic 3) Copper 4) Sodium

4) JwQ>PoQ> MmMUr hr ......... Mr ‘`m©Xm MmMUr ( limit test ) VnmgÊ¶mgmR>r dmnabr OmVo.
1) {ego  2) bmoh 3) OS> YmVy 4) Amg}{ZH$

4) Gutzeit test is used in the limit test for ..........

1) Lead 2) Iron 3) Heavy metals 4) Arsenic

5) O‘©Z {gëìha hm {‘lYmVy Imbrb YmVy§À¶m {‘lUmVyZ V¶ma hmoVmo.
1) Vm§~o, OñV, H$Wrb 2) Vm§~o, {ZHo$b, OñV 3) Vm§~o, OñV 4) Vm§~o, H$Wrb

5) German Silver is alloy of......

1) Cu, Zn, Sn 2) Cu, Ni, Zn 3) Cu, Zn 4) Cu, Sn

6) ŠbmCS> grqS>JgmR>r H$moUVo agm`Z dmnabo OmVo?
1) AgI 2) NaOH 3) NaCl 4) NH

4
OH

6) Which is the chemical used for cloud seeding ?

1) AgI 2) NaOH 3) NaCl 4) NH
4
OH
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7) S>m`PmoQ>m`PoeZ‘Ü ò, gd©gm‘mÝ`nUo dmnabo OmUmao Q>m`Q§́Q> ........... ho Amho.
1) gmo{S>`‘ Wm`mogë’o$Q> 2) gmo{S>`‘ H$m~m}ZoQ> 3) gmo{S>`‘ gë’o$Q> 4) gmo{S>`‘ Zm`QóQ>

7) In the diazotization, the most commonly used titrant is ...........

1) Sodium thiosulphate 2) Sodium carbonate

3) Sodium sulphate 4) Sodium nitrite

8) S>m`{WPmoZMm H$moUVm {dñVm[aV àH$ma {eemMr ‘`m©Xm MmMUr (limit test) VnmgÊ¶mgmR>r dmnabm OmVmo ?
1) S>m`’o${Zb H$m~m©PmoZ 2) S>m`’o${Zb Wm`moPmoZ 3) {S>’o${Zb Wm`moH$m~©PmoZ 4) {S>’o$bm‘mBZ

8) Expanded form of dithizone, which is used in the limit test for lead is :

1)  Diphenyl carbazone 2) Diphenyl thioazone

3) Diphenyl thiocarbazone 4) Diphelamine

9) gm§S>nmÊ`mMm H$Mam AZoH$ df} gVV dmnaë`mZo, O{‘ZrÀ¶m daÀ`m ^mJV ......... Mo g§M¶Z hmoD$ eH$Vo.
1) Amdí`H$ nmofH$ 2) OS> YmVy
3) ‘mVrMr CËnmXH$Vm 4) darbn¡H$s Zmhr

9) A continuous application of sewage waste over several years may result in enrichment of in the

............. top soil.

1) Essential nutrients 2) Heavy metals

3)Soil productivity 4) None of the above

10) ‘°¾o{e`‘ g§~§{YV Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV?
a) hm hmS>m§Mm KQ>H$ Amho.
b) H°$pëe`‘ Am{U nmoQ>°{e`‘À`m gm‘mÝ` M`mnM`gmR>r ho Amdí`H$ Amho
c) àm¡T>m§gmR>r XaamoO ‘°¾o{e`‘Mr Amdûm`H$Vm 340 {‘J«°/{Xdg AgÊ`mMm A§XmO Amho.
d) ‘mZdr àm¡T> earamV gw‘mao 50 J«°‘ ‘°¾o{e`‘ AgVo
n¶m©¶r CÎmao …
1) a ’$º$ 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, b, c Am{U d

10) Which of the following statements regarding magnesium is/are true ?

a) It is constituent of bones.

b) It is essential for normal metabolism of calcium and potassium

c) Daily requirement of magnesium is estimated to be 340 mg/day for adult.

d) Human adult body contains about 50 gms of magnesium

Answer Options :

1) a only 2) a and b only 3) a, b and c only 4) a, b, c and d

11) Am`moS>rZMm dmna Imbrbn¡H$s H$emÀ`m AmnËH$mbrZ {ZOªVwH$sH$aUmgmR>r Ho$bm OmD$ eH$Vmo?
a) nmUr b) {dð>m c) bKdr d) ËdMm
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U d ’$º$ 3) a, c Am{U d ’$º$ 4) a, b Am{U c ’$º$

11) Iodine may be used for emergency disinfection of which of the following ?

a) Water b) Faeces c) Urine d) Skin

Answer Options :

1) a only 2) a and d only 3) a, c and d only 4) a, b and c only
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4) g§̀ wJo
1) {H$Vr Vmn‘mZmg KQ>H$gm‘J«r OmiyZ nmoQ>©b±S> {g‘|Q> V`ma Ho$bo OmVo?

1) 250°C 2) 458°C 3) 2300°C 4) 1450°C

1) Portland Cement is produced by burning ingredients at what temperature ?

1) 250°C 2) 458°C 3) 2300°C 4) 1450°C

2) XmVm§À`m n¥ð>^mJmÀ`m ñdÀN>VogmR>r Qy>W~«eÀ`m ‘XVrZo .......... bmdbo OmVmV.
1) S>pñQ>§J nmdS>a 2) g{O©H$b nmdS>a
3) S|>{Q>{’«$gog 4) BÝgwâboeZ

2) ........... are applied with the help of a tooth brush for cleaning the surface of the teeth.

1) Dusting powder 2) Surgical powder

3) Dentifrices 4) Insufflations

3) ẁEZÀ`m YmoH$mXm`H$ dñVy§À`m dJuH$aUmZwgma, dJ© 3 agm¶Zo hr _________ AmhoV.
1) ñ’$moQ>Ho$ 2) ÁdbZerb Ðd
3) {H$aUmoËgJu gm‘J«r 4) Am°pŠgS>m`qPJ nXmW©, g|{Ð` noamoŠgmBS>

3) As per the UN classification of dangerous goods, Class 3 is _______.

1) explosives 2) flammable liquid

3) radioactive material 4) oxidising substances, organic peroxides

4) ‘w»` amgm`{ZH$ KQ>H$ åhUyZ ‘moZmoA‘mo{Z`‘ ’$m°ñ’o$Q> Agbobr H$moaS>r amgm`{ZH$ nmdS>a _______ dJm©Mr AmJ
{dPdÊ`mgmR>r dmnabr OmD$ eH$Vo.
1) A, B Am{U C 2) B Am{U C ’$º$ 3) D ’$º$ 4) A Am{U C ’$º$

4) Dry chemical powder having monoammonium phosphate as the main chemical constituent can be

used for extinguishing Class ________ fires.

1) A, B and C 2) B and C only 3) D only 4) A and C only

5) AmXe© AmJ-à{VamoYH$ gm‘J«rMo JwUY‘© ....... AmhoV
a) CîUVo‘wio Ë`mMo {dKQ>Z hmoD$ Z ò.
b) CîUVo‘wio Ë¶mMo OmñV à‘mUmV {dñWmnZ Z ò.
c) W§S> Pmë`mda Vo doJmZo AmHw§$MZ nmdbo nm{hOo.
darbn¡H$s H$moUVr {dYmZo ~amo~a/AmhoV?
1) ’$º$ (A) Am{U (§~) 2) ’$º$ (§~) 3) darb gd© 4) ¶mn¡H$s Zmhr

5) The properties of ideal fire-resisting materials are

a) It should not get disintegrated due to heat.

b) It should not expand excessively due to heat.

c) It should contract rapidly on cooling.

Which of the above statements is/are correct ?

1) Only (a) and (b) 2) Only (b) 3) All of the above 4) None of the above
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6) Am°Bb n|Q>‘Yrb ~og ......... H$m }̀ H$aVmo
a) n|Q>bm AnmaXe©H$Vm XoVo.
b) Kf©UmMm à{VH$ma dmT>dVo.
c) g§H$moMZ H«°$H$ V`ma hmoÊ`mg à{V~§Y H$aVo.
darbn¡H$s H$moUVo ’§$ŠeZ ~amo~a Amho/AmhoV?.
1) darb gd© 2) ’$º$ (a) 3) ’$º$ (a) Am{U (c) 4) ’$º$ (b)

6) A base in an oil paint performs functions such as

a) Gives opacity to the paint.

b) Increases resistance to abrasion.

c) Prevents formation of shrinkage cracks.

Which of the above function/s is/are correct ?.

1) All of the above 2) Only (a) 3) Only (a) and (c) 4) Only (b)

7) ~oqS>JMm CÔoe .............
1) Ho$~bbm AmÐ©VonmgyZ g§a{jV H$aUo
2) YmVyÀ`m AmdaUmnmgyZ J§OÊ`mnmgyZ g§ajU H$aUo
3) `m§{ÌH$ BOm nmgyZ Ho$~bMo g§ajU H$aUo
4) Am‘©[a¨Jbm dmVmdaUmVrb n[apñWVrnmgyZ g§ajU

7) The purpose of bedding is to .............

1) protect cable from moisture

2) protect metallic sheath from corrosion

3) protect cable from mechanical injury

4) protect armouring from atmospheric conditions

5) dm ỳ
1) Am°Bb g{H©$Q> ~«oH$a‘Yrb H$moUVm dm ỳ Hy$qbJ B’o$ŠQ> {Z‘m©U H$aVmo?

1) {‘WoZ 2) hm`S´moOZ 3) CO2 4) Zm`Q´moOZ
1) Which gas in an oil circuit breaker produce the cooling effect ?

1) Methane 2) Hydrogen 3) CO2 4) Nitrogen

2) ________ À`m g§nH$m©V Vob qH$dm d§JU AmJ Am{U ñ’$moQ> KS>dyZ AmUob.
1) A°{g{Q>brZ 2) g§Hw${MV Am°pŠgOZ 3) Zm`Q´moOZ 4) ho{b`‘

2) Oil or grease in contact with ______ will cause fire and explosion.

1) acetylene 2) compressed oxygen 3) nitrogen 4) helium

3) 7 ‘o 2020 amoOr Am§Y« àXoe òWo LG nm°{b‘a‘YyZ H$moUË`m dm ỳMr JiVr Pmbr?
1) A‘mo{Z`m 2) ŠbmoarZ 3) ~«mo‘mBZ 4) ñQ>m`arZ

3) Which gas leaked from LG Polymers at Andhra Pradesh on 7 May 2020?

1) Ammonia 2) Chlorine 3) Bromine 4) Styrene
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4) 3 {S>g|~a 1984 amoOr ^monmi òWo ẁ{Z`Z H$m~m©BS> B§{S>`m {b.‘YyZ H$moUË`m dm ỳMr JiVr Pmbr?
1) {‘WmBb Am`gmogm`ZoQ> 2) {‘WmBb BWmBb Ho$Q>moZ
3) ’$m°ñOrZ 4) A‘mo{Z`m

4) Which gas leaked from Union Carbide India Ltd., at Bhopal on 3 December 1984?

1) Methyl isocyanate 2) Methyl ethyl ketone

3) Phosgene 4) Ammonia

5) Imbrb dm ỳ§Mm {dMma H$am :
a) CO b) EZ

2
Amo c) grEM Am{U Amo

2
d) ŠbmoamoâbwamoH$m~©Ýg

darbn¡H$s H$moUVo h[aVJ¥h dm ỳ AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, b, c Am{U d

5) Consider the following gases

a) CO b) N
2
O c) CH and O

2
d) Chlorofluorocarbons

Which of the above are the green house gases ?

1) a only 2) a and b only 3) a,b and c only 4) a, b c and d

6) H$m~©Z S>m` Am°ŠgmB©S> dm ỳ ‘w»`V: ________ VÎdmZwgma AmJ {dPdVmo
1) W§S> hmoUo 2) ñ‘moX[a¨J 3) Cnmg‘ma 4) ~mînr^dZ

6) Carbon dioxide gas extinguishes fire mainly by _______ principle

1) cooling 2) smothering 3) starvation 4) evaporation

7) IS 15683 Zwgma H$moUVm a§JrV ~±S> H$m~©Z S>m`Am°ŠgmBS> A{¾em‘H$ §̀Ì Xe©dVmo?
1) bmb 2) {Zim 3) nm§T>am 4) H$mim

7) As per IS 15683, which coloured band denotes the carbon dioxide fire extinguisher?

1) Red 2) Blue 3) White 4) Black

6) IVo
1) H$‘r àVrÀ¶m IVm§‘Ü ò àmW{‘H$ nmofH$ KQ>H$m§Mr Q> o̧$dmar ....... AgVo.

1) 25 nojm H$‘r 2) 30 nojm H$‘r 3) 35 nojm H$‘r 4) 40 nojm H$‘r
1) The low analysis fertilizers contain percent of primary nutrients.......

1) less than 25 2) less than 30 3) less than 35 4) less than 40

2) gë’o$Q> Am°’$ nmoQ>°e‘Ü ò ...........% K AgVo.
1) 42 Vo 44 2) 44 Vo 46 3) 46 Vo 48 4) 60 Am{U Ë`mhÿZ A{YH$

2) Sulfate of potash contains ........... % K.

1) 42 to 44 2) 44 to 46 3) 46 to 48 4) 60 and above

3) {nH$mgmR>r dmnaë`m OmUmè`m amgm`{ZH$ IVm§À`m VwbZoV, Z°Zmo IVm§À¶m ‘mÌoMr JaO ......... nQ> H$‘r AgVo.
1) 40-60 2) 60-80 3) 80-100 4) 100-120

3) Nanofertilizers are having .......... times less requirement as compared to chemical fertilizers

applied to crop.

1) 40-60 2) 60-80 3) 80-100 4) 100-120
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4) Imbrbn¡H$s H$moUË`m IVm‘Ü ò A‘mBS> ñdê$nmV Zm`Q´moOZ AgVo?
1) ẁ[a`m 2) gmo{S>`‘ Zm`QóQ>
3) A‘mo{Z`‘ gë’o$Q> 4) A‘mo{Z`‘ Zm`QóQ>

4) Which of the following fertilizers contains Nitrogen in amide form ?

1) Urea 2) Sodium Nitrate

3) Ammonium Sulphate 4) Ammonium Nitrate

5)  dmna H$aÊ¶mÀ¶m EH$ ‘{hZm AJmoXa eoUIV (fym) g‘¥Õ H$aÊ`mgmR>r Ë¶mV ........ ¶mo½¶arË¶m {‘gibo OmVo.
1) gwna ’$m°ñ’o$Q> 2) ẁ[a`m
3) å ẁ[aEQ> Am°’$ nmoQ>°e 4) darb gd©

5) ......... is thoroughly mixed for enrichment of farmyard manure (fym) before one month of

application.

1) Super Phosphate 2) Urea

3) Muriate of Potash 4) All the above

6) Imbrb IVm§n¡H$s Oo g|{Ð` IV åhUyZ AmoiIbo OmVo/Vo åhUOo .........
A) A‘mo{Z`‘ Zm`QóQ> ~) H°$pëe`‘ A‘mo{Z`‘ Zm`QóQ>
H$) ẁ[a`m S>) H°$pëe`‘ gm`ZmBS>
n`m©¶r CÎmao :
1) ’$º$ A 2) A Am{U ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) H$ Am{U S> ’$º$

6) Among the following fertilisers which is/are also known as organic fertilisers ?

a) Ammonium nitrate b) Calcium ammonium nitrate

c) Urea d) Calcium cyanide

Answer options :

1) a only 2) a and b only 3) a, b and c only 4) c and d only

7) S>m`hm`SóQ> nm°brhbmBQ> ho Imbrbn¡H$s EH$ ..........Amho.
1) H$sQ>H$ZmeH$ 2) VUZmeH$ 3) IV 4) darbn¡H$s Zmhr

7) Dihydrate polyhalite is one of the following.

1) Insecticide 2) Herbicide 3) Fertilizer 4) None of the above

8) ‘¥Xm àmo’$mBb g§X^m©V, H$mhr ^mJmVrb nO©Ý` Am{U H°$pëe`‘ H$m~m}ZoQ> O‘m hmoÊ`mÀ`m à{H«$ òbm ......... Ago
åhUVmV.
1) nm°S>Pmobm`PoeZ 2) H$m~m}ZoeZ
3) H°$pëe{’$Ho$eZ 4) {S>H°$pëe{’$Ho$eZ

8) Process of precipitation and accumulation of calcium carbonate in some part of the profile is

termed as ..........

1) Podzolization 2) Carbonation

3) Calcification 4) Decalcification
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9) O{‘ZrV ‘mo~mB©b nmofH$ Am`Z AgVmV

n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, b, c Am{U d

9) Mobile nutrient ions in soil are

Answer Options :

1) a only 2) a and b only 3) a, b and c only 4) a, b, c and d

7) Amåb, {dH$ao, AëH$br, nrEM
1) H$R>rU Am{U ‘¥Xy - Amåb Am{U AëH$br ¶m g§km H$moUr {Xë¶m ?

1) ~«m°ÝñQ>oS> 2) bo{dg 3) {n`g©Z 4) ’«±$H$crZ
1) The terms Hard and Soft — Acids and Bases were given by :

1) Bronsted 2) Lewis 3) Pearson 4) Franklin

2) 0.10 M Ocr¶ HCl ÐmdUmMm pH H$mT>Ê¶mgmR>r Imbrbn¡H$s H$moUVm J{UVr¶ g§~§Y dmnamdm?
1) pH = log

10
 (1.0 x 10-1) 2) pH = log

10
 (1.0 x 101)

3) pH = - log
10

 (1.0 x 10-1) 4) pH = - log
10

 (1.0 x 101)

2) Which of the following mathematical relationships should be used to calculate the pH of a 0.10M

aqueous HCl solution ?

1) pH = log
10

(1.0 x 10-1) 2) pH = log
10

(1.0 x 10-1)

3) pH = - log
10

(1.0 x 10-1) 4) pH = -log
10

(0.10 x 101)

3) bmoh ‘`m©Xm MmMUr‘Ü ò, Imbrbn¡H$s H$moUVo g§̀ wJ ho bmohmMo ’o$ag hm`S´m°ŠgmB©S> ñdénmVrb ào{g{nQ>oeZ H$aÊ¶mg
à{V~§{YV H$aVo.
1) A‘mo{Z`m 2) Wm`mo½bm`H$m°{bH$ A°{gS>
3) gm¡å¶ hm`S´moŠbmo[aH$ A°{gS> 4) gm`{Q´H$ A°{gS>

3) In the limit test for iron, the following compound helps to prevent the precipitation iron as ferrous

hydroxide.

1) Ammonia 2) Thioglycollic acid

3) Dilute Hydrochloric acid 4) Citric acid
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4) gm¡å¶ Amåbr¶ Am{U AëH$br‘Ü¶o A{dÐmì¶ Agbobr AKwbZerb g§aMZmË‘H$ Am{U g§ajUmË‘H$ à{WZo .......
1) àmobm‘mBÝg 2) ½bmoã ẁ{bZ
3) ñŠboamoàmoQ>rÝg 4) A°ëã ẁ{‘Z

4) ........... are dilute acid and alkali insoluble structural and protective proteins.

1) Prolamines 2) Globulins

3) Scleroproteins 4) Albumins

5) ’$im§À`m agm§Mo ³bo[a{’$Ho$eZ/ñdén .......... À¶m à‘mUmÛmao Vnmgbo OmVo
1) àmo{Q>EO 2) nopŠQ>ZoO 3) bm¶noO 4) goë ẁboO

5) The clarification of fruit juices is carried out by ...........

1) Proteases 2) Pectinases 3) Lipases 4) Cellulases

6) Imbrb {dYmZm§n¡H$s H$moUVo/`mo½`/AmhoV?
A) ‘moZmoH°$pëe`‘ ’$m°ñ’o$Q> ho nmÊ`mV {daKiUmao ’$m°ñ’$mo[aH$ A°{gS> Amho.
~) {S>H°$pëe`‘ ’$m°ñ’o$Q> ho gm`{Q´H$ A°{gS> {daKiUmao ’$m°ñ’$mo[aH$ A°{gS> Amho.
H$) Q´m`H°$pëe`‘ ’$m°ñ’o$Q> ho AKwbZerb ’$m°ñ’$mo[aH$ A°{gS> Amho.
S>) gwna ’$m°ñ’o$Q>, {Q´nb gwna ’$m°ñ’o$Q> Am{U A‘mo{Z`‘ ’$m°ñ’o$Q>‘Ü ò ’$m°ñ’$mo[aH$ A°{gS>À`m CnbãY ñdê$nmV P

AgVmo.
n`m©¶r CÎmao :
1) ’$º$ A 2) ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) A, ~, H$ Am{U S>

6) Amongst the following statement/s which is/are correct ?

a) Monocalcium phosphate is water soluble phosphoric acid.

b) Dicalcium phosphate is citric acid soluble phosphoric acid.

c) Tricalcium phosphate is insoluble phosphoric acid.

d) Super phosphate, triple super phosphate and ammonium phosphate contain P in the available

form of phosphoric acid.

Answer options :

1) a only 2) b only 3) a,b and c only 4) a, b, c and d
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(4) amgm`{ZH$ A{^{H«$`m, g|{Ð` agm`Zemó - hm`ŚmoH$m~©Ýg,
H$sQ>H$ZmeHo$, B§YZ

1) amgm`{ZH$ A{^{H«$`m
2) g|{Ð` agm`Zemó - hm`ŚmoH$m~©Ýg
3) {dfmar agm¶Zo, H$sQ>H$ZmeHo$
4) B§YZo

1) amgm`{ZH$ A{^{H«$`m
1) hm`S´mo{b{gg hr amgm`{ZH$ hdm‘mZmMr ‘w»` à{H«$`m ‘mZbr OmD$ eH$Vo. KAISi3Og, ho amgm`{ZH$ gyÌ Agboë`m

Am°Wm}ŠboPÀ`m hm`S´mo{b{ggMr à{V{H«$`m .......... Amho.

1)

2)

3)

4)

1) Hydrolysis may be considered as the main process of chemical weathering. The reaction for the

hydrolysis of orthoclase, which has the chemical formula KAISi3Og, is ..........

1)

2)

3)

4)

2) gmR>dUwH$sXaå`mZ dobMrMm {hadm a§J {Q>H$dyZ R>odÊ`mgmR>r Imbrbn¡H$s H$moUVr à{H«$¶m gdm}Îm‘ Amho?
1) {hadr (Amobr) dobMr 2.0% gmo{S>`‘ H$m~m}ZoQ>‘Ü ò 10 {‘{ZQ>o {^OV R>odUo.
2) {hadr (Amobr) dobMr 2.0% gmo{S>`‘ H$m~m}ZoQ>‘Ü ò 20 {‘{ZQ>o {^OV R>odUo
3) {hadr (Amobr) dobMr 2.0% nmoQ>°{e`‘ H$m~m}ZoQ>‘Ü ò 10 {‘{ZQ>o {^OdyZ R>odUo
4) {hadr (Amobr) dobMr 2.0% nmoQ>°{e`‘ H$m~m}ZoQ>‘Ü ò 20 {‘{ZQ>o {^OV R>odUo

2) For retention of green colour of cardamom during storage, which of the following treatment is

found best ?

1) Soaking green (wet) cardamom in 2.0% sodium carbonate for 10 minutes

2) Soaking green (wet) cardamom in 2.0% sodium carbonate for 20 minutes

3) Soaking green (wet) cardamom in 2.0% potassium carbonate for 10 minutes

4) Soaking green (wet) cardamom in 2.0% potassium carbonate for 20 minutes

3) ídgZOÝ¶ AëH$bmo{ggMr d¡{eï²> ò ............. hr AmhoV.
1) pH H$‘r, HCO

2
 H$‘r, PaCO

2
 H$‘r 2) pH dmT>bm, HCO

3
 dmT>bm, PaCO

2
 dmT>bm

3) pH dmT>bo, HCO
3
 H$‘r, PaCO

2
 H$‘r 4) pH H$‘r, HCO

3
 dmT>bo, PaCO

2
 dmT>bo
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3) Features of respiratory alkalosis are .......

1) pH low, HCO
2
 low, PaCO

2
 low 2) pH raised, HCO

3
 raised, PaCO

2
 raised

3) pH raised, HCO
3
 low, PaCO

2
 low 4) pH low, HCO

3
 raised, PaCO

2
 raised

4) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) {dH$ao ho g|{Ð¶ CËàoaH$ AmhoV, Oo O¡damgm¶{ZH$ A{^{H«$¶m§Zm JVr XoVmV.
~) {dH$ao à{WZmnmgyZ ~Zbobr AgVmV.
H$) {dH$am§Mr {H«$¶merbVm Vmn‘mZmda Adb§~yZ ZgVo.
S>) A‘m¶boO ho {dH$a ñQ>mM©da H$m¶© H$aVo.
n¶m©¶r CÎmao …
1) A Am{U ~ 2) A, H$ Am{U S> 3) A, ~ Am{U S> 4) darb gd©

4) Which of the following statement/s is/are correct ?

a) Enzymes are organic catalyst that accelerate biochemical reaction.

b) Enzymes are made up from proteins.

c) Enzyme activity is not depends upon temperature.

d) Amylase is an enzyme that act on starch.

Answer Options :

1) a and b 2) a, c and d 3) a, b and d 4) all the above

5) h°~a à{H«$ òÛmao A‘mo{Z`mMo Am{W©H$Ñï²>`m nadS>Umao CËnmXZ H$aVmZm ...... ho CËàoaH$ dmnabo OmVo:
1) ßb°{Q>ZmBÁS> Eñ~oñQ>mog 2) bmoh 3) H$m°na Am°ŠgmB©S> 4) {ZHo$b

5) Manufacturing of Ammonia by Haber process uses the following suitable catalyst economically:

1) Platinized asbestos 2) Iron 3) Copper oxide 4) Nickel

6) NFPA Zwgma, BLEVE Mo nyU© ê$n H$m` Amho?
1) ~m°̀ ba H$‘r {dñVma H$aUmao dmîn ñ’$moQ>
2) ~m°̀ ba H$‘r {dñ’$moQ>H$ ‘hÎdnyU© CnH$aUo
3) CH$iË`m nmVirÀ`m g‘Vwë` OmoaXma ñ’$moQ>
4) CH$iË`m ÐdmMm {dñVma H$aUmao ~mîn ñ’$moQ>

6) As per NFPA, what is the full form BLEVE?

1) Boiler Low Expanding Vapor Explosion

2) Boiler Less Exploding Vital Equipment

3) Boiling Level Equivalent Vigorous Explosion

4) Boiling Liquid Expanding Vapor Explosion

7) {H«$ñQ>b ìhm`moboQ> (CV) Obr` ÐmdUmV {daKiVo d CV+ Am{U .......... Mr {Z{‘©Vr hmoVo.
1) ŠbmoamB©S> Am`Z 2) Am`moS>mBS> Am`Z 3) âbmoamB©S> Am`Z 4) ~«mo‘mBS> Am`Z

7) Crystal violet (CV) dissociates in aqueous solutions to form CV+ and ..........

1) Chloride ion 2) Iodide ion 3) Fluoride ion 4) Bromide ion
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8) S°́JZS>m°’©$ hm [aEO§Q>/A{^H$‘©H$ ........... Mo ÐmdU Amho.
1) nmoQ>H°${eA‘ ‘Š ẁ©[aH$ Am`moS>mBS> 2) ’$m°ñ’$moQ>§JpñQ>H$ E°{gS>
3) g§V¥á {nH$[aH$ E°{gS> 4) nmoQ>°{e`‘ {~ñ‘W Am`moS>mBS>

8) Dragendorff reagent is a solution of ...........

1) Potqassium mercuric iodide 2) Phosphotungstic acid

3) Saturated Picric acid 4) Potassium Bismuth iodide

9) AëH$mBb ~|{PZ gë’$moZoQ>À`m Q>{‘©Zb {‘WmBb JQ>mMo M`mnM`Z ho .......... A{^{H«$¶oÛmao hmoVo.
1) MH«$s` H|$ÐH$m§Mm èhmg 2) α - Am°pŠgS>oeZ
3) β - Am°ŠgrH$aU 4)ω - Am°ŠgrH$aU

9) The terminal methyl group of alkyl benzene sulphonates are metabolized by ..........

1) degradation of the cyclic nuclei 2) α - oxidation

3) β - oxidation 4) ω - oxidation

10) H$m`m©Ë‘H$ E§PmB‘bm ........... Ago g§~moYbo OmVo.
1) AnmoEÝPmB‘ 2) H$moEÝPmB‘ 3) hmobmoEÝPmB‘ 4) àmoEÝPmB‘

10) The functional enzyme is referred to as ...........

1) Apoenzyme 2) Coenzyme 3) Holoenzyme 4) Proenzymes

11) EH$M A{^{H«$`m CËàoaH$ H$aUmè`m E§OmB‘À`m AZoH$ àH$mam§Zm ......... Ago åhUVmV.
1) H$mo-E§PmB‘ 2) Am`gmoEÝPmB‘
3) S>m`¾mopñQ>H$ E§PmB‘ 4) A°bmoñQ>o[aH$ E§PmB‘

11) Multiple form of an enzyme catalyzing the same reaction is termed as ...........

1) Co-enzyme 2) Isoenzyme

3) Diagnostic enzyme 4) Allosteric enzyme

2) g|{Ð` agm`Zemó - hm`ŚmoH$m~©Ýg
1) Imbrbn¡H$s H$moUVr g§¶wJo àH$mer¶ {H«$¶merbVm XmIdVmV?

n¶m©¶r CÎmao …
1) ’$º$ A Am{U B 2) ’$º$ A Am{U C 3) ’$º$ B Am{U C 4) darb gd©
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1) Which of the following compounds will show optical activity ?

1) Only A and B 2) Only A and C 3) Only B and C 4) All of the above

2) Imbrbn¡H$s H$moUË¶m hm¶S´>moH$m~©Z‘Ü¶o 80% Q> o̧$ H$m~©Z AgVmo?
(H = 1, C = 12)

1) ~|PrZ 2) {‘WoZ 3) BWoZ 4) gm¶³bmoho³PoZ
2) Which of the following hydrocarbon has 80% carbon ?

(H=1,C=12)

1) Benzene 2) Methane 3) Ethane 4) Cyclohexen

3) g§¶wJ 'A' Mo Obr¶ AnKQ>Z (VrZ H
2
O dmnê$Z) ¶mo½¶ n[apñWVrV Ho$bo AgVm EH$ ½bwH$moO EH$H$, EH$ ’«$w³Q´>moO

EH$H$ Am{U XmoZ J°b°³Q>moO EH$H$ V¶ma hmoVmV, Va 'A' Mo aoUwgyÌ ...... ho Amho.

1) 2) 3) 4) 

3) The compound ‘A’ undergoes hydrolysis (Using three H,0) under appropriate conditions to form

a unit of glucose, a unit of fructose and two units of galactose. The molecular formula of the

compound ‘A’ is

1) 2) 3) 4) 

4) Imbrb g§¶wJmg§X^m©V AMyH$ n¶m©¶ emoYm :

g§¶wJ  åhUOoM 

1) AëS>moQ´>m¶moO, EH$ H$m~m}XH$ Amho. 2) S>m¶hm¶S´>m°p³g Q´>m¶moO, EH$ H$m~m}XH$ Amho.
3) {H$Q>moQ´>m¶moO, EH$ H$m~m}XH$ Amho. 4) EH$ H$m~m}XH$ Zmhr.
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4) Choose the correct option with respect to following compound :

The compound  i.e. 

1) Aldotriose, a carbohydrate 2) Dihydroxy triose, a carbohydrate

3) Ketotriose, a carbohydrate 4) Not a carbohydrate

5) aò m°Z ho qgWo{Q>H$ V§Vy§nojm doJio Amho H$maU:
1) ho aoer‘Mo Xwgao Zmd Amho
2) bmH$S>mÀ`m bJÚmnmgyZ amgm`{ZH$ à{H«$`m H$ê$Z Vo {‘iVo.
3) ho EH$ Z¡g{J©H$ ’$m`~a Amho Am{U Vo OgoÀ`m Vgo dmnabo OmVo.
4) darbn¡H$s H$mhrhr Zmhr

5) Rayon is different from synthetic fibres because :

1) It is the other name of silk

2) It is obtained from wood pulp by chemical treatment.

3) It is a natural fibre and used as it is.

4) None of the above

6) ...... dJiVm 3D qàqQ>J‘Ü ò hr gd© nm°{b‘g© dmnmabr OmVmV.
1) ApëOZoQ> 2) nm°bràm°{nbrZ 3) H$moboOZ 4) {ga°{‘H$

6) Polymers used in 3D printing are all except

1) Alginate 2) Polypropylene 3) Collagen 4) Ceramic

7) Imbrb hm¶S´>moH$m~©Z g§¶wJmV à{Vq~{~ê${nVm§À¶m ...... OmoS>çm AmhoV.

1) {H$Q>moho³gmoO, 4 2) {H$Q>moho³gmoO, 8 3) AëS>moho³gmoO, 4 4) AëS>moho³gmoO, 8
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7) The compound , is a ........... and ........... has pairs of optical isomers.

1) Ketohexose, 4 2) Ketohexose, 8 3) Aldohexose, 4 4) Aldohexose, 8

8) Imbrbn¡H$s H$moUVm n¶m©¶ g§¶wJo 'A' Am{U '~' À¶m ~m~VrV AMyH$ Amho?

1) A Am{U ~ hr ’$º$ EH$‘oH$m§Mr à{Vq~{~ê${nVo AmhoV.
2) A Am{U ~ hr ’$º$ EH$‘oH$m§Mr {H«$¶mË‘H$ JQ> g‘gyÌr AmhoV.
3) A Am{U ~ hr EH$‘oH$m§Mr à{Vq~{~ê${nVo Am{U {H«$¶mË‘H$ JQ> g‘gyÌr AmhoV.
4) A Am{U ~ hr EH$‘oH$m§Mr à{Vq~{~ê${nVo Zmhr Am{U {H«$¶mË‘H$ JQ> g‘gyÌrhr ZmhrV.

8) Which of the following option is correct about compounds A and B ?

1) A and B are only optical isomers of each other

2) A and B are only functional isomers of each other

3) A and B are optical as well as functional isomers of each other

4) A and B are neither optical nor functional isomers of each other

3) {dfmar agm¶Zo, H$sQ>H$ZmeHo$
1) Imbrbn¡H$s H$moUVm dm¶y hm ’w$â’w$gmbm KmVH$ Agë¶mZo Vmo {dfmar Amho?

1) H$m~©Z ‘moZmoAm°ŠgmBS> 2) H$m~©Z S>m`Am°ŠgmBS>
3) hm`S´moOZ gë’$mBS> 4) ho{b`‘

1) Which among the following is a respiratory irritant type of asphyxiant poison ?

1) Carbon monoxide 2) Carbon dioxide

3) Hydrogen sulfide 4) Helium
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2) {dfmar agm¶Zo, Or Ë`m§À`m dm ỳ AdñWoV ídmgZ{bHo$Ûmao H$sQ>H$m§‘Ü ò àdoe H$aVmV Am{U H$sQ>H$m§À`m àOmVtZm
‘maVmV, Ë¶m§Zm ........... Ago åhUVmV:
1) g§nH©$ {df 2) â ẁ{‘J§Q> 3) nmoQ>mVrb {df 4) darbn¡H$s H$moUVohr Zmhr

2) The toxicant, which in its gaseous state penetrates insect through the tracheal system and kills the

pest species is said tobe a :

1) Contact poison 2) Fumigant 3) Stomach poison 4) None of the above

3) ’$m°‘©pëS>hmBS> {df~mYoàg§Jr amgm¶{ZH$ {ZpîH«$¶Vm gmÜ¶ H$aÊ¶mgmR>r, Oa CnMmamXaå¶mZ A‘mo{Z`m dmnabm Va
......... Mr {Z{‘©Vr hmoVo.
1) n|Q>m{WbrZ hoŠgm‘mBZ 2) hoŠgm‘o{WbrZ Q>oQ´m‘mBZ
3) Q>oQ´m{WbrZ Q´m`‘mBZ 3) S>m`{WbrZ Q´m`‘mBZ

3) During the chemical inactivation of formaldehyde poisoning, treatment with ammonia produces

.........

1) Pentaethylene hexamine 2) Hexamethylene tetramine

3) Tetraethylene triamine 3) Diethylene triamine

4) Am¡fYr Jmoù`m§Mo ñdê$n gwYmaÊ`mgmR>r, J«°Ý ẁëgMo àdmh JwUY‘© gwYmaÊ`mgmR>r Am{U S>mB©O Am{U n§Mog‘Ü ò gm‘J«r
{MH$Qy> Z ò `mgmR>r ........... OmoS>bo OmVmV.
1) {dKQ>Z H$aUmao KQ>H$ 2) ñZohH$
3) ~§YZH$maH$ KQ>H$ 4) gm¡å`

4) ........... are added to improve the appearance of tablets, flow properties of granules and to prevent

the sticking of the materials to the dies and punches.

1) Disintegrating agents 2) Lubricants

3) Binding agents 4) Diluent

4) B§YZo
1) ........ ho B§YZ OdiOdi nyU©nUo {‘WoZnmgyZ ~Zbobo Agbo Var Ë`mV BWoZ, àmonoZ, ã ẁQ>oZ Am{U n|Q>oZ ¶m dm ỳ§Mo

g§{‘lU AgVo.
1) Z¡g{J©H$ dm ỳ 2) BZQ>©J°g 3) {ZAm°Z dm ỳ 4) PoZm°Z dm ỳ

1) ...... is composed almost entirely of methane although it does contain small amounts of other

gases, which are ethane, propane, butane and pentane.

1) Natural gas 2) Inertgas 3) Neon gas 4) Xenon gas

2) EH$ {bQ>a B§YZ dmnaë¶mg {S>Pob OZaoQ>a‘wio......... dm¶yMo CËgO©Z hmoVo.
1) 0.7 {H$bmo CO2 2) 1 {H$bmo CO2 3) 1.7 {H$bmo CO2 4) 2.7 {H$bmo CO2

2) One litre of fuel consumed by a diesel generator produces an average of :

1) 0.7 kg of CO2 2) 1 kg of CO2 3) 1.7 kg of CO2 4) 2.7 kg of CO2



‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 58

For Private Circulation Only

(5) noer{dkmZ d M¶mnM¶Z, àmÊ`m§Mo dJuH$aU, àmUr eara{dkmZ
1) {dfmUy d OrdmUy
2) noerKQ>H$ d noer{d^mOZ
3) AZwdm§{eH$Vm d gOrd CËH«$m§Vr
4) M¶mnM¶Z
5) OZwH$s¶ V§ÌkmZ, O¡dV§ÌkmZ
6) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo
7) àmUr eara{dkmZ

1) {dfmUy d OrdmUy
1) Imbrbn¡H$s H$moUVr {dYmZo ‘mH$S>-Am°Šg {dfmUy~Ôb gË` AmhoV?

a) hm Xwhoar Ym½¶m§Mm S>rEZE ìhm`ag Amho.
b) hm Am°Wm}nm°Šgìhm`ag d§emer g§~§{YV Amho.
c) hm ‘mUgmH$Sy>Z ‘mUgmV g§H«${‘V hmoV Zmhr.
d) g§H«${‘V ì`º$sÀ`m Vido Am{U Vido gm‘mÝ`V… nwai {XgVmV.
n¶m©¶r CÎmao …
1) a, b, c 2) a, c, d 3) b, c, d 4) a, b, d

1) Which of the following statements are true about monkey-ox virus ?

a) It is a double stranded DNA virus.

b) Belongs to Orthopoxvirus genus.

c) Not transmitted from human to human.

d) Palms and soles of infected person commonly show rash.

Answer Options :

1) a, b c 2) a, c, d 3) b, c, d 4) a, b, d

2) Ý ỳpŠbH$ A°{gS> Zgboë`m gdm©V bhmZ g§gJ©OÝ` à{WZ H$Um§Zm åhUVmV
1) ìhm`[a`Ýg 2) {àAm°Ýg 3) `rñQ> 4) {OdmUy

2) The smallest infectious protein particle devoid of nucleic acid are called as

1) Virions 2) Prions 3) Yeast 4) Bacterie

3) ............... ho nm°{P{Q>ìh qgJb-ñQ±́S>oS> RNA Mo EH$ CXmhaU Amho.
1) a°~S>moìhm`ag 2) n°am{‘Šgmoìhm`ag 3) Am°Wm}‘m`Šgmoìhm`ag 4) nmo{bAmoìhm`ag

3) .............. is an axample of Positive single-stranded RNA.

1) Rhabdovirus 2) Paramyxovirus 3) Orthomyxovirus 4) Poliovirus

4) ~°ŠQ>o[a`mÀ`m 'dmT>rÀ`m dH«$' ‘Ü ò b°J ’o$O/A§VamMm Q>ßnm H$m¶ Xe©dVo:
1) nmVir ~§X H$aUo 2) noetÀ`m AmH$mamV dmT> 3) dmT>rMm Xa 4) ‘¥Ë ỳ

4) In bacterial growth curve the lag phase represents :

1) Levelling off 2) Increase in cell size 3) Growth rate 4) Death
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5) Imbrbn¡H$s H$moUË¶m {OdmUy§Mo ñnmoAg© ho CËH$bZmg à{VgmX XoV ZmhrV ?
1) ñQóßQ>moH$moH$g 2) ñ ỳS>mo‘moZmg 3) ~°{gbg 4) Eeo[a{M`m H$mobmB©

5) One among the following spores resist boiling ....

1) Streptococus 2) Pseudomonas 3) Bacillus 4) Escherichia coli

6) Prb ZoëgZ ho ñQ>oZ ......... AmoiIÊ`mgmR>r dmnaVmV.
1) B©.H$mobr 2) ‘m`H$mo~°ŠQ>o[a`m 3) gmë‘moZobm 3) ñ ỳS>mo‘moZmg

6) Ziehl-Neelsen stain is used to identify ..........

1) E.Coli 2) Mycobacteria 3) Salmonella 3) Pseudomonas

7) ñQ>oZ Z Pmbobo OrdmUy ........... Ûmao ‘moObo OmD$ eH$VmV.
1) ’o$O-H$m°ÝQ´mñQ> ‘m`H«$moñH$mon 2) E{nâbmoaogoÝg
3) H§$nmD$§S> bmBQ> ‘m`H«$moñH$mon 4) Q>{~©{S>‘rQ>a

7) Unstained bacteria can be counted using ...........

1) Phase-contrast microscope 2) Epifluorescence

3) Compound light microscope 4) Turbidimeter

8) A°boŠPm§S>a âboq‘J ̀ m§Zr ~°ŠQ>o[a`mÀ`m noQ´r{S>eda dmT>Umam gmMm ~°ŠQ>o[a`mÀ`m Sw>pßbHo$eZbm à{V~§{YV Ho$ë`mMo bjmV
Ambo, Ë`m§Zr AmoiIbo H$s gmMm {OdmUy Zï> H$ê$ eH$Umao goë’$ {S>’o$Ýg Ho${‘H$b V`ma H$aVo, ho dfm©Vrb n{hbo
à{VO¡{dH$ no{Z{g{bZ Amho.
1) 1828 2) 1945 3) 1928 4) 1857

8) Alexander Fleming noticed the mould growing on a petridish of bacteria preventing the duplication

of bacteria, he identified that mould produced self defence chemical that could kill bacteria, is

the first antibiotic penicillin in the year

1) 1828 2) 1945 3) 1928 4) 1857

2) noerKQ>H$ d noer{d^mOZ
1) 1901 ‘Ü ò Q>r. EM. ‘m°J©Z `m§Zr nwZO©Ý‘mÛmao {OdmV {dH${gV hmoÊ`mMr noetMr j‘Vm Xe©{dÊ`mgmR>r hm eãX V`ma

Ho$bm.
1) «̂yUOZZ 2) Q>mo{Q>nmoQ>oÝgr 3) ‘ëQ>rnmoQ>oÝgr 4) darbn¡H$s Zmhr

1) In 1901 T. H. Morgan coined the term to denote the capacity of cell to develop into an organism

by regeneration is called as

1) Embryogenesis 2) Totipotency 3) Multipotency 4) None of the above

2) S>rEZE g§íbofU gob gm`H$bÀ`m ............ Q>ßß`mV hmoVo.
1) M ’o$O 2) M 1 ’o$O 3) S ’o$O 4) G ’o$O

2) DNA synthesis occurs during the ............ phase ofthe cell cycle.

1) M Phase 2) M 1 Phase 3) S Phase 4) G Phase
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3) ‘m`Q>mo{gg‘Ü ò, gdm©V H$‘r H$mbmdYr Amdûm`H$ Agbobm Q>ßnm Amho
1) àmo’o$g 2) ‘oQ>m’o$g 3) A°Zm’o$g 4) Q>obmo’o$g

3) In mitosis, the phase which requires shortest duration is

1) Prophase 2) Metaphase 3) Apaphase 4) Telophase

4) {‘Amo{ggÀ¶m Q>ßß¶m§Mm ¶mo½¶ H«$‘ H$moUVm Amho ?
1) boßQ>mo{Q>Z, n°Mr{Q>Z, Pm¶Jmo{Q>Z, {S>ßbmo{Q>Z, S>m¶H$m¶Zo{gg
2) boßQ>mo{Q>Z, S>m¶H$m¶Zo{gg, n°Mr{Q>Z, {S>ßbmo{Q>Z, Pm¶Jmo{Q>Z
3) boßQ>mo{Q>Z, Pm¶Jmo{Q>Z, n°Mr{Q>Z, {S>ßbmo{Q>Z, S>m¶H$m¶Zo{gg
4) S>m¶H$m¶Zo{gg, {S>ßbmo{Q>Z, n°Mr{Q>Z, Pm¶Jmo{Q>Z, boßQ>mo{Q>Z

4) Which of the correct order of phases of meiosis ?

1) Leptotene, Pachytene, Zygotene, Diplotene, Dinkinesis

2) Leptotene, Diakinesis, Pachytene, Diplotene, Zygotene

3) Leptotene, Zygotene, Pachytene, Diplotene, Diakinesis

4) Diakinesis, Diplotene, Pachytene, Zygotene, Leptotene

5) Imbrbn¡H$s EH$ ẁHo$[a`moQ²g‘Ü ò ApñVÎdmV ZgVo.
1) dVw©imH$ma JwUgyÌ 2) JmoëJr CnH$aU
3) E§S>moßbmpÁ‘H$ ao{Q>Š ẁb‘ 4) ‘mBQ>moH$m°pÝS´̀ m

5) One among the following is absent in eukaryotes....

1) Circular chromosome 2) Golgi Apparatus

3) Endoplasmic reticulum 4) Mitochondria

3) AZwdm§{eH$Vm d gOrd CËH«$m§Vr
1) ............ àË òH$ 500 Ý ỳpŠb`moQ>mBS²g‘Ü ò EH$Xm qH$dm à{V OrZmo‘ gw‘mao 107 doim CØdVo.

1) ~hþê$nVm 2) AZwdm§{eH$ CËn[adV©Z
3) S>rEZEMr nwZa©MZm 4) à{WZo CËnmXZ

1) ............... occurs once in every 500 nucleotides or about 107 times per genome.

1) Polymorphism 2) Genetic mutation

3) Rearrangement of DNA 4) Protein production

2) nyaH$ OZwH$ {H«$`m åhQ>ë`m OmUmè`m OZwH$m§À`m nañnag§dmXmMm àH$ma `mMo JwUmoÎma XoVmo
1) 9:3:3:1 2) 15:1 3) 9:7 4) 9:3:4

2) The type of gene interaction called supplementary gene action gives the ratio of

1) 9:3:3:1 2) 15:1 3) 9:7 4) 9:3:4

3) gemVrb H$moQ> a§J Am{U ‘mUgmVrb aº$JQ> hr `mMr CÎm‘ CXmhaUo AmhoV:
1) qbJ-g§~§{YV dmagm 2) nm°brOo{ZH$ dmagm 3) BZho[aQ>ÝgMm {Z`‘ 4) ‘pëQ>nb Ebrb

3) Coat colour in Rabbit and Blood groups in Man are the best examples of :

1) Sex-linked Inheritance 2) Polygenic Inheritance

3) Law of Inheritance 4) Multiple alleles
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4) Bï> Am{U A{Zï> gOrdm§Mr {ZdS> H$aÊ`mV ‘XV H$ê$Z AkmV ñQ>m°H$‘YyZ Iao ñQóZ {‘i{dÊ`mMr gdm}Îm‘ nÕV H$moUVr
Amho?
1) àOZZm‘Ü ò 2) AmCQ> H«$m°qgJ 3) {H«$g H«$m°qgJ 4) H«$m°g {~«qS>J

4) Which is the best method of getting true strains from unknown stock by helping selection of

desirable and calling of undesirable individuals ?

1) In breeding 2) Out crossing 3) Criss crossing 4) Cross breeding

5) na§namJV BZ~«oS> aofm§nojm Xwhoar h°ßbm°BS> aofm§Mm ’$m`Xm
1) {nT>çmZ{nT>çm A{^ì`º$s‘Ü ò pñWa Amho. 2) n[adV©ZerbVm {Z‘m©U H$aVo.
3) hoQ>oamo{gg Xe©dVo. 4) gdm}Îm‘ ‘m°’$m}bm°{OH$b ‘mH©$a Amho.

5) The advantage of double haploid lines over conventional inbred lines ..........

1) is stable in expression over generations. 2) creates variability.

3) shows heterosis. 4) is the best morphological marker.

4) M¶mnM¶Z
1) .......... hr Ho$Q>moOoZo{gggmR>r àma§{^H$ gm‘J«r Amho.

1) E{gQ>mBb grAmoE 2) E{gQ>moEgrQ>oQ>
3) EgrQ>mo-E{gQ>mBb grAmoE 4) EgrQ>mo’o$ZmoZ

1) ............... is the starting material for ketogenesis.

1) Acetyl CoA 2) Acetoacetate

3) Aceto-acetyl coA 4) Acetophenone

2) Aë’$m A{‘Zmo ~rQ>m {’$ZmBb àmo{n`mo{ZH$ E°{gS> ........ Amho.
1) Q>m`amo{gZ 2) ’o${Zb°bm{ZZ 3) A°bmZmBZ 4) ½bmB{gZ

2) Alpha amino beta phenyl propionic acid is ..........

1) Tyrosine 2) Phenylalanine 3) Alanine 4) Glycine

3) Ooìhm Q>rgrE gm`H$bMo H$mhr ‘Ü`dVu ~m`moqgWo{Q>H$ ‘mJmªgmR>r nyd©gyMH$ åhUyZ H$m‘ H$aÊ`mgmR>r didbo OmVmV,
Voìhm Q>rgrE MH«$ Ago åhUVmV.
1) H°$Q>m~m°{bH$ ‘mJ© 2) A°Zm~m°{bH$ ‘mJ©
3) C^`Ma ‘mJ© 4) darbn¡H$s Abr

3) When some intermediates of TCA cycle are diverted to serve as precursors for biosynthetic

pathways, the TCA cycle is often called as

1) Catabolic pathway 2) Anabolic pathway

3) Amphibolic pathway 4) Ali of the above

4) NADPH Mr {Z{‘©Vr n|Q>moO-’$m°ñ’o$Q> ‘mJm©‘Ü ò hmoVo.........
1) ß ẁ[aZ g§ícofU 2) S>rEZE g§ícofU 3) AmaEZE g§ícofU 4) ’°$Q>r A°{gS> g§ícofU

4) NADPH is produced in pentose-phosphate pathway is used in ..........

1) Purine synthesis 2) DNA synthesis 3) RNA synthesis 4) Fatty acid synthesis
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5) OZwH$s¶ V§ÌkmZ, O¡dV§ÌkmZ
1) EÝPm¶‘Mo precursors / AJ«boIm .......... ho AmhoV.

A) Pm¶‘moOoÝg ~) am¶~moPmoåg H$) AmaEZE S>) à{WZo
darbn¡H$s H$moUVo n¶m©¶ / n¶m©¶o ~amo~a Amho/V?
1) ’$º$ A 2) ’$º$ ~ Am{U H$ 3) ’$º$ A Am{U H$ 4) ’$º$ S>

1) ............ are precursors of enzymes.

a) Zymogens b) Ribosomes c) RNA d) Protein

Which of the option given above is/are correct ?

1) only a 2) only b and c 3) only a and c 4) only d

2)  ............ À¶m Bbm±JoeZ Ûmao Q´>mÝgbmoHo$eZ KSy>Z Amë¶mg Ë¶mbm Q´mÝgbmoHo$g åhUVmV.
1) ’°$³Q>a - A 2) ’°$³Q>a C 3) ’°$³Q>a E 4) ’°$³Q>a G

2) Translocation brought about by elongation .......... is called as translocase.

1)  Factor A 2) Factor C 3) Factor E 4) Factor G

3) .......... hr {ZdS>boë`m DNA H«$‘ dmT>dÊ`mMr MmMUr Q>çy~ nÕV Amho.
1) nm°{b‘aoP gmIir à{V{H«$`m 2) aoS>m°Šg g§̂ mì` à{V{H«$`m
3) Am°pŠgS>oeZ à{V{H«$`m 4) KQ> à{V{H«$`m

3) .......... is a test tube method for amplifying a selected DNA sequence.

1) Polymerase chain reaction 2) Redox potential reaction

3) Oxidation reaction  4) Reduction reaction

4) {Z~ªY E§PmBågÛmao H$mnboë`m DNA VwH$S>çm§Zm doJio H$aÊ`mgmR>r Imbrbn¡H$s H$moUVr nÕV dmnabr OmVo?
1) nrgrAma 2) doñQ>Z© ãbm°qQ>J
3) Oob BcoŠQ´mo’$moao{gg 4) g|Q´râ¶wJoeZ

4) Which of the following method is used for separation of DNA fragments cut by restriction

enzymes?

1) PCR 2) Western blotting

3) Gel electrophoresis 4) Centrifugation

5) doñQ>Z© ãbm°qQ>J ............ V§ÌmV nm°brE{H«$bm‘mBS> Oob‘Ü ò BboŠQ´mo’$moaog Ho$bo OmVo Am{U Zm`Q´mogoë ẁbmoO qH$dm
Zm`bm°Z {P„rda ñWmZm§V[aV Ho$bo OmVo.
1) AmaEZE 2) S>rEZE 3) à{WZo 4) darb gd©

5) In western blotting ............ technique are electrophoresed in polyacrylamide gel and transferred

onto a nitrocellulose or nylon membrane.

1) RNA 2) DNA 3) Proteins 4) All of the above

6) [aH$m°på~Z§Q> S>rEZE V§ÌkmZmMm g‘mdoe Amho
1) gyú‘{Odm§Mr Z¡g{J©H$ j‘Vm gwYmaUo 2) Ë`m§Zm ZdrZ à{H«$`m H$aÊ`mg gj‘ ~ZdUo
3) ZdrZ j‘Vogh gyú‘Ord emoYUo 4) darb gd©
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6) Recombinant DNA technology involves

1) Improving the natural capabilities of microorganisms

2) Making them capable of novel processes

3) Discovering microorganisms with new capabilities

4) All of the above

7) D$VH$m§Mm Agm VwH$S>m, Omo Ë`mÀ`m ‘yi OmJodê$Z àË`mamo{nV Ho$bm OmVmo Am{U H¥${Ì‘ ‘mÜ`‘mV R>odbm OmVmo .......
1) gob 2) Cng§ñH¥$Vr 3) E³gßbm§Q> 4) àmW{‘H$ g§ñH¥$Vr

7) ...... is a fragment of tissue transplanted from its original site and maintained in an artificial medium.

1) Cell 2) Subculture 3) Explant 4) Primary culture

8) Q>mBn -1 àH$maMr A{Vg§doXZerbVm {H«$`m hr .......... à{VqnS>mÛmao KSy>Z ¶oVo
1) IgM 2) IgA 3)  IgG 4) IgE

8) Type I hypersensitivity reaction is mediated by .......... antibodies

1) IgM 2) IgA 3) IgG 4) IgE

9) [aìhg© Q´mÝg{H«$ßQ>ogMo OZwH$ Oo EMAm`ìhr g§gJm©À`m {ZXmZmgmR>r ‘mH©$a åhUyZ à`moJemioV Cn¶wº$ R>aVo, Vo ........
Amho.
1) Gag 2) Tat 3) Pol 4) Env

9) The gene for reverse transcriptase which act as marker for laboratory diagnosis of HIV infection

is ........

1) Gag 2) Tat 3) Pol 4) Env

10) ''bånr - àmo ìh°³grZ"" V§ÌkmZm~m~V Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho/AmhoV?
a) ICAR-NRCE B{¹$Ýg, {hñgma Am{U ICAR-IVRI BPmQ>ZJa `m§Zr Vo {dH${gV Ho$bo Amho
b) EbEgS>r {déÕ àmÊ`m§À`m amoJà{V~§YH$ bgrH$aUmgmR>r dmnabo OmVo.
c) bgrH$aUmÀ`m EH$m S>mogZ§Va EbEgS>rnmgyZ XrK©µH$mi g§ajU {‘iVo
d) ì`mdgm{`H$ CËnmXZmgmR>r IVBP nwUo `m§Zm Vo gwnyX© Ho$bo Jobo Amho
n`m©¶r CÎmao :
1) ’$º$ a Am{U d 2) ’$º$ b 3) ’$º$ c 4) ’$º$ d

10) Which of the following statement/s is/are incorrect regarding “Lumpi-Pro Vaccine” technology?

a) is developed by ICAR-NRCE equines and ICAR-IVRI Izathnagar

b) is used for the prophylactic immunization of animals against LSD

c) gives long life protection against LSD after single dose of immunization

d) is handed over for commercial production to IVBP Pune

Answer options :

1) a and d only 2) b only 3) c only 4) d only
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6) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo
1) Imbrb OmoS>çm Owidm:

a) {S>ßZmoB© i) gm`ŠbmoñQ>mo‘
b) Eboñ‘mo~«±H$s ii) ’w$â’w$gmMm ‘mgm
c) Q>o{bAmoñQ>r iii) hmS>mMm ‘mgm
d) ‘m{g©nmo~«±H$s iv) H$m{Q©>bm{JZg ‘mgo
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (iv) (iii) (i)

2) (ii) (iii) (iv) (i)

3) (i) (iv) (iii) (ii)

4) (iv) (iii) (ii) (i)

1) Match the following :

a) Dipnoi i) Cyclostomes

b) Elasmobranchii ii) Lung fish

c) Teleostei iii) Bony fish

d) Marsipobranchii iv) Cartilaginous fish

Answer options :

(a) (b) (c) (d)

1) (ii) (iv) (iii) (i)

2) (ii) (iii) (iv) (i)

3) (i) (iv) (iii) (ii)

4) (iv) (iii) (ii) (i)

2) ‘mocwñH$m dJu¶ àmUr ‘¥XþH$m¶ AgVmV. Am{U Vo Imcrc d¡{eîQ>ço YmaU H$aVmV :
A) Vo àm{Ug¥ï>r‘Yrc Xþgam gdm©V ‘moR>m dJ© Amho.
~) gd©gmYmaUnUo Vo {Ûnjr¶ g‘{‘Vr¶ AgVmV
H$) Vo ’$º$ O{‘ZrdaM amhVmV.
S>) Ë¶m§Zm ‘m§gc nm¶ AgVmV.
darcn¡H$s H$moUVo {dYmZ /{dYmZo ~amo~a AmhoV ?
1) ’$º$ A 2) A, ~ Am{U S> 3) A, ~ Am{U H$ 4) ’$º$ A Am{U ~

2) Phyllum Mollusca contains soft bodied animals characterized of :

a) They are second largest phyllum in animal kingdom

b) They are generally bilaterally symmetrical

c) They are only Terrestrial animals

d) They are having muscular foot

Which of the statements given above is/are correct ?

1) only a 2) a, b and d 3) a, b and c 4) only a and b
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3) Imbrb OmoS>çm Owidm:
a) S°́JZâbm` i) ßboH$moßQ>oam
b) {’$eâbm` ii) B’o$‘oamonoQ´m
c) ‘oâbmBO iii) Ý ỳamoßQ>oam
d) ñQ>moZâbmBO iv) AmoS>moZmQ>m
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (ii) (i) (iv)

3) (iv) (i) (iii) (ii)

4) (ii) (i) (iii) (iv)

3) Match the following :

a) Dragonflies i) Plecoptera

b) Fishilies ii) Ephemeropetra

c) Mayflies iii) Neuroptera

d) Stoneflies iv) Odonata

Answer options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (ii) (i) (iv)

3) (iv) (i) (iii) (ii)

4) (ii) (i) (iii) (iv)

4) àmW{‘H$ A{dH${gV AdñWoV OÝ‘mbm òUmè¶m ZdOmV gOrdmbm ....... Ago åhUVmV:
1) ‘oQ>mWo[a`m 2) ẁWo[a`m 3) àmoQ>moWo[a`m 4) darbn¡H$s Zmhr

4) The young are born alive but in a rudimentary undeveloped condition is known as :

1) Metatheria 2) Eutheria 3) Prototheria 4) None of the above

5) Imbrb OmoS>çm Owidm:
a) hm`S´m i) àmoQ>moPmoAm / Am{XOrd
b) Amon{bZm ii) nmo[a’o$am / ñn§O
c) gm`H$m°Z iii) A°Zo{bS>m / db¶m§{H$V
d) Hirudinaria granulosa iv) {gb|Q>oa°Q>m / Obì¶mb
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (i) (iii) (ii)

2) (iv) (i) (ii) (iii)

3) (i) (ii) (iii) (iv)

4) (iii) (i) (ii) (iv)
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5) Match the following :

a) Hydra i) Protozoa

b) Opalina ii) Porifera

c) Sycon iii) Annelida

d) Hirudinaria granulosa iv) Coelenterata

Answer options :

(a) (b) (c) (d)

1) (iv) (i) (iii) (ii)

2) (iv) (i) (ii) (iii)

3) (i) (ii) (iii) (iv)

4) (iii) (i) (ii) (iv)

6) H$moUVm {gb|Q>oamQ>m gr noZ qH$dm gr ’o$Xa åhUyZ à{gÕ Amho?
1) AëgrAmo{Z`‘ 2) noZ°Qw>bm 3) Jm°Jm}{Z`m 4) Am°ao{b`m

6) Which coelenterata is popularly known as “sea pen” or “sea feather”?

1) Alcyonium 2) Pennatula 3) Gorgonia 4) Aurelia

7) àmÊ`m§À`m H«$‘mÀ`m OmoS>çm Ë`m§À`m {’$aÊ`mÀ`m gd`ter Owidm:
a) Am°S>©a {MamoßQ>oam i) ~wê$O, ImoXUo Am{U MT>Uo
b) Am°S>©a S>‘m}nQ>oam ii) doJmZo {’$aVo, PmS>mnmgyZ PmS>mda PmoHo$ KoVo.
c) Am°S>©a àmB‘oQ²g iii) Am~m}[a`b àmUr Am{U H$m ©̀j‘ ½bm`S>a AmhoV
d) Am°S>©a ’$mo{bS>moQ>m iv) ho gñVZ àmUr gVV CÈ>mU H$aÊ`mg gj‘ AmhoV
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (iii) (ii) (i) (iv)

4) (iv) (iii) (ii) (i)

7) Match the pairs of animal order with their moving habits :

a) Order Chiroptera i) Burrows, digs and also climbs

b) Order Dermoptera ii) Moves fast, swings from tree to tree .

c) Order Primates iii) Are arboreal creatures and efficient gliders

d) Order Pholidota iv) Are mammals capable of sustained flight

Answer options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (iii) (ii) (i) (iv)

4) (iv) (iii) (ii) (i)

8) Q´m`H$mo‘moZmg `mo{ZZm{bg ho ......... Amho.
1) ~waer 2) {OdmUy 3) àmoQ>moPwAm 4) {dfmUy

8) Trichomonas vaginalis is a ..........

1) Fungi 2) Bacteria 3) Protozoa 4) Virus
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7) àmUr eara{dkmZ
1) EImÚm H$sQ>H$mÀ¶m n§ImMr daÀ¶m ~mOyMr era Am{U Ë¶mMo eara ¶m§À¶mVrb H$moZmg .......... åhUVmV.

1) JwXÛma H$moZ 2) A°{nH$b H$moZ 3) øy‘ab H$moZ 4) H$moñQ>b H$moZ
1) At the base of coastal vein .......... angle is present in general veination of wing in insect.

1) Anal 2) Apical 3) Humeral 4) Coastal

2) ~¡bm§À`m go{‘Zb ìho{gH$ëgÀ¶m òmdm‘Ü¶o ......... KQ>H$ ^anya à‘mUmV AgVmV
1) H$m°na 2) ’«w$ŠQ>moO 3) ‘°ZmoO 4) Oob

2) Bull’s seminal vesicles secretions are rich in ......

1) Copper 2) Fructose 3) Mannose 4) Gel

3) `mo{Z‘mJm©À`m AmV b°ŠQ>mo~°{gbrÀ`m dmT>r‘wio nrEM ‘yë¶ A§XmOo ......... n¶ªV H$‘r hmoVo Am{U AZoH$ KmVH$
amoJOZH$m§À`m dmT>rg à{V~§Y hmoVmo:
1) 4.5 2) 8.5 3) 9.5 4) 11.5

3) Growth of lactobacilli within the vaginal vault reduce the pH to approximately ......... and prevents

the growth of many opportunities pathogens :

1) 4.5 2) 8.5 3) 9.5 3) 11.5

4) ‘wº$ OrdZe¡brÀ¶m àmoQ>moPmoAm‘Ü ò Amhma XoÊ`mMr .......... nÕV Amho:
1) hmobmoPmoBH$ 2) gàmoPmoBH$ 3) XmoÝhr (1) Am{U (2) 4) darbn¡H$s Zmhr

4) Mode of feeding in free living protozoans is :

1) Holozoic 2) Saprozoic 3) Both (1) and (2) 4) None of the above

5) gmYmaUnUo nmo[a’o$am‘Ü¶o J°‘rQ H$em‘wio V¶ma hmoVmV ?
1) H$o¶mZmogmB©Q²>g 2) Am{H©$AmogmB©Q²>g 3) ‘m¶mogmB©Q²>g 4) {nZmH$mogmB©Q²>g

5) Normally in porifera the gametes are formed by

1) Choanocytes 2) Archaeocytes 3) Myocytes 4) Pinacocytes

6) Imbrbn¡H$s, àmo~mo{g{S>`m Am°S>©aMo d¡{eï²>`nyU© d¡{eï²>` H$moUVo Zmhr?
1) nm`mMo Vido ‘D$ Am{U ’°$Q>r Cer nm§T>`m© bd{MH$ V§Vy§Zr PmH$bobo AgVmV.
2) H$mZ ho H$maÀ`m ao{S>EQ>agmaIo AgVmV.
3) Vo é{‘Z§Q> AmhoV Am{U Ë`m§Zm {nÎm ‘yÌme` Zmhr.
4) {H$S>Zr‘Ü ò 5-7 bmo~ AgVmV.

6) Among the following, which one is the characteristic feature of the order Proboscidea ?

1) The soles of the feet are covered with soft and fatty cushion white elastic fibres.

2) Ears are like the radiator of a car.

3) They are ruminants and have no gall bladder.

4) The kidney has 5-7 lobes.
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(6) Cn ẁº$ d hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, ‘Ëñ¶
1) Cn ẁº$ àmUr
2) hmZrH$maH$ àmUr
3) newnmbZ, Xw½Yì`dgm`
4) Hw$ w̧$Q>nmbZ

1) Cn ẁº$ àmUr
1) gwH$boë`m aº$s (blood meal ) ‘Ü¶o ...........% Zm`Q´moOZ AgVo.

1) 10 Vo 12 2) 12 Vo 15 3) 4 Vo 10 4) 13
1) The dried blood meal contains ............. % nitrogen.

1) 10 to 12 2) 12 to 15 3) 4 to 10 4) 13

2) "ñdrQ> [aìhmoë ỳeZ' H$emer g§~§{YV Amho?
1) gmIaoMo CËnmXZ
2) ‘Y‘mer nmbZ Am{U ‘Y Am{U g§~§{YV CËnmXZm§Mo CËnmXZ
3) JmoS> Xw½YOÝ` nXmWmªMo CËnmXZ
4) à{H«$`m Ho$boë`m ’$i CËnmXZm§Mo CËnmXZ

2) What is ‘Sweet Revolution’ related to ?

1) Production of sugar

2) Beekeeping and production of honey and related products

3) Production of sweet dairy products

4) Production of processed fruit products

3) e§IemómMm Aä¶mg åhUOo H$emMm Aä¶mg ?
1) {gc|Q>aoQ> 2) ‘mocwñH$m
3) ‘mocwñH$m§Mo H$dM 4) ‘mocwñH$m§Mo AmdaU

3) Conchology is the study of what ?

1) Coelenterates 2) Mollusca

3) Shells of Mollusca 4) Mantle of Mollusca

2) hmZrH$maH$ àmUr
1) H$ÀMo qH$dm AY©dQ> {eOdbobo Sw>H$amMo ‘m§g Am{U Vem CËnmXZm§À`m godZmZo ........... naOrdr g§gJ© hmoVmo.

1) {S>{’$bmo~mo{W«̀ ‘ b°ŠQ>‘ 2) A°{Zgm{H$g Egnrnr.
3) Q>o{Z`m gmo{b`‘ 4) Q´m`{MZobm g{n©{bg

1) .......... parasitic infection is caused by consumption of raw or insufficiently cooked pork and pork

products.

1) Diphyllobothrium lactum 2) Anisakis spp.

3) Taenia solium 4) Trichinella spiralis
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2) Imbrbn¡H$s H$moUË`m gyjOrdm‘wio ~m°på~Šg ‘moar‘Ü ò JdVmi amoJ hmoVmo?
1) Nosema bombyeis 2) Beauveria bassiana

3) ~°{gbg ~m°å~rgopßQ>H$g 4) Ý ỳpŠb`a nm°brhoS´mo{gg {dfmUy
2) Which of the following organisms causes grasserie disease in Bombyx mori ?

1) Nosema bombyeis 2) Beauveria bassiana

3) Bacillus bombysepticus 4) Nuclear polyhedrosis virus

3) {g{’${cg amoJmg O~m~Xma Agboë`m ñnm`amo{MQ> ~°ŠQ>o[a`mMm àH$ma ......... Amho.
1) boßQ>moñnm`am 2) ho{bH$mo~°ŠQ>a 3) ~moao{b`m 4) Q́onmoZo‘m

3) The type of spirochaete bacteria responsible for producing syphilis is ..........

1) Leptospira 2) Helicobacter 3) Borrelia 4) Treponema

3) newnmbZ, Xw½Yì`dgm`
1) ICAR (2013) ‘mZH$m§Zwgma 400 {H$bmo dOZmÀ`m ñVÝ¶Xm Jm`r§À`m XoI^mbrgmR>r XaamoO M`mnM` D$Om© (Mcal)

Amdí`H$ Amho.
1) 10.52 2) 11.82 3) 14.32 4) 12.72

1) The metabolisable energy (Mcal) requirement per day for maintenance of a lactating cow weighing

400 kg as per ICAR (2013) standard is

1) 10.52 2) 11.82 3) 14.32 4) 12.72

2) N>mZm V`ma H$aÊ`mgmR>r H$moUVo XyY Mm§Jbo Amho?
1) Jm`rMo XyY 2) åherMo XyY 3) eoirMo XyY 4) C§Q>mMo XyY

2) Which milk is best for preparation of Chhana ?

1) Cow milk 2) Buffalo milk 3) Goat milk 4) Camel milk

3) ‘¥Xÿ Xhr XwYmMo .......... ho d¡{eï²>` Amho
1) H$‘r Ho${gZ Am{U H°$pëe`‘ gm‘J«r 2) H$‘r Ho${gZ Am{U Cƒ H°$pëe`‘ gm‘J«r
3) Cƒ Ho${gZ Am{U H°$pëe`‘ gm‘J«r 4) Cƒ Ho${gZ Am{U H$‘r H°$pëe`‘ gm‘J«r

3) Soft curd milk is characterised by .........

1) Low casein and calcium content 2) Low casein and high calcium content

3) High casein and calcium content 4) High casein and low calcium content

4) Jwam§‘Ü ò XwYmMm Vmn Imbrb H$maUm§‘wio hmoVmo .........
1) Mmè`mV à{WZo Anwar AgVmV 2) eoVmVrb ñ’w$aX H$‘r hmoUo
3) OmñV Vmn 4) D$Vt‘Yrb H°$pëe`‘Mr nmVir H$‘r hmoUo

4) Milk fever in cattle is caused due to :

1) Inadequate proteins in fodder

2) Decrease in phosphorus in the field

3) High fever

4) Decrease in the level of calcium in tissue fluid
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5) åherÀ`m XwYm~Ôb Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
a) JmB©À`m XwYmÀ`m Ma~rnojm åherÀ`m XwYmÀ`m ’°Q>‘Ü ò g°nmo{Z{’$Ho$eZ ìh°ë ỳ Am{U {dViÊ`mMm q~Xy OmñV AgVmo.
b) JmB©À`m XwYmMr Ma~r åherÀ`m XwYmÀ`m Ma~rnojm ã ẁ{Q>[aH$ Am{U Amo{bH$ E°{gS>‘Ü ò OmñV AgVo.
c) åherÀ`m {‘goba Ho${gZÀ`m H$Um§Mm AmH$ma JmB©À`m ‘m`Ho$bnojm ‘moR>m AgVmo
n¶m©¶r CÎmao …
1) a Am{U c ~amo~a AmhoV 2) b Am{U c ~amo~a AmhoV
3) a Am{U b ~amo~a AmhoV 4) gd© MwH$sMo AmhoV

5) Which of the following statements are correct about buffalo milk ?

a) Buffalo milk fat has a higher saponification value and melting point than cow milk fat.

b) Cow milk fat is higher than buffalo milk fat in butyric and oleic acids.

c) The particle size of buffalo miscellar casein is larger than that of cow micelle

Answer options :

1) a and c are correct 2) b and c are correct

3) a and b are correct 4) All are incorrect

4) ‘Ëñ¶{dkmZ
1) ‘Ëñ` IVm‘Ü ò NPK Mo à‘mU ......, ...... Am{U ...... Amho.

1) 7.80%, 2.30%, 2.22% 2) 5.20%, 1.00%, 1.40%
3) 4.30%, 2.00%, 1.00% 4) 4.10%, 3.90%, 0.30%

1) The percent amount of NPK in Fish manure is ......, ...... and ......

1) 7.80%, 2.30%, 2.22% 2) 5.20%, 1.00%, 1.40%

3) 4.30%, 2.00%, 1.00% 4) 4.10%, 3.90%, 0.30%

2) Iwë`m g‘wÐmÀ`m nmÊ`mV h°Mar nmibobo VéU ‘mgo gmoS>Uo åhUyZ AmoiIbo OmVo
a) g‘wÐ AMuZ b) gr gm° c) gr a|qMJ d) ñnm°qZJ
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U b ’$º$ 3) ’$º$ c 4) d ’$º$

2) Release of hatchery reared young fish in open sea water is known as

a) Sea Urchin b) Sea Saw c) Sea Ranching d) Spawning

Answer options :

1) a only 2) a and b only 3) c only 4) d only

3) b°‘o{bS>oÝg eobÀ`m H$moUË`m Wambm ‘moË`mMr AmB© åhUVmV?
1) Z°{H«$`g 2) {àP‘°{Q>H$ 3) no[aAmoñQ°́H$‘ 4) H$m°pÝMAmo{bZ

3) Which layer of Lamellidens shell is called as “Mother of Pearl” ?

1) Nacreous 2) Prismatic 3) Periostracum 4) Conchiolin
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(7) dZñnVtMo dJuH$aU Am{U CXmhaUo
1) dZñnVr noer
2) dZñnVtMo dJuH$aU Am{U CXmhaUo
3) dZñnVr eara{dkmZ

1) dZñnVr noer
1) gd© dZñnVtÀ`m noet‘Ü ò Imbrbn¡H$s H$moUVo AmT>iV Zmhr?

1) H$S>H$ gob q^V 2) ‘Ü` ìh°Š ỳAmob 3) ßbmpñQ>S²g 4) g|Q́mogmo‘
1) Which of the following is not found in cells of all plants ?

1) Rigid cell wall 2) Central vacuole 3) Plastids 4) Centrosomes

2) Šbo{‘S>moñnmoAg© .......... À`m noetnmgyZ V`ma hmoVmV.
1) ñnmoa°pÝJ`m 2) n°a|Q> Ý ỳŠbr 3) ìho{OQ>o{Q>ìh hm`’$m 4) h°ßbmoBS> Ý ỳŠbr

2) Chlamydospores are formed from cells of ..........

1) Sporangia 2) Parent nuclei 3) Vegetative hypha 4) Haploid nuclei

3) Zm`Q´mogmo‘moZmg Ûmao dmnabo OmUmao AO¡{dH$ COm© òmoV :
1) AëH$mohmob 2) g³grZoQ> 3) A°Zmo{Z¶m 4) â¶w‘aoQ>

3) The inorganic energy source used by Nitrosomonas :

1) Alcohol 2) Succinate 3) Annonia 4) Fumarate

4) hdm‘mZ KQ>H$m§Zm à{VgmX åhUyZ PmS>m§À¶m nU©g§̂ ma, ’w$bo, ’$iYmaUm BË`mXrV hmoUmam h§Jm‘r ~Xb Aä¶mgUo
åhUOo......
1) OrZmobm°Or 2) ’o$Zmobm°Or 3) BH$mobm°Or 4) ’$m°aoñQ´r

4) The term used to refer to the seasonal changes in the development of foliage, flowering, fruiting,

etc. in trees in response to climatic factors is ................

1) Genology 2) Phenology 3) Ecology 4) Forestry

2) dZñnVtMo dJuH$aU Am{U CXmhaUo
1) A±{O`moñn‘© {’$bmoOoZr J«wnZo APG dJuH$aU H$Yr {dH${gV Ho$bo?

1) 1996 2) 1997 3) 1993 4) 1998
1) Angiosperm Phylogeny Group developed APG classification in ......

1) 1996 2) 1997 3) 1993 4) 1998

2) Imbrb dJuH$aUemókm§Zm Ë`m§À`m dZñnVr dJuH$aU àUmbrdarb nwñVH$m§er Owidm.
a) B§½ba Am{U à±Q>b i) âbm°d[a¨J ßbm§Q²gMr CËH«$m§Vr Am{U dJuH$aU
b) Om°Z h{MÝgZ ii) S>m` qH$dm Z°Ma{bMoZ âb°ÝPoZ’°{‘brZ
c) ~|W‘ Am{U hÿH$a iii) âbm°d[a¨J dZñnVtMo Hw$Qw>§~
d) AmW©a H«$m°Z{¹$ñQ> iv) OoZoam ßbm§Q>ma‘
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iii) (ii) (i) (iv)

3) (ii) (iii) (iv) (i)

4) (iii) (iv) (i) (ii)

2) Match the following Taxonomists with their books on Plant Classification System :

a) Engler and Prantl i) The Evolution and Classification of Flowering Plants

b) John Hutchinson ii) Die or Naturlichen Pflanzenfamilien

c) Bentham and Hooker iii) Families of the Flowering Plants

d) Arthur Cronquist iv) Genera Plantarum

Answer options :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (iii) (ii) (i) (iv)

3) (ii) (iii) (iv) (i)

4) (iii) (iv) (i) (ii)

3) {bMr hr dZñnVr .......... ¶m Hw$Qw>§~mVrb Amho.
1) ‘moamgr 2) ~«mo‘o{b`mgr 3) gqnS>goB© 4) ‘m`Q>}gr

3) Litchi belongs to the family

1) Moraceae 2) Bromeliaceae 3) Sapindaceae 4) Myrtaceae

4) dZñnVtMm {dMma H$am :
A) goñ~{Z`m EŠ ẁboQ>m ~) goñ~{Z`m ñno{e`mogm H$) Sesbania rostrata S>) nm|Jm{‘`m ½b°~«m
darbn¡H$s H$moUVr e|Jm ẁº$ dZñnVr AmhoV?
1) ’$º$ A 2) ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) A, ~, H$ Am{U S>

4) Consider the plants :

a) Sesbania aculeata b) Sesbania speciosa c) Sesbania rostrata d) Pongamia glabra

Which of the above are leguminous plants ?

1) a only 2) b only 3) a, b and c only (4) a, b, c and d

5) Imbrbn¡H$s H$moUVo ‘moZmoH$mo{Q>bS>m°Z nrH$ Amho?
1) ~rQ>éQ> 2) nmbH$ 3) H$m§Xm 4) ‘wim

5) Which of the following is a monocotyledon crop ?

1) Beetroot 2) Spinach 3) Onion 4) Radish

6) MwH$sMr OmoS>r emoYm.
1) b°{~¶Q>r-b°{‘Egr 2) nm‘r-AaoHo$gr
3) H$ånmo{gQ>r-³ë¶w{gEgr 4) A‘~obr’o$ar-A°{nEgr

6) Find the wrong pair.

1) Labiatae - Lamiaceae 2) Palmae - Arecaceae

3) Compositae - Clusiaceae 4) Umbelliferae — Apiaceae
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7) Imbrbn¡H$s H$moUVr {nHo$ C4 dZñnVr AmhoV?
1) D$g 2) Ádmar 3) ‘H$m 4) darb gd©

7) Among the following, which crops is/are C4 plants ?

1) Sugarcane 2) Sorghum 3) Maize 4) All of the above

8) EImÚm dZñnVrbm EH$qbJr (monoecious) åhUVmV Voìhm ......
1) Za d ‘mXr ’w$bo doJdoJù`m dZñnVtda òVmV 2) EH$mM ’w$bmVrb Za d ‘mXr ^mJ
3) Za d ‘mXr ’w$bo EH$mM PmS>mda OÝ‘mbm òVmV 4) ñQ>o{‘ZoQ>

8) The plant is called monoecious when ..............

1) Male and female flowers on different plants

2) Male and female parts in the same flower

3) Male and female flowers are born on same plant

4) Staminate

9) Imbrb OmoS>çm Owidm :
    ~mOar        dZñnVr Zmd
A) amJr/ZmMUr 1) Panicum sumatrense

~) hbdr/gdm 2) Setaria BQ>m{cH$m
H$) H$m§Jami§ 3) n°{ZH$‘ {‘br{g`‘
S>) daB©/Hw$Q>H$s/g‘mB© 4) A°ë ẁ{gZ H$moamH$mZm
n¶m©¶r CÎmao …

A ~ H$ S>
1) 1 2 3 4

2) 3 4 2 1

3) 4 1 2 3

4) 2 1 3 4

9) Match the following :

Millet    Botanical Name

a) Finger millet 1) Panicum sumatrense

b) Little millet 2) Setaria italica

c) Foxtail millet 3) Panicum miliaceum

d) Proso millet 4) Eleusine coracana

Answer options :

(a) (b) (c) (d)

1) 1 2 3 4

2) 3 4 2 1

3) 4 1 2 3

4) 2 1 3 4

10) eodmi dJuH$aUm‘Ü¶o "{H$Q>mo’$moaoëg' hm JQ> Imbrbn¡H$s H$moUË¶m dJm©‘Ü¶o ¶oVmo ?
1) ³bmoamo’$m¶Q>m 2) H°$amo’$m¶Q>m 3) {g¶mZmo’$m¶Q>m 4) ìhmoS>mo’$m¶Q>m

10) 'Chaetophorales' group belong to which of the algal class ?

1) Chlorophyta 2) Charophyta 3) Cyanophyta 4) Rhodophyta
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3) dZñnVr eara{dkmZ
1) gm¡a {H$aUmoËgJm©Mo ........ à‘mU, D$O}À`m Ñï>rZo àH$meg§íbofUmV dmnabm OmVmo.

1) 24% 2) 28% 3) 32% 4) 36%
1) A portion of solar radiation, up to ......... in terms of energy is used in photosynthesis.

1) 24% 2) 28% 3) 32% 4) 36%

2) àH$me g§íbofUm‘Ü¶o àH$memda AmYmarV à{H«$¶oMo ‘hÎdmMo H$m¶© H$moUVo Amho?
1) NADH

2
 d ATP Mo ê$nm§Va H$aUo 2) NADPH d ATP Mm Cn¶moJ H$aUo

3) NADPH d ATP Mr {Z{‘©Vr H$aUo 4) darb gd©
2) What is the principal function of the light-dependent reactions of photosynthesis ?

1) To transfer the NADH and ATP 2) To utilize the NADPH and ATP

3) To generate the NADPH and ATP 4) All of the above

3) C
4
 dZñnVt‘Ü`o, ’$m°ñ’$moA°Zm°bnm`é{dH$ A°{gS> H$m~m}pŠPboP‘Ü`o H$m~©Z S>m`Am°ŠgmBS> Am{U Cƒ g§^mì`

{H«$`mH$bmnm§gmR>r Iyn OmñV AmË‘r`Vm Amho. Ë`m‘wio -
a) C

4
 dZñnVt‘Ü ò C

4
 dZñnVtnojm OmñV àH$meg§ícofU Xa AgVmo

b) C
4
 PmS>o XwîH$mi à{VamoYH$ AmhoV Ago åhQ>bo OmVo H$maU Vo Amobmì`mÀ`m VUmdmImbr XoIrb Mm§Jbo dmT>Ê`mg

gj‘ AgVmV
c) C

4
 dZñnVr A{YH$ doJmZo àH$meg§ûmcofU H$aVmV

d) H$mhr C
4
 dZñnVr H$m~©Z S>m` Am°ŠgmB©S>Mo à‘mU 100 nrnrE‘ AgVmZmhr àH$meg§ícofU H$ê$ eH$VmV.

darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) gd© a, b, c Am{U d

3) In C, plants, phosphoenolpyruvic acid carboxylase has very high affinity for carbon dioxide and

high potential activity. Therefore

a) C
4
 plants have higher photosynthetic rate than C4 plants

b) C
4
 plants are said to be drought resistant as they are able to grow better even under moisture

stress

c) C
4
plants translocate photosynthates more rapidly

d) Some C
4
 plants can photosynthesize even when carbon dioxide concentration is 100 ppm

Which of the above statement/s is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) All a, b, c and d

4) dZñnVtÛmao àH$meg§í²bofUmÛmao g|{Ð` H$m~©Z‘Ü ò AH$m~©{ZH$ CO Mo ê$nm§Va H$aÊ`mMr Am{U ‘mVrV ~wS>Ê`mMr à{H«$`m
Amho.
1) H$m~©Z H«o${S>Q> 2) àH$meg§ícofU
3) ídgZ 4) H$m~©Z Oá H$aUo

4) is the process of transformation of inorganic CO, through photosynthesis by plants into organic

carbon and sink in soils.

1) Carbon credit 2) Photosynthesis

3) Respiration 4) Carbon sequestration
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5) bmJdS>rMr/àOZZmMr Ab¢{JH$ nÕV ......... ‘Ü ò {d^mJbobr Amho :
a) ñQ>o‘ H$qQ>J b) éOboë`m pñbßg c) {~`m d) Rhizomes

n¶m©¶r CÎmao …
1) ’$º$ a 2) a, b Am{U c 3) a, b, c Am{U d 4) a, b Am{U d

5) The asexual method of propagation is divided into :

a) Stem cutting b) Rooted slips c) Seeds d) Rhizomes

Answer options :

1) a only 2) a, b and c 3) a,b, c and d 4) a,b and d

6) H$moUVr PmS>o ŠcmoamBS>À`m H$‘VaVogmR>r g§doXZerb ‘mZbr OmVmV?
1) Zmai Am{U Vob nm‘ 2) ‘H$m Am{U e|JXmUo
3) e|Jm Am{U H$mnyg 4) Vm§Xyi Am{U Ádmar

6) Which plants are considered sensitive to chloride deficiency ?

1) Coconut and oil palm 2) Maize and groundnut

3) Legumes and cotton 4) Rice and sorghum

7) Imbrbn¡H$s H$moUVo dmT> {Z`m‘H$ O¡dagm¶Z ho Am°p³gZÀ¶m H$m¶m©er ñnYm© VgoM hñVjon H$aVo?
1) TIBA 2) 2 ,4-D 3) Tryptophan 4) IPA

7) Which one of the following growth regulator compete and interfere with auxin activity ?

1) TIBA 2) 2, 4-D 3) Tryptophan (4) IPA

8) dZñnVtÀ`m àH$meg§ícofUmÀ¶m {d{dY ‘mJmªn¡H$s H$moUË`m ‘mJm©Mr nmUr dmna H$m ©̀j‘Vm H$‘r Amho?
1) C

3
 dZñnVr 2) C

2
 dZñnVr 3) CAM dZñnVr 4) darb gd©

8) Which of the different pathway of photosynthesis plants have lower water use efficiency ?

1) C
3 
plants 2) C

2
, plants 3) CAM plants 4) All of the above

9) àmá H$aUmè`m gOrdmcm ([a{gìha) AZwHy$c bm^ XoUmao A°bobmoHo${‘H$b .......... åhUyZ AmoiIbo OmVo.
1) A°bmo‘moÝg 2) H°$amo‘moÝg 3) ’o$amo‘moZ 4) `mn¡H$s Zmhr

9) Allelochemical giving an adaptive advantage to the receiving organism is known as .......

1) Allomones 2) Kairomones 3) Pheromone 4) None of these

10) H$moUVm amoJ gm‘mÝ`V: dZñnVt‘Yrb nmÊ`mÀ`m ñWmZm§VamV ì`Ë`` AmUVmo?
1) nmZmda {R>nHo$ 2) {dëQ²g 3) ñ‘Q²g 4) J§O

10) Which diseases generally interfere the translocation of water in plants ?

1) Leaf spots 2) Wilts 3) Smuts 4) Rusts

11) {d{dY {nH$m§À`m nmÊ`mMr JaO `m {dYmZmMm {dMma H$am.
a) Ádmar - 450-500 {‘‘r b) J«°‘ - 250-400 {‘‘r
c) H$~wVa dmQ>mUm - 70-140 {‘‘r d) ŵB©‘yJ - 500-700 {‘‘r
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ a 2) ’$º$ c 3) a Am{U b ’$º$ 4) a, b, c Am{U d
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11) Consider the statement about Water requirement of different crops.

a) Sorghum — 450-500 mm b) Gram — 250-400 mm

c) Pigeon pea — 70-140 mm d) Groundnut — 500-700 mm

Which of the statement/s given above is/are correct ?

1) a only 2) c only 3) a and b only 4) a, b, c and d

12) A{V nmÊ¶m‘wio dZñnVr ‘¥V hmoVmV H$maU ....
1) nmÊ¶m‘wio ‘mVrÀ¶m gm‘yMo CXm{gZrH$aU hmoVo
2) ‘wio Am°pŠgOZnmgyZ d§{MV hmoVmV
3) nmÊ¶m‘wio ‘wimdarc naOrdtMr dmT> hmoVo
4) dZñnVrÀ¶m dmT>rgmR>r Amdí¶H$ Agbobr gd© I{ZOo nmÊ¶mV ZgVmV

12) A plant is killed by over watering because

1) Wate neutralizes the pH of the soil

2) The roots are deprived of oxygen

3) Water supports the growth of root parasites

4) Water does not have all the necessary mineral for plant growth

13) gm`nag amoQ>§S>g H$moUË`m Ad`dmÛmao dZñn{VOÝ` arVrZo àgma H$aVo?
1) YmdnQy> 2) emofH$ 3) H§$X 4) Am°’$goQ>

13) By which organ does Cyperus rotundus propogate vegetatively ?

1) Runners 2) Suckers 3) Tubers 4) Offsets

14) {Obo{Q>Zg grS> H$moQ> ................ ‘Ü ò CnpñWV Amho.
1) bm°a°ÝWg 2) Hw$ñHw$Q>m 3) pñQ´Jm 4) Amoamo~±Mo

14) Gelatinous Seed Coat is present in ................

1) Loranthus 2) Cuscuta 3) Striga 4) Orobanche
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(8) H¥$fr{dkmZ d dZemó, Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr
1) Cn ẁº$ dZñnVr
2) dZñnVtMo amoJ d hmZrH$maH$ dZñnVr
3) H¥$fr{dkmZ

1) Cn ẁº$ dZñnVr
1) Q´m`H$moJ«m‘m Egnrnr (Q´m`H$moJ«m‘°{Q>S>o) hr ‘mer ......... Mm Zme H$aVo.

1) ~m|S>AirMr Air 2) ~m|S>AirMr ß ẁnm
3) ~m|S>AirMr A§S>r 4) ~m|S>AirMr A§S>r Am{U Aù`m

1) Trichogramma spp (Trichogrammatidae) parasitizes the .......

1) Larvae of bollworm 2) Pupa of bollworm

3) Eggs of the bollworm 4) Eggs and larvae of bollworm

2) Imbrbn¡H$s H$moUË`m Zm`Q´moOZ {’$pŠg§J ~°ŠQ>o[a`mMm V¥UYmÝ ò Am{U JdVmÀ`m ‘wim§er ghg§~§Y Amho?
1) PSB 2) Rhizobium 3) Azospirillum 4) KSB

2) Which of the following nitrogen fixing bacteria have associative relationship with cereal and

grass roots ?

1) PSB 2) Rhizobium 3) Azospirillum 4) KSB

3) Imbrbn¡H$s H$moUË¶m gyú‘Ordm‘wio ’$m°ñ’$agMo emofU gwb^ hmoVo?
1) APQ>mo~°ŠQ>a 2) ~mÏ ỳ {hado e¡dmb
3) ‘m`H$moam`Pm 4) A°pŠQ>Zmo‘m`grQ²g

3) Which one of the following facilitates an increased uptake of phosphorus ?

1) Azotobacter 2) Biue green algae

3) Mycorrhizae 4) Actinomycetes

4) Imbrb OmoS>çm Owidm :
a) am¶Pmo{~¶‘ I) PmS>o Am{U PwSw>no `m§Mo ghOrdZ Am{U dmVmdaUmVrb N {ZamH$aU H$aVo.
b) A°PmoQ>mo~°ŠQ>a II) Ho$‘mo-hoQ>amoQ´m°{’$H$ {OdmUy Ádmar, ‘moVr ~mOar, Vm§Xyi `m§À`m ‘wim§‘Ü ò amhVmV.
c) ’«±${H$`m III) ghOrdZ g§~§YmÛmao e|Jm§À`m ‘wim§À`m JmR>r‘Ü ò amhVmV
d) A°Pmopñn[ab‘ IV) Eamo{~H$ Ho$‘mo-hoQ>amoQ´m°{’$H$ Am{U ‘wº$ {Od§V {OdmUy
n¶m©¶r CÎmao …

A ~ H$ S>
1) (iv) (iii) (ii) (i)

2) (i) (ii) (iii) (iv)

3) (iii) (iv) (i) (ii)

4) (iii) (iv) (ii) (i)
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4) Match the following :

a) Rhizobium I) Symbiotic association with trees and shrubs and fixes atmospheric N.

b) Azotobacter II) Chemo-heterotrophic bacteria associated to live within roots of

sorghum, pearl millet, rice

c) Frankia III)Live in the root nodules of legumes through symbiotic relationship

d) Azospirillum IV)Aerobic chemo-heterotrophic and free living bacteria

Answer options:

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (i) (ii) (iii) (iv)

3) (iii) (iv) (i) (ii)

4) (iii) (iv) (ii) (i)

5) AmXe© {hadirÀ`m IVmÀ`m {nH$m‘Ü ò Imbrbn¡H$s H$moUVr dmÀ§N>Zr` d¡{eï²> ò Agbr nm{hOoV?
a) ho e|Jm§Mo nrH$ Agmdo Á`mMr Mm§Jbr ZmoS>çwba gd` Amho
b) ñdV…À`m dmT>rgmR>r nmÊ`mMr JaO H$‘r Agmdr
c) Ë`mMr Imob ê$Q> àUmbr Agmdr Am{U Ë`mV ‘moR>çm à‘mUmV Zm°Z-V§Vw‘` D$VH$ AgmdoV
d) Ë`mV CWi ‘yi àUmbr Am{U {d{eï> V§Vw‘` D$VH$ AgmdoV
n¶m©¶r CÎmao …
1) ’$º$ a, b Am{U c 2) a Am{U b ’$º$ 3) b, c Am{U d ’$º$ 4) a, c Am{U d ’$º$

5) Which of the following desirable characteristics of an ideal green manure crop should possess ?

a) It should be legume crop with good nodular habit

b) It should have litle water requirement for its own growth

c) It should have a deep root system and contain large quantities of non-fibrous tissues

d) It should have a shallow root system and certain fibrous tissues

Answer options :

1) a, b and c only 2) a and b only 3) b, c and d only 4) a, c and d only

6) Zm`Q´moOZ pñWarH$aU Am{U Zm`Q´moOZ AmË‘gmV H$aÊ`mgmR>r Amdí`H$ Agboë`m Zm`Q´moOZoO Am{U Zm`QóQ> [aS>ŠQ>oO
E§PmB‘‘Ü ò Imbrbn¡H$s H$moUVo gyú‘ nmofH$ KQ>H$ AgVmV?
1) qPH$ 2) ‘±JZrO 3) ‘m°{bãS>oZ‘ 4) ~moam°Z

6) Which of the following micronutrient present in nitrogenase and nitrate reductase enzymes

essential for nitrogen fixation and nitrogen assimilation ?

1) Zinc 2) Manganese 3) Molybdenum 4) Boron

7) Imbrbn¡H$s ÐmjmÀ`m ........... OmVrMm dmna ìhmB©Q> dmB©Z ~ZdÊ`mgmR>r Ho$bm OmVmo.
1) H°$~aZoQ> gm°{d¾Z 2) {nZmoQ> ãb±H$ 3) no{Q>Q> {gah 4) {nZmoQ> Zm°̀ a

7) ........ grape variety from the following is used for making white wine.

1) Cabernet sauvignan 2) Pinot blanc 3) Petite sirah 4) Pinot noir

8) gd© ‘gmë`m§‘Ü ò J§Y Am{U Md EH$Ì hmoVo.........
1) Om`’$i; dobMr; {Oao Am{U ~S>reon 2) EH$m OmVrMr ~S>reon; {Oao; Ambo Am{U Xmb{MZr
3) Om`’$i; bd§J; Xmb{MZr Am{U {‘anyS> 4) dobMr; bd§J; Ho$ea Am{U Om`’$i
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8) All spice combines in itself the odour and flavour of ...........

1) Nutmeg; Cardamom; Cumin and Anise 2) Fennel; Cumin; Ginger and Cinnamon

3) Nutmeg; Clove; Cinnamon and Pepper 4) Cardamom; Clove; Saffron and Nutmeg

9) Imbrbn¡H$s H$moUVo gmnim nrH$ ho H$mngmVrb ho{bH$ìhanm‘wio hmoUmao ZwH$gmZ H$‘r H$aÊ`mg ‘XV H$aVo?
1) ‘H$m 2) Ádmar 3) gỳ ©’y$b 4) P|Sy>

9) Which of the following trap crop helps in reducing damage by Helicoverpa in cotton ?

1) Maize 2) Sorghum 3) Sunflower 4) Marigold

10) Zm`Q´mogmo‘moZmg ~°ŠQ>o[a`m.......... à{H«$ òÛmao A‘mo{Z`‘Mo Zm`QóQ>‘Ü ò ê$nm§Va H$aVmV.
1) Zm`{Q´{’$Ho$eZ 2) I{ZOrH$aU 3) J{VerbVm 4) pñWarH$aU

10) During the process of ............ ammonium is converted into nitrate by Nitrosomonas bacteria.

1) nitrification 2) mineralisation 3) mobilization 4) immobilization

11) Imbrbn¡H$s H$moUVr {dYmZo ~|Jbmoa H§$nmopñQ>§J nÕVrgmR>r bmJy AmhoV?
a) ‘mVrÀ`m I§XH$mV ~m`mo{S>J«oS>o~b KZH$Mam Am{U ‘mVr EH$mda EH$ Wam§‘Ü ò R>odbr OmVo.
b) ho H§$nmopñQ>§J àm‘w»`mZo A°Zmamo{~H$ ñdê$nmMo Amho.
c) ¶mVrb ^amd Xa 3 ‘{hÝ`m§Zr {Z`{‘VnUo ~Xbbm OmVmo.
d) ¶mVrb ^amd hm ‘mVrÀ`m 15 go‘r WamZo PmH$bobm AgVmo.
n¶m©¶r CÎmao …
1) ’$º$ (a), (b) Am{U (c) 2) ’$º$ (a), (b) Am{U (d)

3) ’$º$ (a) Am{U (c) 4) ’$º$ (b) Am{U (c)

11) Which of the following statements are applicable to Bangalore method of composting ?

a) Biodegradable solid waste and night soil is placed in alternate layers, in earthen trenches.

b) It is primarily anaerobic in nature.

c) The fill is turned regularly for 3 months.

d) The fill is covered with 15 cm layer of earth.

Answer options:

1) Only (a), (b) and (c) 2) Only (a), (b) and (d)

3) Only (a) and (c) 4) Only (b) and (c)

12) Zm¶Q´>moOZ pñWa H$aÊ¶mgmR>r Imbrbn¡H$s H$moUVo e¡dmio OmñVrV OmñV Cn¶moJr Amho ?
1) ³bmoamo’$m¶gr 2) {‘³Pmo’$m¶gr 3) èhmoS>mo’$m¶gr 4) {’$`mo’$m`gr

12) Which group of Algae plays a dominant rule in Nitrogen Fixation ?

1) Chlorophyceae 2) Myxophyceae 3) Rhodophyceae 4) Phaeophyceae

13) Imbrbn¡H$s H$moUVm gyú‘Ord ’$m°ñ’o$Q> {dÐmì`Voer g§~§{YV Amho?
1) A°ñna{Obg Adm‘moar 2) A°PmoQ>mo~°ŠQ>a
3) Wm`mo~°{gbg {WH$mopŠgS>Ýg 4) ŠbmopñQ´{S>`‘

13) Which of the following organisms is associated with phosphate solubility ?

1) Aspergillus awamori2) Azotobacter

3) Thiobacillus thicoxidans 4) Clostridium
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14) H$mhr ’w$bnmIam§À¶m H$sQ>H$Aù`m Am{U nV§Jm§Mo {Z §̀ÌU .......... gyú‘OrdmÀ`m ‘XVrZo CÎm‘ àH$mao Ho$bo OmVo.
1) Ectocarpus secundes 2) Marchantia simlana

3)Bacillus thuringiensis 4) Cladonia rangiferina

14) The insect larvae of certain butterflies and moths are best controlled with the help of a microbe

such as ...... ......

1) Ectocarpus secundes 2) Marchantia simlana

3) Bacillus thuringiensis 4) Cladonia rangiferina

15) Imbrbn¡H$s H$moUË`m {nH$m§Zm APmopñn[ab‘Mm ’$m`Xm hmoVmo?
1) ~mOar, ‘H$m 2) {‘aMr, Q>mo‘°Q>mo 3) ~Q>mQ>m, H$m§Xm 4) ŵB©‘yJ, gỳ ©’y$b

15) Which of the following crops are benefitted by Azospirillum ?

1) Bajra, Maize 2) Chili, Tomato

3) Potato, Onion 4) Groundnut, Sunflower

16) ‘w»` Am{U {H$aH$moi dZñnVtÀ`m nmofH$ VËdm§Mo g‘¥Õ IV H$moUVo Amho?
1) eoUIV 2) Jm§Sy>i IV 3) am`Pmo{~`‘ 4) O¡d IVo

16) Which is a rich manure of major and minor plant nutrients ?

1) FYM 2) Vermicompost 3) Rhizobium 4) Biofertilizer

17)  gm`boO ~ZdÊ`mgmR>r Imbrbn¡H$s H$moUVo nrH$ gdm©V `mo½` Amho?
1) ‘H$m 2) Mdir 3) ~magr‘ 4) ë ẁgZ©

17) Which of the following is the most suitable crop for silage making ?

1) Maize 2) Cowpea 3) Barsim 4) Lucerne

18) H°$W{Q©>H$ ñdénmMr dZñnVr Agë`mZo, AUw {H$aUmoËgJm©À`m ~Ýg©À`m CnMmam§gmR>r .......... Mm dmna Ho$bm OmVmo.
1) {S>{OQ>{bg nß ẁ©[a`m 2) {gÝH$moZm ñnogrO
3) A°bmodoam ñnogrO (H$moa’$S>) 4) ‘§ÐJmoam Am°{’$Zma‘

18) ............... being a Cathartic, is used for the treatment of atomic radiation burns.

1) Digitalis purpurea 2) Cinchona spp.

3) Aloe spp. (Aloe vera) 4) Mandragora offinarum

19) ÐmjmV AmT>iUmam âboìhmoZm°BS>Mm à‘wI âboìhmoZm°BS> àH$ma hm Amho:
1) E{nOo{ZZ 2) Z[a¨Jo{ZZ 3) ¹o$g}{Q>Z 4) Oo{ZpñQ>Z

19) The Predominant flavanone type of flavonoid found in grapefruit is :

1) Apigenin 2) Naringenin 3) Quercetin 4) Genistin

20) qb~ydJu` ’$im§‘Ü ò AmT>iUmam âboìhmoZm°BS>Mm ‘w»` àH$ma hm Amho:
1) E{nOo{ZZ 2) H°$Q>o{MZ 3) hoñno[a{S>Z 4) Oo{ZñQ>rZ

20) The predominant flavanone type of flavonoid found in the citrus fruits is :

1) Apigenin 2) Catechin 3) Hesperidin 4) Genistein
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21) am`Pmo{~`‘Zo pñWa Ho$bobm Zm`Q´moOZ `O‘mZ dZñnVrÀ`m Pm`bo‘ dm{hÝ`m§‘YyZ .......... `m ñdê$nmV ñWmZm§VarV
Ho$bm OmVmo.
A) A°ñnm{O©Z/eVmdar ~) ½bwQ>m‘mBZ H$) ½byQ>m{ZZ S>) Wm`{‘Z
darbn¡H$s H$moUVm n¶m©¶ `mo½` Amho/AmhoV?
1) ’$º$ A 2) A Am{U ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) H$ Am{U S> ’$º$

21) Nitrogen fixed by the Rhizobium is translocated through xylem vessels of the host plant in the

form of ........

a) Asparagine b) Glutamine c) Glutanin d) Thiamine

Which of the above options is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) c and d only

22) bmHy$S> dZñnVr, ^maVr` amoPdwS>Mo ~moQ>°{ZH$b Zmd ............ Amho.
1) Pinus roxburghii Sar 2) Morus alba Linn

3) Dalbergia latifolia Roxb 4) Cedrus deodara Loud

22) The botanical name of timber plant, Indian rosewood is .............

1) Pinus roxburghii Sar 2) Morus alba Linn

3) Dalbergia latifolia Roxb 4) Cedrus deodara Loud

2) dZñnVtMo amoJ d hmZrH$maH$ dZñnVr
1) H$mnyg Jwbm~r ~m|S>Air ........... AdñWoV hm`~aZoQ> H$aVo.

1) A§S>r 2) Air 3) nwnb 4) àm¡T>
1) Cotton Pink bollworm hibernates in ...........stage.

1) Egg 2) Larval 3) Pupal 4) Adult

2) Vya ¶m {nH$mda ñQ>[a{cQ>r ‘moPm¶H$ hm amoJ ......... ‘wio nS>Vmo.
1) {dfmUy 2) {OdmUy 3) ~waer 4) Zo‘mQ>moS²g

2) The sterility mosaic of pigeon pea is caused by ....

1) Virus 2) Bacteria 3) Fungus 4) Nematodes

3) P°åWmo‘moZmg H±$nopñQ´>g ¶m gyú‘Ordm‘wio ^mV{nH$mg .......... amoJ hmoVmo.
1) ãbmñQ> 2) erW am°Q>
3) OrdmUyOÝ` {b’$ ãbmBQ> 4) erW ãbmBQ>

3) Which rice disease is caused by Xanthomonas campestris pv. oryzae ?

1) Blast 2) Sheath rot

3) Bacterial leaf blight 4) Sheath blight

4) Imbrbn¡H$s H$moUVm naOrdr nyU©nUo ImoS>mda dmT>Vmo?
1) Hw$ñHw$Q>m 2) pñQ´Jm 3) Amoamo~«m§M 4) bm°a°ÝWg

4) Which of the following is total stem parasite ?

1) Cuscuta 2) Striga 3) Orobranche 4) Loranthus



‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 82

For Private Circulation Only

5) H$moUË`m àH$maÀ`m Zo‘mQ>moS>‘wio ha^am {nH$mV g‘ñ`m {Z‘m©U hmoVmV?
1) ê$Q> Zm°Q> Zo‘mQ>moS> 2) ñnm`ab Zo‘mQ>moS>
3) BAa-H$m°H$b Zo‘mQ>moS> 4) ~wamoB§J Zo‘mQ>moS>

5) Which kind of nematode cause problems in Gram crop ?

1) Root knot nematode 2) Spiral nematode

3) Ear-cockle nematode 4) Burrowing nematode

6)  àm‘w»`mZo ........... ‘wio ^mÁ`m Hw$OVmV.
1) ñŠboamoQ>o{Z`m ñŠboamo{Q>Amoa‘ 2) A°{d©{Z`m H°$amoQ>moìhmoam
3) no{Z{g{b`‘ {S>{OQ>‘ 4) am`Pmong ñQ>mobmo{Z’$a

6) The watery soft rot found mostly in vegetables is caused chiefly by ....

1) Sclerotinia sclerotiorum 2) Erwinia carotovora

3) Penicillium digitatum 4) Rhizopus stolonifer

7) YVwam ñnogrO ‘Ü¶o Imbrbn¡H$s H$moUVo ì`mdgm{`H$ AëH$bm°BS>> AgVo?
1) Q´monoZ 2) ‘m°{’©$Z 3) {¹$ZmBZ 4) H°${’$Z

7) Dattura spp. contains which of the following potential commercial alkaloid ?

1) Tropane 2) Morphine 3) Quinine 4) Caffeine

8) A±p½dZm Q´>rQ>rgr hm .......... dZñnVr da AmT>iUmam naOrdr Zo‘°Q>moS> Amho.
1) Jhÿ 2) Vm§Xÿi 3) Ádmar 4) ~mOar

8) Anguina tritici is the parasitic nematode found on ............ plant.

1) Wheat 2) Rice 3) Jowar 4) Bajra

9) H$moUVr nrHo$ O{‘ZrV {dfmar agm`Zo gmoS>V Agë`m‘wio nwT>rb {nH$m§Mr CJdU hmoD$ XoV ZmhrV?
a) Ádmar b) gỳ ©’y$b c) D$g d) Vri
darbn¡H$s H$moUVo/`mo½` AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) gd© a, b, c Am{U d

9) ............ leave toxic chemicals in the soil which donot allow germination of subsequent crops.

a) Sorghum b) Sunflower c) Sugar cane d) Sesamum

Which of the above is/are correct ?

1) a only 2) a and b only 3) a,b and c only 4) All a,b,c and d

10) 1969 ‘Ü ò n{hbm g§JUH$ {gå ẁboeZ àmoJ«°‘ H$moUË`m dZñnVr amoJ ‘hm‘marda V`ma H$aÊ`mV Ambm hmoVm?
1) ŵB©‘wJmMm boQ> br’$ ñnm°Q> 2) Q>mo‘°Q>mo Am{U ~Q>mQ>çmMm Abu ãbmBQ>
3) Q>mo‘°Q>mo Am{U ~Q>mQ>çmMm boQ> ãbmBQ> 4) ŵB©‘wJmMm Abu br’$ ñnm°Q>

10) On which plant disease epidemics the first computer simulation programme was prepared in

1969 ?

1) Late leaf spot of groundnut 2) Early blight of tomato and potato

3) Late blight of tomato and potato 4) Early leaf spot of groundnut
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11) ‘wim Am{U Q>Z©[an/gbJ‘ `mdarb nm§T>am Vm§~oam ........ ’$dmaUrÛmao {Z §̀{ÌV Ho$bm OmVmo.
1) 0.02% H$m°na gë’o$Q> 2) 0.20% S>m`WoZ PoS>-78
3) {PZo~Mo 0.20% 4) 2% ‘°ÝH$moPo~

11) White rust on radish and turnip are controlled by spraying ......

1) 0.02% Copper Sulphate 2) 0.20% Dithane Z-78

3) 0.20% of Zineb 4) 2% Mancozeb

12) CO
2 
Mo OmñV à‘mU Agboë¶m hdoV H$sQ>H$m§Mm àmXþ̂ m©d dmT>ë¶mZo, gmo¶m~rZÀ¶m gwédmVrÀ`m h§Jm‘mV ZwH$gmZ hmoV

Agë¶mMo {XgyZ Ambo Amho . ho ZwH$gmZ nmZm§‘Ü ò dmT>boë`m ..........À¶m à‘mUm‘wio hmoV Agë¶mMr e³¶Vm Amho.
1) àH$meg§íbofU 2) Šbmoamo{’$b 3) eH©$am 4) Q´m`p½bgamBS²g

12) Increased insect damage under elevated CO
2
 has been observed in early season Soyabean, possibly

due to increased concentrations of ........... in the leaves.

1) photosynthates 2) chlorophyll 3) sugars 4) triglycerides

13) Imbrbn¡H$s H$moUVr H$sS> H$mob {nH$m§da h„m H$aVo?
1) {‘br~J 2) A°{’$S> 3) nm§T>ar ‘mer 4) ~waer

13) Which of the following pests attacks cole crops ?

1) Mealybug 2) Aphid 3) Whitefly 4) Fungus gnat

14) ......... JQ>mVrb H$sQ>H$ZmeHo$ Zo‘°{Q>H$mBS> åhUyZ H$m‘ H$aVmV.
1) H$m~m©‘oQ> 2) Am`gmo{W`mogm`ZoQ> 3) Am°J©Zmo’$m°ñ’o$Q> 4) darb gd©

14) Pesticides of ................ group act as nematicides.

1) Carbamate 2) Isothiocyanate 3) Organophosphate 4) All of the above

15) nmZm§Mo ~aJS>o qH$dm bd{MH$Vm ho ................ amoJmMo d¡{eï²>`nyU© d¡{eï²>` Amho.
1) ZmaimÀ`m ‘wim 2) Jwbm~mMm H$mim S>mJ 3) S>mqi~mMo VobH$Q> S>mJ 4) g§dhZr {dëQ²g

15) Ribbing of leaflets or flaccidity is a typical character of ................ disease.

1) Root Wilt of Coconut 2) Black Spot of Rose

3) Oily Spot of Pomegranate 4) Vascular Wilts

16) VUZmeH$mMo H$m¶© ........ ¶m nÕVrZo nma nS>bo OmVo.
1) MN àH$meg§íbofU Am{U ídgZ amoIVo
2) O¡dg§íbofU Am{U noer {d^mOZ à{H«$ òg BZ{h{~Q> H$aVo
3) Agm‘mÝ` D$VH$m§Mm {dH$mg hmoB©b Am{U CJdU à{H«$ òg à{V~§Y hmoB©b
4) darb gd©

16) Accepted mode of action of herbicide is .......

1) MN inhibits the photosynthesis and respiration

2) Itinhibits the biosynthesis and cell division process

3) There will be abnarmal tissue development and inhibition of the germination process

4) All of the above
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3) H¥$fr{dkmZ
1)  Ja‘ Ho$boë`m nXmWmªÀ¶m ^mOboë`m Am{U Hw$aHw$arV ñdmXm§er (nutty flavours) ....... O¡dagm¶Z g§~§{YV AgVo.

1) nm`am{PZ 2) A°ñQ>a 3) Q>n}Zog 4) b°ŠQ>moZ
1) ............... are associated with roasted and nutty flavours in heated foods.

1) Pyrazines 2) Esters 3) Terpenes 4) Lactones

2) ^maVmÀ`m FSSAI Zo ~mOatgmR>r EH$ ì`mnH$ JQ> ‘mZH$ {Z{X©ï> Ho$bo Amho ’y$S> goâQ>r A±S> ñQ>±S>S>© (AÞ CËnmXZo ‘mZHo$
Am{U ImÚ nXmW©) {ÛVr` XwéñVr {Z`‘Z 2023; `m g§X^m©V; Imbrbn¡H$s H$moUVo {dYmZ/Zo MwH$sMo Amho/AmhoV?
a) nydu ~mOar `m H$m`ÚmÀ`m H$joV ZìhVr.
b) Ádmar, ~mOar, ZmMUr Am{U amO{Jam ̀ mgma»`m H$mhr ~mOarM AÞ gwajm Am{U ‘mZH$ {d{Z`‘ 2011 ‘Ü ò {d{hV

Ho$boë`m AmhoV.
c) 2 S>r XwéñVrÛmao FSSAI Zo 15 àH$maÀ`m ~mOatgmR>r 8 JwUdÎmoMo ‘mnX§S> {Z{X©ï> Ho$boë`m ‘mZH$m§Mm EH$ JQ> V`ma

Ho$bm Amho.
d) 2 XwéñVr Ëd[aV à^mdmZo bmJy Ho$br OmB©b.
n`m©¶r CÎmao :
1) a, c ’$º$ 2) b, c, d ’$º$ 3) d ’$º$ 4) a, d ’$º$

2) The FSSAI of India has specified a comprehensive group standard for millets Vide Food Safety

and Standard (Food Products Standards and food additives) Second Amendment Regulation 2023;

In this context; which of the following statement/s is/are incorrect ?

a) Earlier millets were not under purview of this act.

b) Only few millets like Jowar, Bajara, Ragi and Amaranthus are prescribed in the Food Safety and

Standard Regulation 2011.

c) By 2"d amendment FSSAI has framed a group of standard for 15 types of millets specifying 8

quality parameters.

d) 2" amendment will be enforced with immediate effect.

Answer options :

1) a, c only 2) b, c, d only 3) d only 4) a, d only

3) ‘yi qH$dm Ý ỳpŠcAg {~`mÊ`mgmR>r BVa gd© JwUdÎmoÀ`m ‘mnX§S>m§À`m Cƒ ‘mZH$m§gh AZwdm§{eH$ Am{U ^m¡{VH$ ewÕVm
Amho
1) 95% ewÕVm 2) 100% ewÕVm 3) 98% ewÕVm 4) 97% ewÕVm

3) The genetic and physical purity along with the high standard of all other quality parameters for

basic or nucleus seed has

1) 95% purity 2) 100% purity 3) 98% purity 4) 97% purity

4) EH$ hoŠQ>a joÌ Vo EH$ g|{Q>‘rQ>a Imobrn ª̀V H$ìha H$aÊ`mgmR>r Amdûm`H$ Agboë`m nmÊ`mMo à‘mU Š ẁ{~H$ ..........‘rQ>a
Amho.
1) 10  2) 100 3) 1000 4) 10000

4)  A volume of water necessary to cover an area of one hectare to a depth of one centimeter is equal

to cubic ..........metre.

1) 10  2) 100 3) 1000 4) 10000
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5) àW‘ g§H$[aV Vm§Xyi 1976 ‘Ü ò g§H$[aV Vm§Xyi H«$m§VrMo OZH$ .......... `m§Zr {dH${gV Ho$bo hmoVo.
1) àmo’o$ga ẁdmZ bm±J qnJ 2) S>m°. E‘. Eg. ñdm{‘ZmWZ
3) S>m°. Zm°‘©Z B©. ~moabm°J 4) ~madmbo ~r.Ama.

5) First hybrid rice was developed by.......... in 1976, the father of Hybrid Rice Revolution.

1) Professor Yuvan Long Ping 2) Dr. M.S. Swaminathan

3) Dr. Norman E. Borlaug 4) Barwale B.R.

6) Imbrb Owidm :
gåH$[aV OmVr/hm`~«rS> {nH$mMo Zmd
a) TAKPS-5 I) ŵB©‘yJ
b) NIAW 3624 II) Ádmar
c) PU-0609-43 III) ~«oS> Jhÿ
d) K-1812 IV) CS>rX~rZ

V) ìhr. Ś‘ Jhÿ
n`m©¶r CÎmao :

(a) (b) (c) (d)

1) (ii) (v) (iii) (iv)

2) (i) (v) (iv) (ii)

3) (iii) (v) (iv) (i)

4) (ii) (iii) (iv) (i)

6) Match the following :

Variety/Hybrid Crop Name

a) TAKPS-5 I) Groundnut

b) NIAW 3624 II) Sorghum

c) PU-0609-43 III) Bread Wheat

d) K-1812 IV) Urdbean

V) Drum Wheat

Answer options:

(a) (b) (c) (d)

1) (ii) (v) (iii) (iv)

2) (i) (v) (iv) (ii)

3) (iii) (v) (iv) (i)

4) (ii) (iii) (iv) (i)

7) Imbrbn¡H$s H$moUVm n¶m©¶ hm ~m°Z H°$ìh|{S>e Am{U amo~ñQ>m Ho$irMr {OZmo{‘H$ aMZm Amho?
1) AAB 2) ABB 3) AAA 4) AAAA

7) Which of the following is the genomic constitution of Dwarf Cavendish and Robusta Banana ?

1) AAB 2) ABB 3) AAA 4) AAAA

8) H$moH$U h[aVnUu hr .......... {nH$mMr g§H$[aV OmV Amho.
1) Q>°{Z`m 2) H$mobmoHo${e`m 3) ~mU ‘yi 4) H$gmdm

8) Konkan Haritparni is the variety of

1) Tannia 2) Colocasia 3) Arrow root 4) Cassava
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9) "A§{~H$m' hr g§H$[aV OmV .......... ¶m Am§ã`mMm g§H$a Amho.
1) Am‘«nmbr x OZmX©Z nmg§X 2) Am‘«nmbr x Aë’$mÝgmo
3) Am‘«nmbr x dZamO 4) {Zc‘ x Xehar

9) ‘Ambika’ a mango hybrid is a cross between .......

1) Amrapali x Janardhan Pasand 2) Amrapali x Alphanso

3) Amrapali x Vanraj 4) Neelum x Dashehari

10) ‘¥XoÀ¶m Imbrbn¡H$s H$moUË¶m ^m¡{VH$ pñWVr‘Ü ò, Ob Am{U hdoMr ‘wº$ hmbMmb, gwb^ ‘emJV, bmJdS>, A~m{YV
CJdU Am{U ‘wim§Mr dmT>, ho gd© n¶m©á nÕVrZo gmÜ¶ H$aÊ¶mgmR>r Cn¶wH$ Aer Bï>V‘ g¡b, ZmOyH$ Am{U gpÀN>ÐVm
AmT>iVo ?
1) nmb aMZm 2) ‘mVrMm nmoV 3) ‘mVr ‘emJV 4) ‘emJV

10) .............. is the physical condition in which soil is an optimally loose, friable and porous assemblage

of aggregates permitting free movement of water and air, easy cultivation, planting, unobstructed

germination and root growth.

1) Soil structure 2) Soil texture 3) Soil tilth 4) Tillage

11) hm`S´mo{bH$ MmbH$Vm hr ......... AgVo
a) H$‘r Obj‘Vm Agboë`m ^mar O{‘ZrV OmñV
b) H$‘r Obj‘Vm Agboë`m dmbwH$m‘` O{‘ZrV OmñV
c) H$‘r Obj‘Vm Agboë`m ^mar O{‘ZrV H$‘r
d) OmñV Obj‘Vm Agbo¶m dmbwH$m‘` O{‘ZrV H$‘r
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, c Am{U d ’$º$

11) Hydraulic conductivity is ..........

a) Higher in heavy soils under low water potential

b) Higher in sandy soils under low water potential

c) Lower in heavy soils under low water potential

d) Lower in sandy soils under high water potential

Which of the statement/s given above is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) a,c and d only

12) eoVrÀ`m Ñ{ï>H$moZmVyZ ‘mVrMr H$moUVr aMZm gdm©V Bï> Amho
1) ßb°Q>r 2) H«§$~ 3) ñV§̂ r` 4) XmUoXma

12) From the agricultural point of view which structure of soil is most desirable

1) Platy 2) Crumb 3) Columnar 4) Granular

13) nrH$ CËnmXZ, newYZ, eoVr, ‘Ëñ`nmbZ, dZrH$aU BË`mXr gd© n¡by§Mm g‘mdoe Agbobm.......... hm EH$ A{Ve`
ì`mnH$ eãX Amho.
1) eoVr 2) {gpëìhnmíMa 3) H¥$fremó 4) {gpëìh-~mJm`V

13)  ..........is a very broad term encompassing all aspects of crop production, livestock, farming,

fisheries, forestry etc.

1) Agriculture 2) Silvipasture 3) Agronomy 4) Silvi-horticulture
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14) pñH$q’$J hm N>mQ>UrMm gdm©V hbH$m àH$ma ........ ¶m bmJdS>rMm Amho
1) Mhm 2) H$m°’$s 3) dobMr 4) Xmb{MZr

14) Skiffing is the lightest form of prunning in ..........

1) Tea 2) Coffee 3) Cardamom 4) Cinnamon

15) {~`m§Mo AmdaU ’$moS>Uo, IaMQ>Uo, ̀ m§{ÌH$[aË`m ~XbUo qH$dm ‘D$ H$aUo ̀ m à{H«$ òbm nmUr Am{U dm ỳ§‘Ü ò {PanÊ`m`mo½`
~Z{dÊ`mMr à{H«$`m åhUVmV.
1) A°{gS> CnMma 2) ñH$m[a{’$Ho$eZ 3) brqMJ 4) hm‘m}Zb CnMma

15)  The process of breaking, scratching, mechanically altering or softening the seed coats to make

them permeable to water and gases is known as

1) Acid treatment 2) Scarification 3) Leaching 4) Hormonal treatment

16) AmYw{ZH$ Vm§Xyi {JaÊ`m§Ûmao Ho$bo OmUmao à‘wI Am°naoeÝg AmhoV
A) ñdÀN>Vm ~) ŵg ŵerV H$) doJio H$aUo S>) YwUo
n¶m©¶r CÎmao …
1) A Am{U ~ ’$º$ 2) A, H$ Am{U S> 3) A, ~ Am{U S> 4) A, ~ Am{U H$

16) The major operations performed by modern rice mills are

a) Cleaning b) Husking c) Separation d) Washing

Answer options :

1) a and b only 2) a, b, c and d 3) a, b and d 4) a, b and c

17) ‘mVrMr H°$Q>m¶Z EŠgM|O j‘Vm ......... Amho
1) ‘mVr emofy eH$Umè`m AXbm~Xb H$aÊ`m`mo½` H°$Q>m¶ÝgMr EHy$U ~oarO
2) ‘mVr emofy eH$Umè`m AXbm~Xb H$aÊ`m`mo½` H°$Q>m`ÝgMr ~oarO
3) ‘mVr emofyZ KoD$ eH$Umè`m Zm°Z-EŠgM|O H$aÊ`m`mo½` Am{U AXbm~Xb H$aÊ`m`mo½` H°$Q>m¶ZMr ~oarO
4) ‘mVr emofy eH$Umè`m AXbm~Xb H$aÊ`m`mo½` A`Zm§Mr EHy$U ~oarO

17) Cation exchange capacity of soil is .......

1) The sum total of the exchangeable cations that a soil can adsorb

2) The sum total of the exchangeable cations that a soil can absorb

3) The sum total of the non-exchangeable and exchangeable cations that a soil can absorb

4) The sum total of exchangeable ions that a soil can absorb

o o o
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CÎmao … ‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$) 2023

nona H«$‘m§H$ - 2 : gm‘mÝ¶ j‘Vm MmMUr

(3) gm‘mÝ¶ {dkmZ d V§ÌkmZ

(1) JVremó, CîUVm, bhar - àH$me, ÜdZr, {dÚwVMw§~H$s¶ bhar

1) JVremó
1-2 2-2 3-2 4-4 5-4 6-4 7-2 8-2 9-3 10-4
11-2 12-4 13-4 14-3 15-2 16-2 17-2 18-4 19-4 20-1
21-1 22-2 23-4 24-1 25-2 26-2 27-3 28-4 29-4 30-1
31-3 32-2 33-2 34-1 35-4 36-4 37-1 38-1 39-3

2) CîUVm
1-4 2-2 3-1 4-3 5-2 6-2 7-2 8-4 9-3 10-3
11-3 12-2 13-4 14-4 15-2 16-4 17-1 18-1 19-3 20-2
21-1 22-3 23-3

3) àH$me bhar
1-2 2-4 3-4 4-2 5-1 6-4 7-4 8-1 9-4 10-4
11-2 12-3 13-4

4) ÜdZr bhar
1-3 2-2 3-4

5) {dÚwVMw§~H$s¶ bhar
1-1 2-4
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(2) {dÚwVemó, Mw§~H$Ëd, AUw{dkmZ

1) {dÚwVemó
1-2 2-4 3-2 4-1 5-1 6-2 7-2 8-1 9-3 10-2

11-1 12-1 13-4 14-2 15-4 16-3 17-1 18-4 19-3 20-2
21-3 22-3 23-3 24-3 25-1 26-1 27-2 28-2 29-4 30-3
31-3

2) Mw§~H$Ëd
1-2 2-4 3-2 4-3 5-1 6-1 7-1

3) AUw{dkmZ
1-3 2-3 3-1 4-3 5-1 6-1

(3) AmdV©gmaUr - YmVy, AYmVy, jma, Amåb, g§̀ wJo, dm ỳ, IVo

1) AmdV©gmaUr, AUwaMZm
1-3 2-4 3-1 4-4

2) ^m¡{VH$ agm¶Zemó - ÐmdU, MmMÊ¶m
1-1 2-3 3-1 4-3 5-1 6-2 7-2 8-4 9-2

3) YmVy, AYmVy , jma
1-3 2-3 3-1 4-4 5-2 6-1 7-4 8-3 9-2 10-3
11-1

4) g§̀ wJo
1-4 2-3 3-2 4-1 5-1 6-1 7-2

5) dm ỳ
1-2 2-2 3-4 4-1 5-4 6-2 7-4
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6) IVo
1-1 2-1 3-3 4-1 5-1 6-4 7-3 8-3 9-1

7) Amåb, {dH$ao, AëH$br, nrEM
1-3 2-3 3-4 4-3 5-2 6-4

(4) amgm`{ZH$ A{^{H«$`m, g|{Ð` agm`Zemó - hm`ŚmoH$m~©Ýg,
H$sQ>H$ZmeHo$, B§YZ

1) amgm`{ZH$ A{^{H«$`m

1-3 2-1 3-3 4-3 5-2 6-4 7-1 8-4 9-4 10-3

11-2

2) g|{Ð` agm`Zemó - hm`ŚmoH$m~©Ýg
1-2 2-3 3-3 4-4 5-2 6-2 7-1 8-2

3) {dfmar agm¶Zo, H$sQ>H$ZmeHo$
1-1 2-2 3-2 4-2

4) B§YZo
1-1 2-4

(5) noer{dkmZ d M¶mnM¶Z, àmÊ`m§Mo dJuH$aU, àmUr eara{dkmZ

1) {dfmUy d OrdmUy
1-4 2-2 3-4 4-2 5-3 6-2 7-1 8-3

2) noerKQ>H$ d noer{d^mOZ
1-2 2-3 3-3 4-3 5-1
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3) AZwdm§{eH$Vm d gOrd CËH«$m§Vr
1-1 2-4 3-4 4-1 5-1

4) M¶mnM¶Z
1-3 2-2 3-3 4-4

5) OZwH$s¶ V§ÌkmZ, O¡dV§ÌkmZ
1-1 2-4 3-1 4-3 5-3 6-4 7-3 8-4 9-3 10-3

6) àmÊ`m§Mo dJuH$aU Am{U CXmhaUo
1-1 2-2 3-1 4-1 5-2 6-2 7-4 8-3

7) àmUr eara{dkmZ
1-3 2-2 3-1 4-3 5-2 6-3

(6) Cn ẁº$ d hmZrH$maH$ àmUr - newnmbZ, Xw½Yì`dgm`, ‘Ëñ¶

1) Cn ẁº$ àmUr
1-1 2-2 3-3

2) hmZrH$maH$ àmUr
1-4 2-4 3-4

3) newnmbZ, Xw½Yì`dgm`
1-2 2-1 3-1 4-4 5-1

4) ‘Ëñ¶{dkmZ
1-4 2-3 3-1



‘hmamï´> AamOn{ÌV godm (JQ> ~)/(JQ> H$) ‘w»¶ narjm 2023/ 92

For Private Circulation Only

(7) dZñnVtMo dJuH$aU Am{U CXmhaUo

1) dZñnVr noer
1-4 2-3 3-3 4-2

2) dZñnVtMo dJuH$aU Am{U CXmhaUo
1-4 2-3 3-3 4-4 5-3 6-3 7-4 8-3 9-3 10-1

3) dZñnVr eara{dkmZ
1-2 2-3 3-4 4-4 5-4 6-1 7-1 8-1 9-2 10-2
11-4 12-2 13-3 14-1

(8) H¥$fr{dkmZ d dZemó, Cn ẁº$ Am{U hm{ZH$maH$ dZñnVr

1) Cn ẁº$ dZñnVr
1-3 2-3 3-3 4-3 5-1 6-3 7-2 8-3 9-4 10-2
11-2 12-2 13-1 14-3 15-1 16-2 17-1 18-3 19-2 20-3
21-2 22-3

2) dZñnVtMo amoJ d hmZrH$maH$ dZñnVr
1-2 2-1 3-3 4-1 5-1 6-1 7-1 8-1 9-2 10-2

11-4 12-3 13-2 14-4 15-1 16-4

3) H¥$fr{dkmZ
1-1 2-4 3-2 4-2 5-1 6-4 7-3 8-1 9-1 10-3
11-1 12-2 13-1 14-1 15-2 16-4 17-1


